Bid Committee Bid Tab

City Clerk

Bid M4-TS010 Ended At May 1, 2024 10:00:00 AM CDT CONTST/MAPS 4 - M4-TS010 MAPS 4 Sidewalks and Related Amenities Phase 1A

Company:	Nash Construction Co.	Rudy Construction Co.	C-P Integrated Services
Base Bid	\$2,636,864.26	\$2,868,264.62	\$2,904,494.295
Alternate No. 1	\$309,158.00	\$348,725.00	\$285,017.00
Alternate No. 2	\$309,773.20	\$282,563.775	\$319,488.70
TOTAL BID:	\$3,255,795.46	\$3,499,553.395	\$3,508,999.995

Company:	CGC, LLC	SAC Services	Parathon Construction LLC
Base Bid	\$2,968,180.20	\$3,066,917.6145	\$3,648,496.86
Alternate No. 1	\$315,058.00	\$337,056.50	\$393,631.00
Alternate No. 2	\$305,993.80	\$296,125.7025	\$332,306.70
TOTAL BID:	\$3,589,232.00	\$3,700,099.817	\$4,374,434.56

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #M4-TS010 - M4-TS010 MAPS 4 Sidewalks and Related Amenities Phase 1A

Start Date Apr 10, 2024 7:47:27 AM CDT Awarded Date Not Yet Awarded

Nash Construction Co. \$3,255,795.46 (128/128 items)

Bid Contact Bobbie C Woodrow Address 700 S. Irving

nashkrcc@aol.com Oklahoma City, OK 73129

Ph 405-672-2792 Fax 405-672-1022

Qualifications **OKC PRE-QUALIFIED CONTRACTORS**

Bid Notes Bid Bond is uploaded to Mobilization Line Item as an attachment.

Bid Notes B i	id Bond is uploaded to Mobilization Line Item as an attachment.			
Agency Notes:			otes: Bid Bond is uplo Line Item as an attac	
Item#	Line Item	Unit Price	Qty/Unit	Total Price
M4-TS01001-01	Base Bid: Traffic Bound Surface Course Type E - First Offer	\$60.00	1308 / cubic yard	\$78,480.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-02	Base Bid: Curb & Gutter (2 Foot-8 Inch) (6 Inch Barrier) - First Offer	\$32.00	41 / linear foot	\$1,312.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-03	Base Bid: Curb & Gutter (2 Foot-8 Inch) (8 Inch Barrier) - First Offer	\$34.00	217 / linear foot	\$7,378.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-04	Base Bid: Curb & Gutter (2 Foot-8 Inch) (4 Inch Mountable) - First Offer	\$25.00	1660 / linear foot	\$41,500.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-05	Base Bid: Variable Height Curb (6 Inch Barrier) - First Offer	\$18.00	1500 / linear foot	\$27,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-06	Base Bid: (RCP) Storm Sewer (18 Inch) - First Offer	\$140.00	29 / linear foot	\$4,060.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-07	Base Bid: Design 2-0 Inlet - First Offer	\$11,000.00	2 / each	\$22,000.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	'
M4-TS01001-08	Base Bid: Relocate Fire Hydrant - First Offer	\$23,000.00	1 / each	\$23,000.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01001-09	Base Bid: 2 Inch Traffic Signal Conduit (Trenched) - First Offer	\$35.00	190 / linear foot	\$6,650.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-10	Base Bid: 2 Inch Traffic Signal Conduit (Bored) - First Offer	\$50.00	60 / linear foot	\$3,000.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01001-11	Base Bid: 3 Inch Traffic Signal Conduit (Trenched) - First Offer	\$50.00	50 / linear foot	\$2,500.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-12	Base Bid: 3 Inch Traffic Signal Conduit (Bored) - First Offer	\$75.00	90 / linear foot	\$6,750.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-13	Base Bid: Two Conductor Shielded Loop Detector Lead-In Cable - First Offer	\$4.00	770 / linear foot	\$3,080.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-14	Base Bid: (5) Conductor Traffic Signal Electrical Cable - First Offer	\$6.00	1560 / linear foot	\$9,360.00

Product Code: Agency Notes:		Supplier Pi Supplier N	roduct Code: otes:	
M4-TS01001-15	Base Bid: (7) Conductor Traffic Signal Electrical Cable - First Offer	\$10.00	220 / linear foot	\$2,200.00
Product Code: Agency Notes:		Supplier Pi Supplier N	roduct Code: otes:	
M4-TS01001-16	Base Bid: (21) Conductor Traffic Signal Electrical Cable - First Offer	\$15.00	110 / linear foot	\$1,650.00
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:	
M4-TS01001-17	Base Bid: (1/C) (Awg No.6) Electrical Conductor - First Offer	\$5.00	50 / linear foot	\$250.00
Product Code: Agency Notes:		Supplier Pi Supplier N	roduct Code: otes:	
M4-TS01001-18	Base Bid: Three (3) Section Traffic Signal Head - First Offer	\$1,100.00	3 / each	\$3,300.00
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:	
M4-TS01001-19	Base Bid: Pedestrian Signal Head - First Offer	+	34 / each	\$30,600.00
Product Code: Agency Notes:	J	+	roduct Code: otes:	
M4-TS01001-20	Base Bid: Pedestrian Push Button And Sign - First Offer		34 / each	\$68,000.00
Product Code: Agency Notes:	base bid. I edesdriant asir battori And Sign - Trist Offer		roduct Code:	\$00,000.00
M4-TS01001-21	Base Bid: Pedestrian Push Button And Pole - First Offer		1 / each	\$3,600.00
Product Code: Agency Notes:	base sid. Fedesarian Fash Salton And Fole Trist Offer	Supplier Product Code: Supplier Notes:		43,000.00
M4-TS01001-22	Base Bid: Pedestal Pole With 10 Ft. Mounting Height - First Offer		12 / each	\$18,000.00
Product Code: Agency Notes:		+	roduct Code:	1112/22222
M4-TS01001-23	Base Bid: Structural Concrete - First Offer	 	6.5 / cubic yard	\$19,500.00
Product Code: Agency Notes:		Supplier Pi	Supplier Product Code: Supplier Notes:	
M4-TS01001-24	Base Bid: Reinforcing Steel - First Offer	+	704.2 / pound	\$3,521.00
Product Code:			roduct Code:	
Agency Notes:		Supplier N	otes:	
M4-TS01001-25	Base Bid: Pull Box Type II - First Offer	\$2,000.00	13 / each	\$26,000.00
Product Code: Agency Notes:		Supplier Pi Supplier N	roduct Code: otes:	
M4-TS01001-26	Base Bid: School Flashers - First Offer	\$11,000.00	4 / each	\$44,000.00
Product Code: Agency Notes:		Supplier Pi Supplier N	roduct Code: otes:	
M4-TS01001-27	Base Bid: Sheet Aluminum Signs - First Offer	\$38.00	411.27 / square foo	\$15,628.26
Product Code: Agency Notes:		Supplier Pi Supplier N	roduct Code: otes:	
M4-TS01001-28	Base Bid: Remove Existing Sign - First Offer	\$95.00	49 / each	\$4,655.00
Product Code:			roduct Code:	
Agency Notes: M4-TS01001-29	Page Pidi Square Steel Sign Poet First Offer	Supplier N \$30.00	819.5 / linear foot	\$24,585.00
Product Code:	Base Bid: Square Steel Sign Post - First Offer	Supplier Pi	roduct Code:	\$24,585.00
Agency Notes: M4-TS01001-30	Base Bid: Traffic Stripe (Plastic)(4 Inch Wide) - First Offer	Supplier N \$2.00	29635 / linear foot	\$59,270.00
Product Code:	ваѕе від. Tranic Stripe (Plastic)(4 іпісті wide) - First Offer	Supplier Pi	roduct Code:	\$59,270.00
Agency Notes:		Supplier N		
M4-TS01001-31	Base Bid: Traffic Stripe (Plastic)(Arrows)(Single) - First Offer		13 / each	\$1,300.00
Product Code: Agency Notes:		Supplier Pi Supplier N	roduct Code: otes:	
M4-TS01001-32	Base Bid: Traffic Stripe (Plastic Tape)(Symbols) - First Offer	1	12 / each	\$30,000.00
Product Code: Agency Notes:		<u> </u>	roduct Code:	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
M4-TS01001-33	Base Bid: Traffic Stripe (Plastic)(8 Inch Wide) - First Offer	1	2820 / linear foot	\$14,100.00
Product Code:			roduct Code:	
Agency Notes:		Supplier N	otes:	

M4-TS01001-34	Base Bid: Radar Detection System (Advance Sensors) - First Offer	\$10,000.00	6 / each	\$60,000.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01001-35	Base Bid: Radar Detection System (Presence Sensors) - First Offer			\$120,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-36	Base Bid: Radar Cabinet Interface (Model 656) - First Offer	\$10,000.00	3 / each	\$30,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-37	Base Bid: Radar Detector Cable - First Offer	\$5.00	2420 / linear foot	\$12,100.00
Product Code:		Supplier Pro Supplier No	oduct Code:	
Agency Notes: M4-TS01001-38	Base Bid: G.P.S. As-Built Survey - First Offer		I	\$15,000.00
Product Code: Agency Notes:		Supplier Pro	oduct Code:	
M4-TS01001-39	Base Bid: Construction Staking (Construction Survey) - First Offer		I	\$15,000.00
	base blu. Coristi uction staking (coristi uction survey) - First Onei			\$13,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
	Base Bid: Color Audio/Video Recording, Pre & Post Construction (Recorded Digitally On DVD) - First Offer		1 / lump sum	\$3,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-41	Base Bid: Construction Signing And Traffic Control - First Offer	\$70,000.00	1 / lump sum	\$70,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-42	Base Bid: Mobilization - First Offer	\$15,000.00	1 / lump sum	\$15,000.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01001-43	Base Bid: Clearing And Grubbing - First Offer	\$5,000.00	1 / lump sum	\$5,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-44	Base Bid: Removal Of Structures & Obstructions - First Offer	\$10,000.00	1 / lump sum	\$10,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-45	Base Bid: Structure Removal (Inlet) - First Offer	\$1,500.00	2 / each	\$3,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-46	Base Bid: Structure Removal (Traffic Signal Equipment) - First Offer	\$2,550.00	1 / lump sum	\$2,550.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-47	Base Bid: Remove Pavement (Varies) - First Offer	\$10.00	1790 / square yard	\$17,900.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01001-48	Base Bid: Remove Sidewalk - First Offer	\$10.00	2672 / square yard	\$26,720.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01001-49	Base Bid: Remove Curb And Gutter - First Offer	\$10.00	3700 / linear foot	\$37,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-50	Base Bid: Remove Driveway - First Offer	\$10.00	3523 / square yard	\$35,230.00
Product Code: Agency Notes:	·	Supplier Pro	oduct Code:	
M4-TS01001-51	Base Bid: Pavement Cut & Permanent Repair - First Offer	\$120.00	720 / square yard	\$86,400.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	•

M4-TS01001-52	Base Bid: Remove Pavement Marking - First Offer	\$2.00	16500 / linear foot	\$33,000.00
Product Code:			oduct Code:	
Agency Notes:	Dana Dish Ashirat Frietina Charatana (Mandada) Firet Office	Supplier No		#10 000 00
M4-TS01001-53	Base Bid: Adjust Existing Structure (Manholes) - First Offer	\$3,800.00	5 / each	\$19,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-54	Base Bid: Adjust Existing Structure (Hydrant) - First Offer	\$4,400.00	1 / each	\$4,400.00
Product Code:			oduct Code:	1 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7
Agency Notes:		Supplier No		
M4-TS01001-55	Base Bid: Adjust Existing Structure (Meters) - First Offer	\$3,000.00	6 / each	\$18,000.00
Product Code:		Supplier Pr	oduct Code:	
Agency Notes:		Supplier No	otes:	
M4-TS01001-56	Base Bid: Adjust Existing Structure (Valves) - First Offer	\$4,400.00	6 / each	\$26,400.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-57	Base Bid: Adjust Existing Structure (Clean Out) - First Offer	\$3,500.00	3 / each	\$10,500.00
Product Code:		Supplier Pr	oduct Code:	
Agency Notes:		Supplier No	otes:	
M4-TS01001-58	Base Bid: Adjust Existing Structure (Pull Box) - First Offer	\$550.00	6 / each	\$3,300.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-59	Base Bid: Remove & Reset Sign - First Offer	\$600.00	16 / each	\$9,600.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-60	Base Bid: Remove & Reset Signal Equipment - First Offer	\$8,400.00	1 / lump sum	\$8,400.00
Product Code:			oduct Code:	, , , , , , , , , , , , , , , , , , , ,
Agency Notes:		Supplier No		
M4-TS01001-61	Base Bid: Sidewalk (4 Inch) - First Offer	\$52.00	12685 / square yard	\$659,620.00
Product Code:		Supplier Pr	oduct Code:	I
Agency Notes:		Supplier No		I
M4-TS01001-62	Base Bid: Driveway (6 Inch) - First Offer	\$70.00	3434 / square yard	\$240,380.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01001-63	Base Bid: Ada Curb Ramp (8 Inch) - First Offer	\$180.00	1632 / square yard	\$293,760.00
Product Code:		Supplier Pr	oduct Code:	<u> </u>
Agency Notes:		Supplier No		
M4-TS01001-64	Base Bid: Handrail - First Offer	\$100.00	12 / linear foot	\$1,200.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-65	Base Bid: Remove And Reconstruct Fence - First Offer	\$10.00	1000 / linear foot	\$10,000.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01001-66	Base Bid: Tactile Warning Device - First Offer	\$25.00	2095 / square foot	\$52,375.00
Product Code:			oduct Code:	,
Agency Notes:		Supplier No		
M4-TS01001-67	Base Bid: Solid Slab Sodding - First Offer	\$7.00	10400 / square yard	\$72,800.00
Product Code:			oduct Code:	
Agency Notes:		Supplier No		1
M4-TS01001-68	Base Bid: Sediment And Erosion Control - First Offer	\$3,000.00	1 / lump sum	\$3,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-69	Base Bid: Groundbreaking Ceremony - First Offer	\$1,000.00	1 / lump sum	\$1,000.00
Product Code:			oduct Code:	,
Agency Notes:		Supplier No		
			Lot Total: \$2	2,636,864.26
Item#	Line Item	Unit Price	Qty/Unit	Total Price
M4-TS01002-01	Alternate No. 1: Traffic Bound Surface Course Type E - First Offer	\$60.00	245 / cubic yard	\$14,700.00

Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01002-02	Alternate No. 1: Remove Pavement (Varies) - First Offer	\$10.00	104 / square yard	\$1,040.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS01002-03	Alternate No. 1: Remove Sidewalk - First Offer	\$10.00	1358 / square yard	\$13,580.00
Product Code:		Supplier Pr	oduct Code:	
Agency Notes:		Supplier No	otes:	
M4-TS01002-04	Alternate No. 1: Remove Curb And Gutter - First Offer	\$5.00	266 / linear foot	\$1,330.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01002-05	Alternate No. 1: Remove Driveway - First Offer	\$10.00	1052 / square yard	\$10,520.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01002-06	Alternate No. 1: Adjust Existing Structure (Manholes) - First Offer	\$3,800.00	1 / each	\$3,800.00
Product Code:		Supplier Pr	oduct Code:	
Agency Notes:		Supplier No	otes:	
M4-TS01002-07	Alternate No. 1: Adjust Existing Structure (Hydrant) - First Offer	\$4,400.00	1 / each	\$4,400.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01002-08	Alternate No. 1: Adjust Existing Structure (Meters) - First Offer	\$3,000.00	2 / each	\$6,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01002-09	Alternate No. 1: Adjust Existing Structure (Valves) - First Offer	\$4,400.00	2 / each	\$8,800.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01002-10	Alternate No. 1: Adjust Existing Structure (Clean Out) - First Offer	\$3,500.00	1 / each	\$3,500.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01002-11	Alternate No. 1: Adjust Existing Structure (Pull Box) - First Offer	\$550.00	2 / each	\$1,100.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01002-12	Alternate No. 1: Remove & Reset Sign - First Offer	\$2,000.00	2 / each	\$4,000.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01002-13	Alternate No. 1: Sidewalk (4 Inch) - First Offer	\$52.00	2039 / square yard	\$106,028.00
Product Code: Agency Notes:		Supplier Pro	oduct Code:	
M4-TS01002-14	Alternate No. 1: Driveway (6 Inch) - First Offer	\$70.00	1089 / square yard	\$76,230.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	,
M4-TS01002-15	Alternate No. 1: Ada Curb Ramp (8 Inch) - First Offer	\$180.00	186 / square yard	\$33,480.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01002-16	Alternate No. 1: Remove And Reconstruct Fence - First Offer	\$10.00	50 / linear foot	\$500.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01002-17	Alternate No. 1: Tactile Warning Device - First Offer	\$25.00	330 / square foot	\$8,250.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01002-18	Alternate No. 1: Solid Slab Sodding - First Offer	\$7.00	1700 / square yard	\$11,900.00
Product Code: Agency Notes:	J	Supplier Pro	oduct Code:	
		· -	Lot Total:	\$309,158.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
M4-TS01003-01	Alternate No. 2: Traffic Bound Surface Course Type E - First Offer	\$60.00	92 / cubic yard	\$5,520.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01003-02	Alternate No. 2: Variable Height Curb (6 Inch Barrier) - First Offer	\$18.00	80 / linear foot	\$1,440.00

Product Code: Agency Notes:		Supplier Pr Supplier N	roduct Code:	
M4-TS01003-03	Alternate No. 2: 2 Inch Traffic Signal Conduit (Trenched) - First Offer	1	90 / linear foot	\$3,150.00
Product Code:	The final control of the final	+	roduct Code:	+3/130100
Agency Notes:		Supplier N	otes:	
M4-TS01003-04	Alternate No. 2: Two Conductor Shielded Loop Detector Lead-In Cable - First Offer	\$4.00	180 / linear foot	\$720.00
roduct Code: Agency Notes:		Supplier Pr Supplier N	roduct Code: otes:	
и4-TS01003-05	Alternate No. 2: (5) Conductor Traffic Signal Electrical Cable - First Offer	\$6.00	750 / linear foot	\$4,500.00
roduct Code: gency Notes:		Supplier Pr Supplier N	roduct Code: otes:	
л4-TS01003-06	Alternate No. 2: (7) Conductor Traffic Signal Electrical Cable - First Offer	\$10.00	190 / linear foot	\$1,900.00
roduct Code: gency Notes:		Supplier Pr Supplier N	roduct Code: otes:	
/4-TS01003-07	Alternate No. 2: Pedestrian Signal Head - First Offer	\$900.00	8 / each	\$7,200.00
roduct Code: gency Notes:		Supplier Pr Supplier N	roduct Code: otes:	
л4-TS01003-08	Alternate No. 2: Pedestrian Push Button And Sign - First Offer		8 / each	\$16,000.00
roduct Code: gency Notes:	9		roduct Code:	1
и4-TS01003-09	Alternate No. 2: Pedestal Pole With 10 Ft. Mounting Height - First Offer		5 / each	\$7,500.00
roduct Code: gency Notes:	The fact to 21 cases and the fact to a fact to	· ·	roduct Code:	77,500.00
M4-TS01003-10	Alternate No. 2: Structural Concrete - First Offer		1.5 / cubic yard	\$4,500.00
roduct Code: gency Notes:	, itel i i i i i i i i i i i i i i i i i i i	· '	roduct Code:	7 1,000100
M4-TS01003-11	Alternate No. 2: Reinforcing Steel - First Offer	 	111.5 / pound	\$557.50
roduct Code: gency Notes:			roduct Code:	1001100
и4-TS01003-12	Alternate No. 2: Pull Box Type Ii - First Offer	.	4 / each	\$8,000.00
roduct Code:			roduct Code:	1 , , , , , , , , , , , , , , , , , , ,
gency Notes:		Supplier N	otes:	
14-TS01003-13	Alternate No. 2: Sheet Aluminum Signs - First Offer	\$38.00	84.65 / square foot	\$3,216.70
oduct Code: gency Notes:		Supplier Pr Supplier N	roduct Code: otes:	
/4-TS01003-14	Alternate No. 2: Remove Existing Sign - First Offer	\$95.00	21 / each	\$1,995.00
roduct Code: gency Notes:		Supplier Pr Supplier N	roduct Code: otes:	
14-TS01003-15	Alternate No. 2: Square Steel Sign Post - First Offer	\$30.00	210 / linear foot	\$6,300.00
roduct Code: gency Notes:		Supplier Pr Supplier N	roduct Code: otes:	
14-TS01003-16	Alternate No. 2: Traffic Stripe (Plastic)(4 Inch Wide) - First Offer	\$2.00	7820 / linear foot	\$15,640.00
roduct Code: gency Notes:		Supplier Pr Supplier N	roduct Code: otes:	
/14-TS01003-17	Alternate No. 2: Traffic Stripe (Plastic)(Arrows)(Single) - First Offer	\$100.00	6 / each	\$600.00
roduct Code: gency Notes:		Supplier Pr Supplier N	roduct Code: otes:	
//4-TS01003-18	Alternate No. 2: Traffic Stripe (Plastic Tape)(Arrows)(Double) - First Offer	\$200.00	3 / each	\$600.00
roduct Code:			roduct Code:	
gency Notes:		Supplier N	otes:	
14-TS01003-19	Alternate No. 2: Traffic Stripe (Plastic Tape)(Symbols) - First Offer		4 / each	\$10,000.00
roduct Code: gency Notes:		Supplier Pr Supplier N	roduct Code: otes:	
//4-TS01003-20	Alternate No. 2: Traffic Stripe (Plastic)(8 Inch Wide) - First Offer	\$5.00	30 / linear foot	\$150.00
roduct Code:			roduct Code:	
gency Notes:	Alternate No. 2: Deduc Detector Costs. (Ch. 1997) 200	Supplier N		#20.000.00
Л4-TS01003-21	Alternate No. 2: Radar Detection System (Advance Sensors) - First Offer			\$20,000.00
roduct Code:		Supplier Pr	roduct Code:	

M4-TS01003-22	Alternate No. 2: Radar Detection System (Presence Sensors) - First Offer	\$10,000.00	4 / each	\$40,000.00
Product Code:			oduct Code:	
gency Notes:		Supplier Notes:		
M4-TS01003-23	Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer	\$10,000.00	1 / each	\$10,000.00
roduct Code: gency Notes:		Supplier Pro	oduct Code:	<u>'</u>
M4-TS01003-24	Alternate No. 2: Radar Detector Cable - First Offer	\$5.00	1540 / linear foot	\$7,700.00
Product Code:	Alternate No. 2. Nadai Detector Cable - i ii st Offer	Supplier Pro	oduct Code:	\$7,700.00
gency Notes:	Alta de Nacional de Colonia de Co	Supplier No		±4.740.00
M4-TS01003-25	Alternate No. 2: Remove Sidewalk - First Offer		171 / square yard	\$1,710.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01003-26	Alternate No. 2: Remove Curb And Gutter - First Offer		100 / linear foot	\$1,000.00
Product Code:		Supplier Pro	oduct Code:	,
Agency Notes:		Supplier No		
M4-TS01003-27	Alternate No. 2: Remove Driveway - First Offer	\$10.00	386 / square yard	\$3,860.00
roduct Code:	·	Supplier Pro		
Agency Notes:		Supplier No		+ + + + + + + + + + + + + + + + + + + +
M4-TS01003-28	Alternate No. 2: Remove Pavement Markings - First Offer		2300 / linear foot	\$4,600.00
roduct Code: gency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01003-29	Alternate No. 2: Adjust Existing Structure (Manholes) - First Offer		1 / each	\$3,800.00
Product Code:			oduct Code:	
gency Notes:		Supplier No		
M4-TS01003-30	Alternate No. 2: Adjust Existing Structure (Hydrant) - First Offer	\$4,400.00	1 / each	\$4,400.00
roduct Code: gency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01003-31	Alternate No. 2: Adjust Existing Structure (Meters) - First Offer		2 / each	\$6,000.00
roduct Code: gency Notes:			oduct Code:	
M4-TS01003-32	Alternate No. 2: Adjust Existing Structure (Valves) - First Offer		2 / each	\$8,800.00
roduct Code:	······································		oduct Code:	, , , , , , , , , , , , , , , , , , , ,
Agency Notes:		Supplier No	tes:	
M4-TS01003-33	Alternate No. 2: Adjust Existing Structure (Clean Out) - First Offer	\$3,500.00	1 / each	\$3,500.00
roduct Code: gency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01003-34	Alternate No. 2: Adjust Existing Structure (Pull Box) - First Offer	\$550.00	2 / each	\$1,100.00
roduct Code: gency Notes:		Supplier Pro	oduct Code:	
M4-TS01003-35	Alternate No. 2: Remove & Reset Sign - First Offer		2 / each	\$2,400.00
Product Code:	5		oduct Code:	
gency Notes:		Supplier No	tes:	
M4-TS01003-36	Alternate No. 2: Sidewalk (4 Inch) - First Offer	\$52.00	817 / square yard	\$42,484.00
roduct Code: gency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01003-37	Alternate No. 2: Driveway (6 Inch) - First Offer	\$70.00	379 / square yard	\$26,530.00
roduct Code: gency Notes:		Supplier Pro	oduct Code:	
M4-TS01003-38	Alternate No. 2: Ada Curb Ramp (8 Inch) - First Offer	\$180.00	80 / square yard	\$14,400.00
Product Code:			oduct Code:	
gency Notes:	Albamari N. O.O. A. I.B	Supplier No		+F0000
M4-TS01003-39	Alternate No. 2: Remove And Reconstruct Fence - First Offer	\$10.00	50 / linear foot oduct Code:	\$500.00
roduct Code: gency Notes:		Supplier No		
M4-TS01003-40	Alternate No. 2: Tactile Warning Device - First Offer	\$25.00	90 / square foot	\$2,250.00
roduct Code: agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01003-41	Alternate No. 2: Solid Slab Sodding - First Offer		750 / square yard	\$5,250.00

Product Code: Supplier Product Code: Agency Notes: Supplier Notes: **Lot Total:** \$309,773.20

Rudy Construction Co.

\$3,499,553.395 (128/128 items)

Bid Contact **Doug Walker**

ppratt@rudycc.com Ph 405-478-9900

Address **3101 NE 63rd Street** Oklahoma City, OK 73121

Qualifications OKC PRE-QUALIFIED CONTRACTORS

Agency Notes:		Supplier No	otes:	
Item#	Line Item	Unit Price	Qty/Unit	Total Price
M4-TS01001-01	Base Bid: Traffic Bound Surface Course Type E - First Offer	\$70.00	1308 / cubic yard	\$91,560.00
Product Code: Agency Notes:			oduct Code:	1 + 5 + 1,0 0 0 1 0 0
M4-TS01001-02	Base Bid: Curb & Gutter (2 Foot-8 Inch) (6 Inch Barrier) - First Offer	\$40.00	41 / linear foot	\$1,640.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-03	Base Bid: Curb & Gutter (2 Foot-8 Inch) (8 Inch Barrier) - First Offer	\$40.00	217 / linear foot	\$8,680.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-04	Base Bid: Curb & Gutter (2 Foot-8 Inch) (4 Inch Mountable) - First Offer	\$40.00	1660 / linear foot	\$66,400.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-05	Base Bid: Variable Height Curb (6 Inch Barrier) - First Offer	\$25.00	1500 / linear foot	\$37,500.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-06	Base Bid: (RCP) Storm Sewer (18 Inch) - First Offer	\$150.00	29 / linear foot	\$4,350.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS01001-07	Base Bid: Design 2-0 Inlet - First Offer	\$5,000.00	2 / each	\$10,000.00
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:	
M4-TS01001-08	Base Bid: Relocate Fire Hydrant - First Offer	\$10,000.00	1 / each	\$10,000.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01001-09	Base Bid: 2 Inch Traffic Signal Conduit (Trenched) - First Offer	\$28.00	190 / linear foot	\$5,320.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS01001-10	Base Bid: 2 Inch Traffic Signal Conduit (Bored) - First Offer	\$42.00	60 / linear foot	\$2,520.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-11	Base Bid: 3 Inch Traffic Signal Conduit (Trenched) - First Offer	\$44.00	50 / linear foot	\$2,200.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-12	Base Bid: 3 Inch Traffic Signal Conduit (Bored) - First Offer	\$63.00	90 / linear foot	\$5,670.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-13	Base Bid: Two Conductor Shielded Loop Detector Lead-In Cable - First Offer	\$2.25	770 / linear foot	\$1,732.50
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-14	Base Bid: (5) Conductor Traffic Signal Electrical Cable - First Offer	\$4.25	1560 / linear foot	\$6,630.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-15	Base Bid: (7) Conductor Traffic Signal Electrical Cable - First Offer	\$7.35	220 / linear foot	\$1,617.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-16	Base Bid: (21) Conductor Traffic Signal Electrical Cable - First Offer	\$12.60	110 / linear foot	\$1,386.00

Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:		
M4-TS01001-17	Base Bid: (1/C) (Awg No.6) Electrical Conductor - First Offer	\$3.50	50 / linear foot	\$175.00	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:		
M4-TS01001-18	Base Bid: Three (3) Section Traffic Signal Head - First Offer	\$1,000.00	3 / each	\$3,000.00	
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:		
M4-TS01001-19	Base Bid: Pedestrian Signal Head - First Offer	\$750.00	34 / each	\$25,500.00	
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:		
M4-TS01001-20	Base Bid: Pedestrian Push Button And Sign - First Offer	\$1,700.00	34 / each	\$57,800.00	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:		
M4-TS01001-21	Base Bid: Pedestrian Push Button And Pole - First Offer		1 / each	\$3,400.00	
Product Code: Agency Notes:	Dase stair edestrial rush statement are this offer		oduct Code:	43/100.00	
M4-TS01001-22	Base Bid: Pedestal Pole With 10 Ft. Mounting Height - First Offer	\$960.00	12 / each	\$11,520.00	
Product Code: Agency Notes:	base blu. Fedestal Fole With 10 Ft. Mounting Height - Filst Offer		oduct Code:	\$11,320.00	
M4-TS01001-23	Base Bid: Structural Concrete - First Offer	\$2,500.00	6.5 / cubic yard	\$16,250.00	
Product Code: Agency Notes:	base blu. Sti uctul al Collici ete - Fil St Offer	-	oduct Code:	\$10,230.00	
M4-TS01001-24	Base Bid: Reinforcing Steel - First Offer	\$2.20	704.2 / pound	\$1,549.24	
Product Code: Agency Notes:	base blu. Relifiorcing steel - Filst Offer		oduct Code:	\$1,349.24	
M4-TS01001-25	Base Bid: Pull Box Type II - First Offer		13 / each	\$20,475.00	
Product Code: Agency Notes:	Jase Stati at Box type in this office	Supplier Product Code: Supplier Notes:		1420/1/3100	
M4-TS01001-26	Base Bid: School Flashers - First Offer		4 / each	\$39,600.00	
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:		
M4-TS01001-27	Base Bid: Sheet Aluminum Signs - First Offer	\$31.50	411.27 / square foot	\$12,955.005	
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:		
M4-TS01001-28	Base Bid: Remove Existing Sign - First Offer	H	49 / each	\$5,096.00	
Product Code: Agency Notes:	Dase sid. Nemove Existing sign. This offer		oduct Code:	43,030.00	
M4-TS01001-29	Base Bid: Square Steel Sign Post - First Offer		819.5 / linear foot	\$21,511.875	
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:		
M4-TS01001-30	Base Bid: Traffic Stripe (Plastic)(4 Inch Wide) - First Offer	\$1.60	29635 / linear foot	\$47,416.00	
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code:		
M4-TS01001-31	Base Bid: Traffic Stripe (Plastic)(Arrows)(Single) - First Offer	\$80.00	13 / each	\$1,040.00	
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:		
M4-TS01001-32	Base Bid: Traffic Stripe (Plastic Tape)(Symbols) - First Offer	\$2,050.00	12 / each	\$24,600.00	
Product Code: Agency Notes:	1 ()	· ·	oduct Code:	,	
M4-TS01001-33	Base Bid: Traffic Stripe (Plastic)(8 Inch Wide) - First Offer	\$3.15	2820 / linear foot	\$8,883.00	
Product Code: Agency Notes:	1 (oduct Code:	,	
M4-TS01001-34	Base Bid: Radar Detection System (Advance Sensors) - First Offer	\$9,400.00	6 / each	\$56,400.00	
Product Code:		Supplier Pr	oduct Code:	1,	
Agency Notes:		Supplier No	otes:		

Product Code Agency Notes	Product Code: Agency Notes:		Supplier Pro		
Agency Notes Base Bid: Rodar Detector Cable - First Offie Supplier Turner Cab	M4-TS01001-36	Base Bid: Radar Cabinet Interface (Model 656) - First Offer	\$8,800.00	3 / each	\$26,400.00
Product Code:					
Mart 1970 - 0.1 32	M4-TS01001-37	Base Bid: Radar Detector Cable - First Offer	\$3.15	2420 / linear foot	\$7,623.00
Product Code:					
Agency Notes: Base Bid: Construction Staking (Construction Survey): First Offer 1978 Supplier Note: To Supplier Note	M4-TS01001-38	Base Bid: G.P.S. As-Built Survey - First Offer	\$5,000.00	1 / lump sum	\$5,000.00
Product Code:					
Agency Notes: Supplier Not	M4-TS01001-39	Base Bid: Construction Staking (Construction Survey) - First Offer	\$25,000.00	1 / lump sum	\$25,000.00
Product Code: Agency Notes: Base Bid: Construction Signing And Traffic Control - First Offer \$0,000,000 1 / Immp sum \$0,000,000 \$0,00					
Mar	M4-TS01001-40	Base Bid: Color Audio/Video Recording, Pre & Post Construction (Recorded Digitally On DVD) - First Offer	\$1,000.00	1 / lump sum	\$1,000.00
Product Code:					
Agency Notes: Base Bid: Mobilization - First Offer of Sp.000.00 1 / Ling sum of Sp.000.00 55,000.00 1 / Ling sum of Sp.000.00 55,000.00 1 / Ling sum of Sp.000.00 55,000.00 1 / Ling sum of Sp.000.00 50,000.00 1 / Ling sum of Sp.000.00 2 / Ling s	M4-TS01001-41	Base Bid: Construction Signing And Traffic Control - First Offer	\$50,000.00	1 / lump sum	\$50,000.00
Product Code: Agency Notes: M4-TS010-01-43 Base Bid: Clearing And Grubbing - First Offer Supplier Notes: M4-TS010-01-43 Base Bid: Clearing And Grubbing - First Offer Supplier Notes: M4-TS010-01-44 Base Bid: Removal Of Structures & Obstructions - First Offer Supplier Notes: M4-TS010-01-44 Base Bid: Removal Of Structures & Obstructions - First Offer Supplier Notes: M4-TS010-01-45 Base Bid: Structure Removal (inlet) - First Offer Supplier Notes: M4-TS010-01-45 Base Bid: Structure Removal (inlet) - First Offer Supplier Notes: M4-TS010-01-46 Base Bid: Structure Removal (Traffic Signal Equipment) - First Offer Supplier Notes: M4-TS010-01-46 Base Bid: Structure Removal (Traffic Signal Equipment) - First Offer Supplier Notes: M4-TS010-01-46 Base Bid: Remove Pavement (Varies) - First Offer Supplier Notes: M4-TS010-01-47 Base Bid: Remove Pavement (Varies) - First Offer Supplier Notes: M4-TS010-01-48 Base Bid: Remove Sidewalk - First Offer Supplier Notes: M4-TS010-01-48 Base Bid: Remove Curb And Gutter - First Offer Supplier Notes: M4-TS010-01-49 Base Bid: Remove Driveway - First Offer Supplier Notes: M4-TS010-01-49 Base Bid: Remove Driveway - First Offer Supplier Notes: M4-TS010-01-49 Base Bid: Remove Driveway - First Offer Supplier Notes: M4-TS010-01-50 Base Bid: Remove Driveway - First Offer Supplier Notes: M4-TS010-01-50 Base Bid: Remove Driveway - First Offer Supplier Notes: M4-TS010-01-50 Base Bid: Remove Driveway - First Offer Supplier Notes: M4-TS010-01-50 Base Bid: Remove Driveway - First Offer Supplier Notes: M4-TS010-01-50 Base Bid: Remove Driveway - First Offer Supplier Notes: M4-TS010-01-50 Base Bid: Remove Driveway - First Offer Supplier Notes: M4-TS010-01-50 Base Bid: Remove Driveway - First Offer Supplier Notes: M4-TS010-01-50 Suppli					
Agency Notes: Mach 25010-01-43 Base Bid: Clearing And Grubbing - First Offer \$20,000.00 1/ Iump sum \$20,000.00 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Notes: \$20,000.00 1/ Iump sum \$20,000.00 Product Code: Agency Notes: Base Bid: Removal Of Structure Removal (Inlet) - First Offer \$20,000.00 1/ Iump sum \$20,000.00 Product Code: Agency Notes: Mar 15010-01-45 Base Bid: Structure Removal (Inlet) - First Offer \$20,000.00 1/ Iump sum \$2,000.00 Product Code: Agency Notes: Base Bid: Structure Removal (Traffic Signal Equipment) - First Offer \$2,500.00 2 cach \$1,000.00 Agency Notes: Mar 15010-01-48 Base Bid: Structure Removal (Traffic Signal Equipment) - First Offer \$2,500.00 1/ Iump sum \$2,500.00	M4-TS01001-42	Base Bid: Mobilization - First Offer	\$95,000.00	1 / lump sum	\$95,000.00
Product Code:					
Agency Notes: Supplier Notes: Product Code: Agency Notes: Supplier Notes: Alt 7501 0-14 4g Supplier Notes: Alt 7501 0-14 5g Supplier Notes: Alt 7501 0-14 5g Supplier Notes: Agency Notes: Supplier Note: Agency Notes: Supplier Note: Alt 7501 0-01 4g Base Bid: Structure Removal (Irraffic Signal Equipment) - First Offic Supplier Note: Supplier Note: <th< td=""><td>M4-TS01001-43</td><td>Base Bid: Clearing And Grubbing - First Offer</td><td>\$20,000.00</td><td>1 / lump sum</td><td>\$20,000.00</td></th<>	M4-TS01001-43	Base Bid: Clearing And Grubbing - First Offer	\$20,000.00	1 / lump sum	\$20,000.00
Product Code: Agency Notes: Supplier Product Code: Agency Notes: Supplier Product Code: Supplier Product Co					
Agency Notes: Base Bid: Structure Removal (Inlet) - First Offer \$ 500.00 2 / each \$ 1,000.00 Product Code: Agency Notes: Supplier Votes: Supplier Notes: Supplier Notes: M4-TS010~01-46 Base Bid: Structure Removal (Traffic Signal Equipment) - First Offer \$2,500.00 1 / lump sum \$2,500.00 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: M4-TS010~01-47 Base Bid: Remove Pavement (Varies) - First Offer \$12.00 1790 / square yard \$21,480.00 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Notes: M4-TS010~01-48 Base Bid: Remove Sidewalk - First Offer \$12.00 2672 / square yard \$32,064.00 Product Code: Agency Notes: Supplier Notes: Supplier Notes: M4-TS010~01-49 Base Bid: Remove Driveway - First Offer \$12.00 3700 / linear foot \$44,400.00 Agency Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: M4-TS010~01-50 Base Bid: Pavement Cut & Permanent Repair - First Offer \$12.00 3523 /	M4-TS01001-44	Base Bid: Removal Of Structures & Obstructions - First Offer	\$20,000.00	1 / lump sum	\$20,000.00
Product Code: Agency Notes: Supplier Notes: <					'
Agency Notes: Jumplier Vest: Supplier Vest: <th< td=""><td>M4-TS01001-45</td><td>Base Bid: Structure Removal (Inlet) - First Offer</td><td>\$500.00</td><td>2 / each</td><td>\$1,000.00</td></th<>	M4-TS01001-45	Base Bid: Structure Removal (Inlet) - First Offer	\$500.00	2 / each	\$1,000.00
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Notes: \$ 27,480.00 \$					
Agency Notes: Supplier Notes: Supplier Notes: Supplier Notes: 12.00 179.0 / square yard \$21.80.0 0 \$21.80.0 0 \$21.80.0 0 \$21.80.0 0 \$21.80.0 0 \$21.80.0 0 \$21.80.0 0 \$21.80.0 0 \$21.80.0 0 \$21.80.0 0 \$21.80.0 0 \$21.80.0 0 \$21.80.0 0 \$21.80.0 0 \$20.7 / square yard \$20.60.0 0 \$20.00 0 <	M4-TS01001-46	Base Bid: Structure Removal (Traffic Signal Equipment) - First Offer	\$2,500.00	1 / lump sum	\$2,500.00
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: \$12.00 2672 / square yard \$32,064.00 \$32,060.00 \$32,064.00 \$32,060.00 \$32,060.00 \$32,060.00 \$32,060.00 \$32,075.00 <t< td=""><td></td><td></td><td></td><td></td><td></td></t<>					
Agency Notes: Supplier > Supplier	M4-TS01001-47	Base Bid: Remove Pavement (Varies) - First Offer	\$12.00	1790 / square yard	\$21,480.00
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Notes: Stand (Code: Supplier Notes) Supplier Notes: Supplier Notes: \$12.00 \$700 / linear foot \$44,400.00 \$44,200.00 \$42,276.					
Agency Notes: Supplier Notes: M4-TS010-01-49 Base Bid: Remove Curb And Gutter - First Offer \$12.00 \$700 / linear foot \$44,400.00 Product Code: Agency Notes: Supplier Notes: Supplier Notes: M4-TS010-01-50 Base Bid: Remove Driveway - First Offer \$12.00 \$23 / square yard \$42,276.00 Product Code: Agency Notes: Supplier Notes: Supplier Product Code: Supplier Notes: M4-TS010-01-51 Base Bid: Pavement Cut & Permanent Repair - First Offer \$125.00 720 / square yard \$90,000.00 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: M4-TS010-01-52 Base Bid: Remove Pavement Marking - First Offer \$1.05 16500 / linear foot \$17,325.00 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: M4-TS010-01-52 Base Bid: Adjust Existing Structure (Manholes) - First Offer \$1,500.00 \$7,500.00 M4-TS010-01-53 Bas	M4-TS01001-48	Base Bid: Remove Sidewalk - First Offer	\$12.00	2672 / square yard	\$32,064.00
M4-TS01001-49 Base Bid: Remove Curb And Gutter - First Offer \$12.00 \$700 / linear foot \$44,400.00 Product Code: Agency Notes: Supplier Product Code: S					
Product Code: Agency Notes: Supplier Notes: Supplier		Dave Birk Dave via Cook And Cotton First Office			# 4 4 400 00
M4-TS010−01-50 Base Bid: Remove Driveway - First Offer \$12.00 3523 / square yard \$42,276.00 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: M4-TS010−01-51 Base Bid: Pavement Cut & Permanent Repair - First Offer \$125.00 720 / square yard \$90,000.00 Product Code: Agency Notes: M4-TS010−01-52 Base Bid: Remove Pavement Marking - First Offer \$1.05 16500 / linear foot \$17,325.00 Product Code: Agency Notes: M4-TS010−01-52 Base Bid: Adjust Existing Structure (Manholes) - First Offer \$1,500.00 5 / each \$7,500.00 M4-TS010−01-53 Base Bid: Adjust Existing Structure (Manholes) - First Offer \$1,500.00 5 / each \$7,500.00	Product Code:	Base Big: Remove Curb And Gutter - Hirst Offer	Supplier Pro	oduct Code:	\$44,400.00
Product Code: Agency Notes: M4-TS01001-51 Base Bid: Pavement Cut & Permanent Repair - First Offer \$125.00 720 / square yard \$90,000.00 Product Code: Supplier Notes: M4-TS01001-52 Base Bid: Remove Pavement Marking - First Offer \$1.05 16500 / linear foot \$17,325.00 Product Code: Supplier Notes: M4-TS01001-52 Supplier Product Code: Supplier Notes: M4-TS01001-53 Base Bid: Adjust Existing Structure (Manholes) - First Offer \$1,500.00 5 / each \$7,500.00 Product Code: Supplier Product Code: Supplier Notes:		Paca Rid: Damaya Drivayay, First Offer			\$42 276 00
M4-TS010-01-51 Base Bid: Pavement Cut & Permanent Repair - First Offer \$125.00 720 / square yard \$90,000.00 Product Code: Agency Notes: M4-TS010-01-52 Base Bid: Remove Pavement Marking - First Offer \$1.05 16500 / linear foot \$17,325.00 Product Code: Agency Notes: M4-TS010-01-53 Base Bid: Adjust Existing Structure (Manholes) - First Offer \$1,500.00 5 / each \$7,500.00 Product Code: Supplier Notes: M4-TS010-01-53 Supplier Notes: \$1,500.00 5 / each \$7,500.00	Product Code:	dase diu. Retituve Ditveway - FifSt Offer	Supplier Pro	oduct Code:	₽4∠,∠/0.00
Product Code: Agency Notes: M4-TS01001-52 Base Bid: Remove Pavement Marking - First Offer Supplier Notes: \$1.05 16500 / linear foot \$17,325.00 \$17,325.00 Product Code: Agency Notes: M4-TS01001-53 Base Bid: Adjust Existing Structure (Manholes) - First Offer Supplier Notes: \$1,500.00 \$7,500.00 Product Code: Supplier Product Code: Supplier Product Code:		Raca Rid: Davament Cut & Dormanont Donair First Offer		I	\$90,000,00
M4-TS01001-52 Base Bid: Remove Pavement Marking - First Offer \$1.05 16500 / linear foot \$17,325.00 Product Code: Agency Notes: M4-TS01001-53 Base Bid: Adjust Existing Structure (Manholes) - First Offer \$1,500.00 5 / each \$7,500.00 Product Code: Supplier Product Code: \$1,500.00 5 / each \$7,500.00	Product Code:	base blu. Favernetic cut & Permanent Repail - Filst Offer	Supplier Pro	oduct Code:	450,000.00
Product Code: Supplier Product Code: Agency Notes: Supplier Notes: M4-TS010-01-53 Base Bid: Adjust Existing Structure (Manholes) - First Offer \$1,500.00 5 / each \$7,500.00 Product Code:		Rase Rid: Remove Pavement Marking - First Offer			\$17 325 00
Agency Notes:Supplier Notes:M4-TS010-01-53Base Bid: Adjust Existing Structure (Manholes) - First Offer\$1,500.00\$ / each\$7,500.00Product Code:		base bid. Remover aveniere marking - i list offer			717,323.00
Product Code: Supplier Product Code:					
	M4-TS01001-53	Base Bid: Adjust Existing Structure (Manholes) - First Offer	\$1,500.00	5 / each	\$7,500.00
Agency Notes:	Product Code: Agency Notes:		Supplier Pro Supplier No		

M4-TS01001-54	Base Bid: Adjust Existing Structure (Hydrant) - First Offer	\$7,500.00	1 / each	\$7,500.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-55	Base Bid: Adjust Existing Structure (Meters) - First Offer		6 / each	\$1,800.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-56	Base Bid: Adjust Existing Structure (Valves) - First Offer	\$300.00	6 / each	\$1,800.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-57	Base Bid: Adjust Existing Structure (Clean Out) - First Offer		3 / each	\$900.00
Product Code: Agency Notes:		Supplier Pro		
M4-TS01001-58	Base Bid: Adjust Existing Structure (Pull Box) - First Offer		6 / each	\$3,000.00
Product Code: Agency Notes:		Supplier Pro		
M4-TS01001-59	Base Bid: Remove & Reset Sign - First Offer		16 / each	\$5,920.00
Product Code:	buse bid. Remove a reset sign must offer	Supplier Pro	oduct Code:	\$3,320.00
Agency Notes: M4-TS01001-60	Daca Didi Damaya & Dacat Signal Fayinment First Offer	Supplier No \$8,000.00		\$8,000.00
Product Code: Agency Notes:	Base Bid: Remove & Reset Signal Equipment - First Offer	Supplier Pro		\$8,000.00
M4-TS01001-61	Base Bid: Sidewalk (4 Inch) - First Offer	· · ·	12685 / square yard	\$887,950.00
Product Code: Agency Notes:		Supplier Pro		
M4-TS01001-62	Base Bid: Driveway (6 Inch) - First Offer	\$85.00	3434 / square yard	\$291,890.00
Product Code: Agency Notes:		Supplier Pro		
M4-TS01001-63	Base Bid: Ada Curb Ramp (8 Inch) - First Offer	\$155.00	1632 / square yard	\$252,960.00
Product Code: Agency Notes:		Supplier Pro		
M4-TS01001-64	Base Bid: Handrail - First Offer	\$200.00	12 / linear foot	\$2,400.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-65	Base Bid: Remove And Reconstruct Fence - First Offer	\$20.00	1000 / linear foot	\$20,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-66	Base Bid: Tactile Warning Device - First Offer	\$40.00	2095 / square foot	\$83,800.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-67	Base Bid: Solid Slab Sodding - First Offer	\$4.50	10400 / square yard	\$46,800.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-68	Base Bid: Sediment And Erosion Control - First Offer	\$20,000.00	1 / lump sum	\$20,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-69	Base Bid: Groundbreaking Ceremony - First Offer	\$5,000.00	1 / lump sum	\$5,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
			Lot Total: \$2	2,868,264.62
Item#	ine Item	Unit Price	Qty/Unit	Total Price
M4-TS01002-01	Alternate No. 1: Traffic Bound Surface Course Type E - First Offer	\$70.00	245 / cubic yard	\$17,150.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01002-02	Alternate No. 1: Remove Pavement (Varies) - First Offer	\$12.00	104 / square yard	\$1,248.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01002-03	Alternate No. 1: Remove Sidewalk - First Offer	\$12.00	1358 / square yard	\$16,296.00

Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
M4-TS01002-04	Alternate No. 1: Remove Curb And Gutter - First Offer	\$12.00	266 / linear foot	\$3,192.00
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
M4-TS01002-05	Alternate No. 1: Remove Driveway - First Offer	\$12.00	1052 / square yard	\$12,624.00
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
M4-TS01002-06	Alternate No. 1: Adjust Existing Structure (Manholes) - First Offer	\$1,500.00	1 / each	\$1,500.00
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	'
M4-TS01002-07	Alternate No. 1: Adjust Existing Structure (Hydrant) - First Offer	\$7,500.00	1 / each	\$7,500.00
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	'
M4-TS01002-08	Alternate No. 1: Adjust Existing Structure (Meters) - First Offer	\$300.00	2 / each	\$600.00
Product Code:	,	*	oduct Code:	
Agency Notes:		Supplier No		
M4-TS01002-09	Alternate No. 1: Adjust Existing Structure (Valves) - First Offer	\$300.00	2 / each	\$600.00
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
M4-TS01002-10	Alternate No. 1: Adjust Existing Structure (Clean Out) - First Offer	\$300.00	1 / each	\$300.00
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
M4-TS01002-11	Alternate No. 1: Adjust Existing Structure (Pull Box) - First Offer	\$500.00	2 / each	\$1,000.00
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
M4-TS01002-12	Alternate No. 1: Remove & Reset Sign - First Offer	\$370.00	2 / each	\$740.00
Product Code:		Supplier Pr Supplier No	oduct Code: otes:	
M4-TS01002-13	Alternate No. 1: Sidewalk (4 Inch) - First Offer	\$70.00	2039 / square yard	\$142,730.00
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	I
M4-TS01002-14	Alternate No. 1: Driveway (6 Inch) - First Offer	\$85.00	1089 / square yard	\$92,565.00
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
M4-TS01002-15	Alternate No. 1: Ada Curb Ramp (8 Inch) - First Offer	\$155.00	186 / square yard	\$28,830.00
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
M4-TS01002-16	Alternate No. 1: Remove And Reconstruct Fence - First Offer	\$20.00	50 / linear foot	\$1,000.00
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
M4-TS01002-17	Alternate No. 1: Tactile Warning Device - First Offer	\$40.00	330 / square foot	\$13,200.00
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
M4-TS01002-18	Alternate No. 1: Solid Slab Sodding - First Offer	\$4.50	1700 / square yard	\$7,650.00
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
			Lot Total:	\$348,725.00
ltem#	Line Item	Unit Price	Qty/Unit	Total Price
M4-TS01003-01	Alternate No. 2: Traffic Bound Surface Course Type E - First Offer	\$70.00	92 / cubic yard	\$6,440.00
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
M4-TS01003-02	Alternate No. 2: Variable Height Curb (6 Inch Barrier) - First Offer	\$25.00	80 / linear foot	\$2,000.00
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
M4-TS01003-03	Alternate No. 2: 2 Inch Traffic Signal Conduit (Trenched) - First Offer	\$28.00	90 / linear foot	\$2,520.00
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
M4-TS01003-04	Alternate No. 2: Two Conductor Shielded Loop Detector Lead-In Cable - First Offer	\$2.25	180 / linear foot	\$405.00

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
M4-TS01003-05	Alternate No. 2: (5) Conductor Traffic Signal Electrical Cable - First Offer	\$4.25 750 / linear foot \$3,187.50
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
M4-TS01003-06	Alternate No. 2: (7) Conductor Traffic Signal Electrical Cable - First Offer	\$7.35 190 / linear foot \$1,396.50
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
M4-TS01003-07	Alternate No. 2: Pedestrian Signal Head - First Offer	\$750.00 8 / each \$6,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
M4-TS01003-08	Alternate No. 2: Pedestrian Push Button And Sign - First Offer	\$1,700.00 8 / each \$13,600.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
M4-TS01003-09	Alternate No. 2: Pedestal Pole With 10 Ft. Mounting Height - First Offer	···
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
M4-TS01003-10	Alternate No. 2: Structural Concrete - First Offer	
Product Code:	, 100 100 100 200 200 200 200 200 200 200	Supplier Product Code:
Agency Notes:		Supplier Notes:
M4-TS01003-11	Alternate No. 2: Reinforcing Steel - First Offer	<u> </u>
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
M4-TS01003-12	Alternate No. 2: Pull Box Type Ii - First Offer	\$1,600.00 4 / each \$6,400.00
Product Code:		Supplier Product Code:
Agency Notes: M4-TS01003-13	Alternate No. 2: Sheet Aluminum Signs - First Offer	Supplier Notes: r
Product Code: Agency Notes:	Accurace No. 2. Sheet Naminani Signs Tilist Offer	Supplier Product Code: Supplier Notes:
M4-TS01003-14	Alternate No. 2: Remove Existing Sign - First Offer	···
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
M4-TS01003-15	Alternate No. 2: Square Steel Sign Post - First Offer	· · ·
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
M4-TS01003-16	Alternate No. 2: Traffic Stripe (Plastic)(4 Inch Wide) - First Offer	
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes:
M4-TS01003-17	Alternate No. 2: Traffic Stripe (Plastic)(Arrows)(Single) - First Offer	\$80.00 6 / each \$480.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
M4-TS01003-18	Alternate No. 2: Traffic Stripe (Plastic Tape)(Arrows)(Double) - First Offer	· · ·
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
M4-TS01003-19	Alternate No. 2: Traffic Stripe (Plastic Tape)(Symbols) - First Offer	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
M4-TS01003-20	Alternate No. 2: Traffic Stripe (Plastic)(8 Inch Wide) - First Offer	
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes:
M4-TS01003-21	Alternate No. 2: Radar Detection System (Advance Sensors) - First Offer	1
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes:
M4-TS01003-22	Alternate No. 2: Radar Detection System (Presence Sensors) - First Offer	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
M4-TS01003-23	Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer	
Product Code: Agency Notes:	, , , , , , , , , , , , , , , , , , , ,	Supplier Product Code: Supplier Notes:
M4-TS01003-24	Alternate No. 2: Radar Detector Cable - First Offer	

Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01003-25	Alternate No. 2: Remove Sidewalk - First Offer	\$12.00	171 / square yard	\$2,052.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01003-26	Alternate No. 2: Remove Curb And Gutter - First Offer	\$12.00	100 / linear foot	\$1,200.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01003-27	Alternate No. 2: Remove Driveway - First Offer	\$12.00	386 / square yard	\$4,632.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01003-28	Alternate No. 2: Remove Pavement Markings - First Offer	\$1.05	2300 / linear foot	\$2,415.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	•
M4-TS01003-29	Alternate No. 2: Adjust Existing Structure (Manholes) - First Offer	\$1,500.00	1 / each	\$1,500.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	•
M4-TS01003-30	Alternate No. 2: Adjust Existing Structure (Hydrant) - First Offer	\$7,500.00	1 / each	\$7,500.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01003-31	Alternate No. 2: Adjust Existing Structure (Meters) - First Offer	\$300.00	2 / each	\$600.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	•
M4-TS01003-32	Alternate No. 2: Adjust Existing Structure (Valves) - First Offer	\$300.00	2 / each	\$600.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01003-33	Alternate No. 2: Adjust Existing Structure (Clean Out) - First Offer	\$300.00	1 / each	\$300.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01003-34	Alternate No. 2: Adjust Existing Structure (Pull Box) - First Offer	\$460.00	2 / each	\$920.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01003-35	Alternate No. 2: Remove & Reset Sign - First Offer	\$370.00	2 / each	\$740.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01003-36	Alternate No. 2: Sidewalk (4 Inch) - First Offer	\$70.00	817 / square yard	\$57,190.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01003-37	Alternate No. 2: Driveway (6 Inch) - First Offer	\$85.00	379 / square yard	\$32,215.00
Product Code:		Supplier Pro Supplier No	oduct Code: otes:	
Agency Notes:				1
M4-TS01003-38	Alternate No. 2: Ada Curb Ramp (8 Inch) - First Offer	\$155.00	80 / square yard	\$12,400.00
	Alternate No. 2: Ada Curb Ramp (8 Inch) - First Offer		oduct Code:	\$12,400.00
M4-TS01003-38 Product Code:	Alternate No. 2: Ada Curb Ramp (8 Inch) - First Offer	Supplier Pr	oduct Code:	\$12,400.00
M4-TS01003-38 Product Code: Agency Notes:	Alternate No. 2: Ada Curb Ramp (8 Inch) - First Offer Alternate No. 2: Remove And Reconstruct Fence - First Offer	Supplier Pro Supplier No \$20.00	oduct Code: otes: 50 / linear foot oduct Code:	
M4-TS010-03-38 Product Code: Agency Notes: M4-TS010-03-39 Product Code:	Alternate No. 2: Ada Curb Ramp (8 Inch) - First Offer Alternate No. 2: Remove And Reconstruct Fence - First Offer	Supplier Pro Supplier No \$20.00 Supplier Pro	oduct Code: otes: 50 / linear foot oduct Code:	
M4-TS010-03-38 Product Code: Agency Notes: M4-TS010-03-39 Product Code: Agency Notes:	Alternate No. 2: Ada Curb Ramp (8 Inch) - First Offer Alternate No. 2: Remove And Reconstruct Fence - First Offer Alternate No. 2: Tactile Warning Device - First Offer	Supplier Pri Supplier No \$20.00 Supplier Pri Supplier No \$40.00	oduct Code: 50 / linear foot oduct Code: ptes: 90 / square foot oduct Code:	\$1,000.00
M4-TS010-03-38 Product Code: Agency Notes: M4-TS010-03-39 Product Code: Agency Notes: M4-TS010-03-40 Product Code:	Alternate No. 2: Ada Curb Ramp (8 Inch) - First Offer Alternate No. 2: Remove And Reconstruct Fence - First Offer Alternate No. 2: Tactile Warning Device - First Offer	Supplier Pro Supplier No \$20.00 Supplier Pro Supplier No \$40.00 Supplier Pro	oduct Code: 50 / linear foot oduct Code: ptes: 90 / square foot oduct Code:	\$1,000.00
M4-TS01003-38 Product Code: Agency Notes: M4-TS01003-39 Product Code: Agency Notes: M4-TS01003-40 Product Code: Agency Notes:	Alternate No. 2: Ada Curb Ramp (8 Inch) - First Offer Alternate No. 2: Remove And Reconstruct Fence - First Offer Alternate No. 2: Tactile Warning Device - First Offer Alternate No. 2: Solid Slab Sodding - First Offer	Supplier Pro Supplier No \$20.00 Supplier Pro Supplier No \$40.00 Supplier Pro Supplier No \$4.50	oduct Code: 50 / linear foot oduct Code: otes: 90 / square foot oduct Code: otes: 750 / square yard oduct Code:	\$1,000.00 \$3,600.00

C-P Integrated Services

\$3,508,999.995 (128/128 items)

Bid Contact **Durinda Fisher dfisher@cpiokc.com**

Ph 405-732-0532

Qualifications **OKC PRE-QUALIFIED CONTRACTORS**

Address **3007 NW 63rd Street, Ste 205 Oklahoma City, OK 73116**

Agency Notes:		Supplier Not	tes:	
Item#	Line Item	Unit Price	Qty/Unit	Total Price
M4-TS01001-01	Base Bid: Traffic Bound Surface Course Type E - First Offer	\$80.00	1308 / cubic yard	\$104,640.00
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01001-02	Base Bid: Curb & Gutter (2 Foot-8 Inch) (6 Inch Barrier) - First Offer	\$31.00	41 / linear foot	\$1,271.00
Product Code: Agency Notes:		Supplier Pro		
M4-TS01001-03	Base Bid: Curb & Gutter (2 Foot-8 Inch) (8 Inch Barrier) - First Offer	Supplier Not \$30.00	217 / linear foot	\$6,510.00
Product Code:		Supplier Pro	duct Code:	ψ0,510.00
Agency Notes: M4-TS01001-04	Base Bid: Curb & Gutter (2 Foot-8 Inch) (4 Inch Mountable) - First Offer	Supplier Not \$27.50	1660 / linear foot	\$45,650.00
Product Code: Agency Notes:		Supplier Pro Supplier Not	duct Code:	1,,
M4-TS01001-05	Base Bid: Variable Height Curb (6 Inch Barrier) - First Offer	\$40.00	1500 / linear foot	\$60,000,00
Product Code: Agency Notes:		Supplier Pro	duct Code:	400,000.00
M4-TS01001-06	Base Bid: (RCP) Storm Sewer (18 Inch) - First Offer	\$78.75	29 / linear foot	\$2,283.75
Product Code: Agency Notes:		Supplier Pro	duct Code:	+2/2001/0
M4-TS01001-07	Base Bid: Design 2-0 Inlet - First Offer	\$7,000.00	2 / each	\$14,000.00
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01001-08	Base Bid: Relocate Fire Hydrant - First Offer		1 / each	\$12,750.00
Product Code: Agency Notes:	·	Supplier Pro		
M4-TS01001-09	Base Bid: 2 Inch Traffic Signal Conduit (Trenched) - First Offer	\$36.75	190 / linear foot	\$6,982.50
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01001-10	Base Bid: 2 Inch Traffic Signal Conduit (Bored) - First Offer	\$55.50	60 / linear foot	\$3,330.00
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01001-11	Base Bid: 3 Inch Traffic Signal Conduit (Trenched) - First Offer	\$58.25	50 / linear foot	\$2,912.50
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01001-12	Base Bid: 3 Inch Traffic Signal Conduit (Bored) - First Offer	\$83.25	90 / linear foot	\$7,492.50
Product Code: Agency Notes:		Supplier Pro Supplier Not		_
M4-TS01001-13	Base Bid: Two Conductor Shielded Loop Detector Lead-In Cable - First Offer	\$3.00	770 / linear foot	\$2,310.00
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01001-14	Base Bid: (5) Conductor Traffic Signal Electrical Cable - First Offer	\$5.50	1560 / linear foot	\$8,580.00
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01001-15	Base Bid: (7) Conductor Traffic Signal Electrical Cable - First Offer	\$9.75	220 / linear foot	\$2,145.00
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01001-16	Base Bid: (21) Conductor Traffic Signal Electrical Cable - First Offer	\$16.75	110 / linear foot	\$1,842.50
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01001-17	Base Bid: (1/C) (Awg No.6) Electrical Conductor - First Offer	\$4.75	50 / linear foot	\$237.50
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01001-18	Base Bid: Three (3) Section Traffic Signal Head - First Offer	\$1,350.00	3 / each	\$4,050.00
	-	Supplier Pro	duct Code:	1
Product Code: Agency Notes:		Supplier Not		

Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01001-20	Base Bid: Pedestrian Push Button And Sign - First Offer	\$2,250.00	34 / each	\$76,500.00
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01001-21	Base Bid: Pedestrian Push Button And Pole - First Offer	\$4,450.00	1 / each	\$4,450.00
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01001-22	Base Bid: Pedestal Pole With 10 Ft. Mounting Height - First Offer	\$1,275.00	12 / each	\$15,300.00
Product Code:		Supplier Pro		
Agency Notes: M4-TS01001-23	Dana Didi Churata and Caramata - First Office	Supplier Not		#21 C12 F0
Product Code:	Base Bid: Structural Concrete - First Offer	\$3,325.00 Supplier Pro	6.5 / cubic yard	\$21,612.50
Agency Notes:		Supplier Not		
M4-TS01001-24	Base Bid: Reinforcing Steel - First Offer	\$3.00	704.2 / pound	\$2,112.60
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01001-25	Base Bid: Pull Box Type II - First Offer	\$2,075.00	13 / each	\$26,975.00
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01001-26	Base Bid: School Flashers - First Offer	\$13,250.00	4 / each	\$53,000.00
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01001-27	Base Bid: Sheet Aluminum Signs - First Offer	\$68.00	411.27 / square foot	\$27,966.36
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01001-28	Base Bid: Remove Existing Sign - First Offer	\$104.00	49 / each	\$5,096.00
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01001-29	Base Bid: Square Steel Sign Post - First Offer	1	819.5 / linear foot	\$14,546.125
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01001-30	Base Bid: Traffic Stripe (Plastic)(4 Inch Wide) - First Offer	T	29635 / linear foot	\$96,313.75
Product Code: Agency Notes:	buse bid. Hame stripe (Hustic), First Orier	Supplier Pro Supplier Not	duct Code:	\$30,313.73
M4-TS01001-31	Base Bid: Traffic Stripe (Plastic)(Arrows)(Single) - First Offer	 	13 / each	\$5,005.00
Product Code: Agency Notes:		Supplier Pro Supplier Not	duct Code:	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
M4-TS01001-32	Base Bid: Traffic Stripe (Plastic Tape)(Symbols) - First Offer	 	12 / each	\$5,400.00
Product Code:		Supplier Pro		
Agency Notes:		Supplier Not		ı
M4-TS01001-33 Product Code:	Base Bid: Traffic Stripe (Plastic)(8 Inch Wide) - First Offer	Supplier Pro		\$47,235.00
Agency Notes: M4-TS01001-34	Base Bid: Radar Detection System (Advance Sensors) - First Offer	Supplier Not	6 / each	\$74,250.00
Product Code:	base bid. Radai Detection system (Advance Sensors) - First Offer	Supplier Pro Supplier Not	duct Code:	\$74,230.00
Agency Notes: M4-TS01001-35	Base Bid: Radar Detection System (Presence Sensors) - First Offer		12 / each	\$138,300.00
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01001-36	Base Bid: Radar Cabinet Interface (Model 656) - First Offer		3 / each	\$34,725.00
Product Code: Agency Notes:		Supplier Pro Supplier Not	duct Code:	1 ,
M4-TS01001-37	Base Bid: Radar Detector Cable - First Offer	1	2420 / linear foot	\$10,285.00
Product Code: Agency Notes:		Supplier Pro Supplier Not	duct Code:	<u> </u>
	D. Dilence D. Her. Files			#45 000 00
M4-TS01001-38	Base Bid: G.P.S. As-Built Survey - First Offer	\$15,000.00	1 / lump sum	\$15,000.00

M4-TS01001-39	Base Bid: Construction Staking (Construction Survey) - First Offer	\$25,000.00	1 / lump sum	\$25,000.00
Product Code:		Supplier Pro		
Agency Notes:		Supplier No		+ F 000 00
	Base Bid: Color Audio/Video Recording, Pre & Post Construction (Recorded Digitally On DVD) - First Offer	\$5,000.00	1 / lump sum	\$5,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-41	Base Bid: Construction Signing And Traffic Control - First Offer		1 / lump sum	\$61,750.00
Product Code:	Base bid. Constituction 3g milg And Traine Control 1113c Office	Supplier Pro		\$01,730.00
Agency Notes:		Supplier No		
M4-TS01001-42	Base Bid: Mobilization - First Offer	\$120,000.00	1 / lump sum	\$120,000.00
Product Code:		Supplier Pro		l
Agency Notes:	Due Did Classica And Codding Fort Office	Supplier No		#C0 000 00
M4-TS01001-43	Base Bid: Clearing And Grubbing - First Offer		1 / lump sum	\$68,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-44	Base Bid: Removal Of Structures & Obstructions - First Offer			\$30,217.96
Product Code:	Dase blu. Removal of structures & obstructions - First offer	· ·	1 / lump sum	\$50,217.90
Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-45	Base Bid: Structure Removal (Inlet) - First Offer	\$875.00	2 / each	\$1,750.00
Product Code:		Supplier Pro		
Agency Notes:		Supplier No	tes:	
M4-TS01001-46	Base Bid: Structure Removal (Traffic Signal Equipment) - First Offer	\$11,750.00	1 / lump sum	\$11,750.00
Product Code:		Supplier Pro		
Agency Notes:		Supplier No	I	
M4-TS01001-47	Base Bid: Remove Pavement (Varies) - First Offer	\$13.00	1790 / square yard	\$23,270.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-48	Base Bid: Remove Sidewalk - First Offer	\$11.00	2672 / square yard	\$29,392.00
Product Code:		Supplier Pro	oduct Code:	
Agency Notes:		Supplier No	tes:	
M4-TS01001-49	Base Bid: Remove Curb And Gutter - First Offer	\$10.00	3700 / linear foot	\$37,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-50	Base Bid: Remove Driveway - First Offer	\$11.75	3523 / square yard	\$41,395.25
Product Code:		Supplier Pro	oduct Code:	
Agency Notes:		Supplier No	tes:	
M4-TS01001-51	Base Bid: Pavement Cut & Permanent Repair - First Offer	\$94.00	720 / square yard	\$67,680.00
Product Code:		Supplier Pro		
Agency Notes:		Supplier No		
M4-TS01001-52	Base Bid: Remove Pavement Marking - First Offer	\$1.75	16500 / linear foot	\$28,875.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-53	Base Bid: Adjust Existing Structure (Manholes) - First Offer		5 / each	\$11,000.00
Product Code:	base blu. Aujust Existing Structure (Marifoles) - First Offer	Supplier Pro		\$11,000.00
Agency Notes:		Supplier No		
M4-TS01001-54	Base Bid: Adjust Existing Structure (Hydrant) - First Offer	\$4,400.00	1 / each	\$4,400.00
Product Code: Agency Notes:		Supplier Pro	oduct Code:	1 7
M4-TS01001-55	Base Bid: Adjust Existing Structure (Meters) - First Offer	\$2,950.00	6 / each	\$17,700.00
Product Code:	, ,	Supplier Pro	duct Code:	
Agency Notes:		Supplier No		
M4-TS01001-56	Base Bid: Adjust Existing Structure (Valves) - First Offer	\$3,000.00	6 / each	\$18,000.00
Product Code:		Supplier Pro	oduct Code:	
Agency Notes:		Supplier No	tes:	
M4-TS01001-57	Base Bid: Adjust Existing Structure (Clean Out) - First Offer	\$3,550.00	3 / each	\$10,650.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-58	Base Bid: Adjust Existing Structure (Pull Box) - First Offer	\$610.00	6 / each	\$3,660.00
	Sass State Modern Structure (Full Son) This Office			,555.00

Product Code: Agency Notes:		Supplier Pro		
M4-TS01001-59	Base Bid: Remove & Reset Sign - First Offer	\$700.00	16 / each	\$11,200.00
Product Code: Agency Notes:		Supplier Pro		
M4-TS01001-60	Base Bid: Remove & Reset Signal Equipment - First Offer	\$10,400.00	1 / lump sum	\$10,400.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-61	Base Bid: Sidewalk (4 Inch) - First Offer	\$42.50	12685 / square yard	\$539,112.50
Product Code: Agency Notes:		Supplier Pro		
M4-TS01001-62	Base Bid: Driveway (6 Inch) - First Offer	\$72.50	3434 / square yard	\$248,965.00
Product Code: Agency Notes:		Supplier Pro		
M4-TS01001-63	Base Bid: Ada Curb Ramp (8 Inch) - First Offer	\$83.50	1632 / square yard	\$136,272.00
Product Code: Agency Notes:		Supplier Pro		
M4-TS01001-64	Base Bid: Handrail - First Offer	\$205.00	12 / linear foot	\$2,460.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-65	Base Bid: Remove And Reconstruct Fence - First Offer	\$138.50	1000 / linear foot	\$138,500.00
Product Code: Agency Notes:		Supplier Pro		
M4-TS01001-66	Base Bid: Tactile Warning Device - First Offer	\$39.00	2095 / square foot	\$81,705.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-67	Base Bid: Solid Slab Sodding - First Offer	\$5.00	10400 / square yard	\$52,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-68	Base Bid: Sediment And Erosion Control - First Offer	\$67,500.00	1 / lump sum	\$67,500.00
Product Code: Agency Notes:		Supplier Pro Supplier No	tes:	
M4-TS01001-69	Base Bid: Groundbreaking Ceremony - First Offer	\$5,000.00		\$5,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No	tes:	
	11	11.74.5.2	Lot Total: \$2,	
Item # M4-TS01002-01	Line Item Alternate No. 1: Traffic Bound Surface Course Type E - First Offer	Unit Price \$80.00	Qty/Unit 245 / cubic yard	Total Price \$19,600.00
Product Code: Agency Notes:	·	Supplier Pro	oduct Code:	\$19,000.00
M4-TS01002-02	Alternate No. 1: Remove Pavement (Varies) - First Offer	\$13.00	104 / square yard	\$1,352.00
Product Code: Agency Notes:		Supplier Pro	oduct Code:	, , , , , , , , , , , , , , , , , , , ,
M4-TS01002-03	Alternate No. 1: Remove Sidewalk - First Offer	\$11.00	1358 / square yard	\$14,938.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01002-04	Alternate No. 1: Remove Curb And Gutter - First Offer	\$10.00	266 / linear foot	\$2,660.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01002-05	Alternate No. 1: Remove Driveway - First Offer	\$11.75	1052 / square yard	\$12,361.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01002-06	Alternate No. 1: Adjust Existing Structure (Manholes) - First Offer	\$2,200.00	1 / each	\$2,200.00
Product Code: Agency Notes:		Supplier Pro Supplier No	ites:	
M4-TS01002-07	Alternate No. 1: Adjust Existing Structure (Hydrant) - First Offer	\$4,400.00	1 / each	\$4,400.00

Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01002-08	Alternate No. 1: Adjust Existing Structure (Meters) - First Offer	\$2,950.00	2 / each	\$5,900.00
Product Code: Agency Notes:		Supplier Pro	duct Code:	13,233,33
M4-TS01002-09	Alternate No. 1: Adjust Existing Structure (Valves) - First Offer	\$3,000.00	2 / each	\$6,000.00
Product Code: Agency Notes:	, ,	Supplier Pro Supplier Not		· ·
M4-TS01002-10	Alternate No. 1: Adjust Existing Structure (Clean Out) - First Offer	\$3,550.00	1 / each	\$3,550.00
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01002-11	Alternate No. 1: Adjust Existing Structure (Pull Box) - First Offer	\$610.00	2 / each	\$1,220.00
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01002-12	Alternate No. 1: Remove & Reset Sign - First Offer	\$700.00	2 / each	\$1,400.00
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01002-13	Alternate No. 1: Sidewalk (4 Inch) - First Offer	\$42.50	2039 / square yard	\$86,657.50
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01002-14	Alternate No. 1: Driveway (6 Inch) - First Offer	\$72.50	1089 / square yard	\$78,952.50
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01002-15	Alternate No. 1: Ada Curb Ramp (8 Inch) - First Offer	\$83.50	186 / square yard	\$15,531.00
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01002-16	Alternate No. 1: Remove And Reconstruct Fence - First Offer	\$138.50	50 / linear foot	\$6,925.00
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01002-17	Alternate No. 1: Tactile Warning Device - First Offer	\$39.00	330 / square foot	\$12,870.00
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01002-18	Alternate No. 1: Solid Slab Sodding - First Offer	\$5.00	1700 / square yard	\$8,500.00
Product Code: Agency Notes:		Supplier Pro Supplier Not		
				\$285,017.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
M4-TS01003-01	Alternate No. 2: Traffic Bound Surface Course Type E - First Offer		92 / cubic yard	\$7,360.00
Product Code: Agency Notes:		Supplier Pro Supplier Not	tes:	
M4-TS01003-02	Alternate No. 2: Variable Height Curb (6 Inch Barrier) - First Offer	\$40.00	80 / linear foot	\$3,200.00
Product Code: Agency Notes:		Supplier Pro Supplier Not	tes:	
M4-TS01003-03 Product Code:	Alternate No. 2: 2 Inch Traffic Signal Conduit (Trenched) - First Offer	\$36.75 Supplier Pro	90 / linear foot duct Code:	\$3,307.50
Agency Notes:		Supplier Not		
M4-TS01003-04	Alternate No. 2: Two Conductor Shielded Loop Detector Lead-In Cable - First Offer	\$3.00	180 / linear foot	\$540.00
		C	dust Cada	
Product Code: Agency Notes:		Supplier Pro Supplier Not		
	Alternate No. 2: (5) Conductor Traffic Signal Electrical Cable - First Offer			\$4,312.50
Agency Notes:	Alternate No. 2: (5) Conductor Traffic Signal Electrical Cable - First Offer	Supplier Not	750 / linear foot duct Code:	\$4,312.50
Agency Notes: M4-TS01003-05 Product Code:	Alternate No. 2: (5) Conductor Traffic Signal Electrical Cable - First Offer	\$5.75 Supplier Pro	750 / linear foot duct Code:	\$4,312.50 \$1,852.50
Agency Notes: M4-TS01003-05 Product Code: Agency Notes:	Alternate No. 2: (5) Conductor Traffic Signal Electrical Cable - First Offer Alternate No. 2: (7) Conductor Traffic Signal Electrical Cable - First Offer	\$5.75 Supplier Pro Supplier Not	tes: 750 / linear foot duct Code: tes: 190 / linear foot duct Code:	
Agency Notes: M4-TS01003-05 Product Code: Agency Notes: M4-TS01003-06 Product Code:	Alternate No. 2: (5) Conductor Traffic Signal Electrical Cable - First Offer Alternate No. 2: (7) Conductor Traffic Signal Electrical Cable - First Offer	\$5.75 \$Supplier Not \$5.75 \$Supplier Pro Supplier Not \$9.75 \$Supplier Pro	tes: 750 / linear foot duct Code: tes: 190 / linear foot duct Code:	
Agency Notes: M4-TS01003-05 Product Code: Agency Notes: M4-TS01003-06 Product Code: Agency Notes:	Alternate No. 2: (5) Conductor Traffic Signal Electrical Cable - First Offer Alternate No. 2: (7) Conductor Traffic Signal Electrical Cable - First Offer Alternate No. 2: Pedestrian Signal Head - First Offer	\$5.75 Supplier Pro Supplier Not \$9.75 Supplier Pro Supplier Not	tes: 750 / linear foot duct Code: tes: 190 / linear foot duct Code: tes: 8 / each duct Code:	\$1,852.50

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-09	Alternate No. 2: Pedestal Pole With 10 Ft. Mounting Height - First Offer	\$1,275.00 5 / each	\$6,375.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-10	Alternate No. 2: Structural Concrete - First Offer	\$3,750.00 1.5 / cubic	yard \$5,625.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-11	Alternate No. 2: Reinforcing Steel - First Offer	\$3.00 111.5/pou	und \$334.50
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-12	Alternate No. 2: Pull Box Type Ii - First Offer		\$8,400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-13	Alternate No. 2: Sheet Aluminum Signs - First Offer		uare foot \$5,756.20
Product Code:	5	Supplier Product Code:	
Agency Notes:		Supplier Notes:	
M4-TS01003-14	Alternate No. 2: Remove Existing Sign - First Offer	\$104.00 21 / each	\$2,184.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-15	Alternate No. 2: Square Steel Sign Post - First Offer	\$17.75 210 / linea	r foot \$3,727.50
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-16	Alternate No. 2: Traffic Stripe (Plastic)(4 Inch Wide) - First Offer	\$3.25 7820 / line	ar foot \$25,415.00
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
M4-TS01003-17	Alternate No. 2: Traffic Stripe (Plastic)(Arrows)(Single) - First Offer		\$2,400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-18	Alternate No. 2: Traffic Stripe (Plastic Tape)(Arrows)(Double) - First Offer	\$450.00 3 / each	\$1,350.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-19	Alternate No. 2: Traffic Stripe (Plastic Tape)(Symbols) - First Offer	\$475.00 4 / each	\$1,900.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-20	Alternate No. 2: Traffic Stripe (Plastic)(8 Inch Wide) - First Offer	\$16.75 30 / linear	foot \$502.50
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-21	Alternate No. 2: Radar Detection System (Advance Sensors) - First Offer	\$12,375.00 2 / each	\$24,750.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-22	Alternate No. 2: Radar Detection System (Presence Sensors) - First Offer	\$11,550.00 4 / each	\$46,200.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-23	Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer	\$11,650.00 1 / each	\$11,650.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-24	Alternate No. 2: Radar Detector Cable - First Offer	\$4.25 1540 / line	ar foot \$6,545.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	·
M4-TS01003-25	Alternate No. 2: Remove Sidewalk - First Offer	\$11.00 171 / squa	re yard \$1,881.00
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
M4-TS01003-26	Alternate No. 2: Remove Curb And Gutter - First Offer		r foot \$1,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-27	Alternate No. 2: Remove Driveway - First Offer	\$11.75 386 / squa	re yard \$4,535.50
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-28	Alternate No. 2: Remove Pavement Markings - First Offer	\$2.00 2300 / line	ar foot \$4,600.00

				\$319,488.70
Product Code: Agency Notes:		Supplier Pro- Supplier Not		
M4-TS01003-41	Alternate No. 2: Solid Slab Sodding - First Offer	\$5.00	750 / square yard	\$3,750.00
Product Code: Agency Notes:		Supplier Pro Supplier Not	tes:	1
M4-TS01003-40	Alternate No. 2: Tactile Warning Device - First Offer	\$39.00	90 / square foot	\$3,510.00
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01003-39	Alternate No. 2: Remove And Reconstruct Fence - First Offer	\$138.50	50 / linear foot	\$6,925.00
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01003-38	Alternate No. 2: Ada Curb Ramp (8 Inch) - First Offer	\$83.50	80 / square yard	\$6,680.00
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01003-37	Alternate No. 2: Driveway (6 Inch) - First Offer	\$72.50	379 / square yard	\$27,477.50
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01003-36	Alternate No. 2: Sidewalk (4 Inch) - First Offer	\$42.50	817 / square yard	\$34,722.50
Product Code: Agency Notes:		Supplier Pro- Supplier Not		
M4-TS01003-35	Alternate No. 2: Remove & Reset Sign - First Offer	\$700.00	2 / each	\$1,400.00
Product Code: Agency Notes:	,	Supplier Pro	duct Code:	, , , , , , , , , , , , , , , , , , , ,
M4-TS01003-34	Alternate No. 2: Adjust Existing Structure (Pull Box) - First Offer	\$610.00	2 / each	\$1,220.00
Product Code: Agency Notes:		Supplier Pro		
M4-TS01003-33	Alternate No. 2: Adjust Existing Structure (Clean Out) - First Offer	\$3,500.00	1 / each	\$3,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS01003-32	Alternate No. 2: Adjust Existing Structure (Valves) - First Offer	\$3,000.00	2 / each	\$6,000.00
Product Code: Agency Notes:		Supplier Pro Supplier Not		
M4-TS01003-31	Alternate No. 2: Adjust Existing Structure (Meters) - First Offer	\$2,950.00	2 / each	\$5,900.00
Product Code: Agency Notes:		Supplier Pro- Supplier Not		
M4-TS01003-30	Alternate No. 2: Adjust Existing Structure (Hydrant) - First Offer	\$4,500.00	1 / each	\$4,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS01003-29	Alternate No. 2: Adjust Existing Structure (Manholes) - First Offer	\$2,200.00	1 / each	\$2,200.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

CGC, LLC \$3,589,232.00 (128/128 items)

Bid Contact Jimmie Wright

travis@cgcbuilds.com Ph 405-285-8871 Fax 405-285-8872

Qualifications **OKC PRE-QUALIFIED CONTRACTORS**

Address 101 W.5th St Edmond, OK 73003

Agency Notes:		Supplier No	tes:		
Item#	Line Item	Unit Price	nit Price Qty/Unit Total		
M4-TS01001-01	Base Bid: Traffic Bound Surface Course Type E - First Offi	r \$141.00	1308 / cubic yard	\$184,428.00	
Product Code: Agency Notes:		Supplier No	Supplier Product Code: Supplier Notes: Bid Bond Attached		
M4-TS01001-02	Base Bid: Curb & Gutter (2 Foot-8 Inch) (6 Inch Barrier) - First Off	r \$145.00	41 / linear foot	\$5,945.00	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:		

M4-TS01001-03	Base Bid: Curb & Gutter (2 Foot-8 Inch) (8 Inch Barrier) - First Offer	\$42.00	217 / linear foot	\$9,114.00
Product Code:		Supplier Pro		
Agency Notes: M4-TS01001-04	Base Bid: Curb & Gutter (2 Foot-8 Inch) (4 Inch Mountable) - First Offer	Supplier No \$33.00	1660 / linear foot	\$54,780.00
Product Code:	base bid. Curb & Gutter (2 Poot-8 Intri) (4 Intri Modificable) - First Offer	Supplier Pro	oduct Code:	354,780.00
Agency Notes:		Supplier No		1
M4-TS01001-05	Base Bid: Variable Height Curb (6 Inch Barrier) - First Offer	_	1500 / linear foot	\$67,500.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-06	Base Bid: (RCP) Storm Sewer (18 Inch) - First Offer	\$78.00	29 / linear foot	\$2,262.00
Product Code: Agency Notes:		Supplier Pro		
M4-TS01001-07	Base Bid: Design 2-0 Inlet - First Offer		2 / each	\$8,600.00
Product Code:	U	Supplier Pro	duct Code:	,
Agency Notes:		Supplier No	tes:	
M4-TS01001-08	Base Bid: Relocate Fire Hydrant - First Offer	\$5,000.00	1 / each	\$5,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-09	Base Bid: 2 Inch Traffic Signal Conduit (Trenched) - First Offer	\$31.00	190 / linear foot	\$5,890.00
Product Code:		Supplier Pro		•
Agency Notes:		Supplier No		1
M4-TS01001-10	Base Bid: 2 Inch Traffic Signal Conduit (Bored) - First Offer	_	60 / linear foot	\$2,340.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-11	Base Bid: 3 Inch Traffic Signal Conduit (Trenched) - First Offer		50 / linear foot	\$1,850.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-12	Base Bid: 3 Inch Traffic Signal Conduit (Bored) - First Offer	\$73.00	90 / linear foot	\$6,570.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-13	Base Bid: Two Conductor Shielded Loop Detector Lead-In Cable - First Offer		770 / linear foot	\$5,390.00
Product Code:	base bid. Two Conductor Silielded Loop Detector Lead-In Cable - Hist Offer	Supplier Pro		Ψ3,390.00
Agency Notes:		Supplier No		
M4-TS01001-14	Base Bid: (5) Conductor Traffic Signal Electrical Cable - First Offer	\$8.00	1560 / linear foot	\$12,480.00
Product Code: Agency Notes:		Supplier Pro		
M4-TS01001-15	Base Bid: (7) Conductor Traffic Signal Electrical Cable - First Offer	 	220 / linear foot	\$1,980.00
Product Code: Agency Notes:		Supplier Pro	oduct Code:	
M4-TS01001-16	Base Bid: (21) Conductor Traffic Signal Electrical Cable - First Offer		110 / linear foot	\$1,650.00
Product Code:	base sid. (21) conductor Traine signal electrical casice. This content	Supplier Pro	oduct Code:	¥1,030.00
Agency Notes: M4-TS01001-17	Base Bid: (1/C) (Awg No.6) Electrical Conductor - First Offer	Supplier No \$4.00	50 / linear foot	\$200.00
Product Code:	base bld. (17-c) (Awg 140.0) Electrical confidence in 1835 Offer	Supplier Pro	l .	\$200.00
Agency Notes:		Supplier No		
M4-TS01001-18	Base Bid: Three (3) Section Traffic Signal Head - First Offer	\$1,125.00	3 / each	\$3,375.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-19	Base Bid: Pedestrian Signal Head - First Offer		34 / each	\$34,000.00
Product Code:		Supplier Pro		
Agency Notes: M4-TS01001-20	Base Bid: Pedestrian Push Button And Sign - First Offer	Supplier No \$1,800.00	tes: 34 / each	\$61,200.00
Product Code:	base biu. r cuesu ian r ush bullon Anu sign - Filst Onel	Supplier Pro		Ψ01,200.00
Agency Notes:		Supplier No		
M4-TS01001-21	Base Bid: Pedestrian Push Button And Pole - First Offer	_	1 / each	\$5,500.00
Product Code:		Supplier Pro Supplier No		
Agency Notes: M4-TS01001-22	Base Bid: Pedestal Pole With 10 Ft. Mounting Height - First Offer		12 / each	\$25,200.00
Product Code:	0 0	Supplier Pro		1
Agency Notes:		Supplier No		

M4-TS01001-23 Product Code:	Base Bid: Structural Concrete - First Offer	\$1,900.00 Supplier Pro	6.5 / cubic yard	\$12,350.00
Agency Notes:		Supplier No		
M4-TS01001-24	Base Bid: Reinforcing Steel - First Offer	\$5.00	704.2 / pound	\$3,521.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-25	Base Bid: Pull Box Type II - First Offer	\$1,900.00	13 / each	\$24,700.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-26	Base Bid: School Flashers - First Offer	\$13,000.00	4 / each	\$52,000.00
Product Code:		Supplier Pro		
Agency Notes: M4-TS01001-27	Paga Pidt Chaot Aluminum Cigne First Offer	Supplier No \$60.00	411.27 / square foot	¢24 676 20
Product Code:	Base Bid: Sheet Aluminum Signs - First Offer	Supplier Pro		\$24,676.20
Agency Notes:		Supplier No		
M4-TS01001-28	Base Bid: Remove Existing Sign - First Offer	\$92.00	49 / each	\$4,508.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-29	Base Bid: Square Steel Sign Post - First Offer	\$16.00	819.5 / linear foot	\$13,112.00
Product Code:		Supplier Pro		
Agency Notes:		Supplier No		#00 005 03
M4-TS01001-30 Product Code: Agency Notes:	Base Bid: Traffic Stripe (Plastic)(4 Inch Wide) - First Offer	\$3.00 Supplier Pro Supplier No		\$88,905.00
M4-TS01001-31	Base Bid: Traffic Stripe (Plastic)(Arrows)(Single) - First Offer	\$350.00	13 / each	\$4,550.00
Product Code: Agency Notes:	base sharrantesaripe (riastas), arrange, mist shar	Supplier Pro	oduct Code:	+ 1,556.66
M4-TS01001-32	Base Bid: Traffic Stripe (Plastic Tape)(Symbols) - First Offer	\$400.00	12 / each	\$4,800.00
Product Code:		Supplier Pro		
Agency Notes:		Supplier No		1.
M4-TS01001-33	Base Bid: Traffic Stripe (Plastic)(8 Inch Wide) - First Offer	\$15.00	2820 / linear foot	\$42,300.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-34	Base Bid: Radar Detection System (Advance Sensors) - First Offer		6 / each	\$63,000.00
Product Code: Agency Notes:		Supplier Pro		
M4-TS01001-35	Base Bid: Radar Detection System (Presence Sensors) - First Offer		12 / each	\$120,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No		'
M4-TS01001-36	Base Bid: Radar Cabinet Interface (Model 656) - First Offer	\$9,200.00	3 / each	\$27,600.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-37	Base Bid: Radar Detector Cable - First Offer	\$7.00	2420 / linear foot	\$16,940.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-38	Base Bid: G.P.S. As-Built Survey - First Offer	\$7,500.00	1 / lump sum	\$7,500.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-39	Base Bid: Construction Staking (Construction Survey) - First Offer	\$15,000.00	1 / lump sum	\$15,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-40	Base Bid: Color Audio/Video Recording, Pre & Post Construction (Recorded Digitally On DVD) - First Offer	\$5,000.00	1 / lump sum	\$5,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-41	Base Bid: Construction Signing And Traffic Control - First Offer	\$100,000.00	1 / lump sum	\$100,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-42	Base Bid: Mobilization - First Offer	\$155,000.00	1 / lump sum	\$155,000.00

Product Code: Agency Notes:		Supplier Pro		
M4-TS01001-43	Base Bid: Clearing And Grubbing - First Offer		1 / lump sum	\$20,000.00
Product Code:	Base Bid. Cleaning/ind Grassing Trist Orien		oduct Code:	420,000.00
Agency Notes:		Supplier No		
M4-TS01001-44	Base Bid: Removal Of Structures & Obstructions - First Offer	\$20,000.00	1 / lump sum	\$20,000.00
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:	
M4-TS01001-45	Base Bid: Structure Removal (Inlet) - First Offer	\$600.00	2 / each	\$1,200.00
Product Code: Agency Notes:		Supplier Pro	oduct Code:	
M4-TS01001-46	Base Bid: Structure Removal (Traffic Signal Equipment) - First Offer	\$5,900.00	1 / lump sum	\$5,900.00
Product Code:		Supplier Pro	oduct Code:	
Agency Notes: M4-TS01001-47	Base Bid: Remove Pavement (Varies) - First Offer	\$12.00	1790 / square yard	\$21,480.00
Product Code:	Base Bid. Remove Pavement (varies) - First Offer		oduct Code:	\$21,480.00
Agency Notes:		Supplier No		
M4-TS01001-48	Base Bid: Remove Sidewalk - First Offer	\$12.00	2672 / square yard	\$32,064.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01001-49	Base Bid: Remove Curb And Gutter - First Offer	\$12.00	3700 / linear foot	\$44,400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS01001-50	Base Bid: Remove Driveway - First Offer		3523 / square yard	\$42,276.00
Product Code: Agency Notes:		Supplier Pro		
M4-TS01001-51	Base Bid: Pavement Cut & Permanent Repair - First Offer		720 / square yard	\$68,400.00
Product Code: Agency Notes:	Substitution of the control of the c		oduct Code:	+ 00, 100,00
M4-TS01001-52	Base Bid: Remove Pavement Marking - First Offer	\$2.00	16500 / linear foot	\$33,000.00
Product Code:			oduct Code:	
Agency Notes:		Supplier No		1
M4-TS01001-53	Base Bid: Adjust Existing Structure (Manholes) - First Offer	\$1,000.00	5 / each	\$5,000.00
Product Code: Agency Notes:		Supplier No	oduct Code: otes:	
M4-TS01001-54	Base Bid: Adjust Existing Structure (Hydrant) - First Offer	\$1,500.00	1 / each	\$1,500.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01001-55	Base Bid: Adjust Existing Structure (Meters) - First Offer	\$300.00	6 / each	\$1,800.00
Product Code:			oduct Code:	
Agency Notes:		Supplier No		T
M4-TS01001-56	Base Bid: Adjust Existing Structure (Valves) - First Offer	\$300.00	6 / each	\$1,800.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01001-57	Base Bid: Adjust Existing Structure (Clean Out) - First Offer		3 / each	\$900.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01001-58	Base Bid: Adjust Existing Structure (Pull Box) - First Offer		6 / each	\$9,000.00
Product Code:			oduct Code:	
Agency Notes:		Supplier No		
M4-TS01001-59	Base Bid: Remove & Reset Sign - First Offer	\$650.00	16 / each	\$10,400.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-60	Base Bid: Remove & Reset Signal Equipment - First Offer	\$6,000.00	1 / lump sum	\$6,000.00
Product Code:			oduct Code:	
Agency Notes:	B 8151 144 15 = -*	Supplier No		#c07.575.55
M4-TS01001-61	Base Bid: Sidewalk (4 Inch) - First Offer	\$55.00	12685 / square yard	\$697,675.00
			oduct Code:	

M4-TS01001-62	Base Bid: Driveway (6 Inch) - First Offer	\$78.00	3434 / square yard	\$267,852.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-63	Base Bid: Ada Curb Ramp (8 Inch) - First Offer	\$106.00	1632 / square yard	\$172,992.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-64	Base Bid: Handrail - First Offer	\$125.00	12 / linear foot	\$1,500.00
Product Code:		Supplier Pro		
Agency Notes:		Supplier No		I
M4-TS01001-65	Base Bid: Remove And Reconstruct Fence - First Offer	\$40.00	1000 / linear foot	\$40,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-66	Base Bid: Tactile Warning Device - First Offer	\$35.00	2095 / square foot	\$73,325.00
Product Code:		Supplier Pro		,
Agency Notes:		Supplier No		
M4-TS01001-67	Base Bid: Solid Slab Sodding - First Offer	\$5.00	10400 / square yard	\$52,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-68	Base Bid: Sediment And Erosion Control - First Offer		1 / lump sum	\$37,000.00
Product Code:		Supplier Pro	'	457,000.00
Agency Notes:		Supplier No		
M4-TS01001-69	Base Bid: Groundbreaking Ceremony - First Offer	\$10,000.00	1 / lump sum	\$10,000.00
Product Code:		Supplier Pro		
Agency Notes:		Supplier No		
	P	11.25 8.3	Lot Total: \$	i i
Item #	Line Item	Unit Price	Qty/Unit	Total Price
M4-TS01002-01 Product Code:	Alternate No. 1: Traffic Bound Surface Course Type E - First Offer	\$141.00 Supplier Pro	245 / cubic yard	\$34,545.00
Agency Notes:		Supplier No		
M4-TS01002-02	Alternate No. 1: Remove Pavement (Varies) - First Offer	\$12.00	104 / square yard	\$1,248.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01002-03	Alternate No. 1: Remove Sidewalk - First Offer	\$12.00	1358 / square yard	\$16,296.00
Product Code:		Supplier Pro		
Agency Notes:		Supplier No		
M4-TS01002-04	Alternate No. 1: Remove Curb And Gutter - First Offer	\$12.00	266 / linear foot	\$3,192.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01002-05	Alternate No. 1: Remove Driveway - First Offer	\$12.00	1052 / square yard	\$12,624.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01002-06	Alternate No. 1: Adjust Existing Structure (Manholes) - First Offer	\$1,000.00	1 / each	\$1,000.00
Product Code:		Supplier Pro		
Agency Notes:		Supplier No		
M4-TS01002-07	Alternate No. 1: Adjust Existing Structure (Hydrant) - First Offer	\$1,500.00	1 / each	\$1,500.00
Product Code: Agency Notes:		Supplier Pro Supplier No		1
M4-TS01002-08	Alternate No. 1: Adjust Existing Structure (Meters) - First Offer	\$300.00	2 / each	\$600.00
Product Code:		Supplier Pro		
Agency Notes: M4-TS01002-09	Alternate No. 1. Adjust Existing Structure Alahoe). First Office	Supplier No \$300.00	tes: 2 / each	\$600.00
Product Code:	Alternate No. 1: Adjust Existing Structure (Valves) - First Offer	Supplier Pro		100.000
Agency Notes:		Supplier No		
M4-TS01002-10	Alternate No. 1: Adjust Existing Structure (Clean Out) - First Offer	\$300.00	1 / each	\$300.00
Product Code: Agency Notes:		Supplier Pro		
M4-TS01002-11	Alternate No. 1: Adjust Existing Structure (Pull Box) - First Offer	\$1,500.00	2 / each	\$3,000.00
	, , , , , ,		1	1

Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01002-12	Alternate No. 1: Remove & Reset Sign - First Offer	\$650.00	2 / each	\$1,300.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01002-13	Alternate No. 1: Sidewalk (4 Inch) - First Offer	\$55.00	2039 / square yard	\$112,145.00
Product Code:		Supplier Pro Supplier No		
Agency Notes: M4-TS01002-14	Alternate No. 1: Driveway (6 Inch) - First Offer	\$78.00	1089 / square yard	\$84,942.00
Product Code:		Supplier Pro	oduct Code:	
Agency Notes: M4-TS01002-15		Supplier No \$106.00		¢10.716.00
Product Code:	Alternate No. 1: Ada Curb Ramp (8 Inch) - First Offer	Supplier Pro	186 / square yard	\$19,716.00
Agency Notes:		Supplier No		
M4-TS01002-16	Alternate No. 1: Remove And Reconstruct Fence - First Offer	\$40.00	50 / linear foot	\$2,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01002-17	Alternate No. 1: Tactile Warning Device - First Offer	\$35.00	330 / square foot	\$11,550.00
Product Code: Agency Notes:		Supplier Pro	oduct Code:	
M4-TS01002-18	Alternate No. 1: Solid Slab Sodding - First Offer	\$5.00	1700 / square yard	\$8,500.00
Product Code:		Supplier Pro		
Agency Notes:		Supplier No		\$315,058.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
M4-TS01003-01	Alternate No. 2: Traffic Bound Surface Course Type E - First Offer	\$141.00	92 / cubic yard	\$12,972.00
Product Code: Agency Notes:		Supplier Pro		
M4-TS01003-02	Alternate No. 2: Variable Height Curb (6 Inch Barrier) - First Offer	\$45.00	80 / linear foot	\$3,600.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01003-03	Alternate No. 2: 2 Inch Traffic Signal Conduit (Trenched) - First Offer	\$31.00	90 / linear foot	\$2,790.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01003-04	Alternate No. 2: Two Conductor Shielded Loop Detector Lead-In Cable - First Offer	\$7.00	180 / linear foot	\$1,260.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01003-05	Alternate No. 2: (5) Conductor Traffic Signal Electrical Cable - First Offer	\$8.00	750 / linear foot	\$6,000.00
Product Code: Agency Notes:		Supplier Pro		
M4-TS01003-06	Alternate No. 2: (7) Conductor Traffic Signal Electrical Cable - First Offer	\$9.00	190 / linear foot	\$1,710.00
Product Code: Agency Notes:		Supplier Pro		
M4-TS01003-07	Alternate No. 2: Pedestrian Signal Head - First Offer	\$1,000.00	8 / each	\$8,000.00
Product Code: Agency Notes:		Supplier Pro		'
M4-TS01003-08	Alternate No. 2: Pedestrian Push Button And Sign - First Offer	\$1,600.00	8 / each	\$12,800.00
Product Code: Agency Notes:		Supplier Pro		•
M4-TS01003-09	Alternate No. 2: Pedestal Pole With 10 Ft. Mounting Height - First Offer	\$2,100.00	5 / each	\$10,500.00
Product Code:		Supplier Pro		
Agency Notes: M4-TS01003-10	Alternate No. 2: Structural Concrete - First Offer	Supplier No \$1,900.00	1.5 / cubic yard	\$2,850.00
Product Code: Agency Notes:		Supplier Pro	oduct Code:	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
M4-TS01003-11	Alternate No. 2: Reinforcing Steel - First Offer	\$5.00	111.5 / pound	\$557.50
		Supplier Pro		1
Product Code: Agency Notes:		Supplier No		

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-13	Alternate No. 2: Sheet Aluminum Signs - First Offer	\$62.00 84.65 / square foot \$5,24	48.30
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-14	Alternate No. 2: Remove Existing Sign - First Offer	\$95.00 21 / each \$1,99	95.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-15	Alternate No. 2: Square Steel Sign Post - First Offer	\$16.00 210 / linear foot \$3,30	60.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-16	Alternate No. 2: Traffic Stripe (Plastic)(4 Inch Wide) - First Offer		60.00
Product Code: Agency Notes:	, i i i i i i i i i i i i i i i i i i i	Supplier Product Code: Supplier Notes:	
M4-TS01003-17	Alternate No. 2: Traffic Stripe (Plastic)(Arrows)(Single) - First Offer		00.00
Product Code:	Attendition 2. Traine stripe (Hastie), Wrows, Single) This offer	Supplier Product Code:	00.00
Agency Notes:		Supplier Notes:	
M4-TS01003-18	Alternate No. 2: Traffic Stripe (Plastic Tape)(Arrows)(Double) - First Offer	\$400.00 3 / each \$1,20	00.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-19	Alternate No. 2: Traffic Stripe (Plastic Tape)(Symbols) - First Offer	\$400.00 4 / each \$1,60	00.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-20	Alternate No. 2: Traffic Stripe (Plastic)(8 Inch Wide) - First Offer	\$15.00 30 / linear foot \$4	50.00
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
M4-TS01003-21	Alternate No. 2: Radar Detection System (Advance Sensors) - First Offer	\$10,500.00 2 / each \$21,00	00.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-22	Alternate No. 2: Radar Detection System (Presence Sensors) - First Offer	\$10,500.00 4 / each \$42,00	00.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-23	Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer	\$9,500.00 1 / each \$9,50	00.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-24	Alternate No. 2: Radar Detector Cable - First Offer	\$7.00 1540 / linear foot \$10,73	80.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-25	Alternate No. 2: Remove Sidewalk - First Offer	\$12.00 171 / square yard \$2,0	52.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-26	Alternate No. 2: Remove Curb And Gutter - First Offer	\$12.00 100 / linear foot \$1,20	00.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-27	Alternate No. 2: Remove Driveway - First Offer	\$12.00 386 / square yard \$4,65	32.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-28	Alternate No. 2: Remove Pavement Markings - First Offer	\$2.00 2300 / linear foot \$4,60	00.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-29	Alternate No. 2: Adjust Existing Structure (Manholes) - First Offer		00.00
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
M4-TS01003-30	Alternate No. 2: Adjust Existing Structure (Hydrant) - First Offer		00.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-31	Alternate No. 2: Adjust Existing Structure (Meters) - First Offer		00.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01003-32	Alternate No. 2: Adjust Existing Structure (Valves) - First Offer	\$300.00 2 / each \$60	00.00

			Lot Total	\$305,993.80	
Product Code: Agency Notes:		Supplier Pro Supplier No			
M4-TS01003-41	Alternate No. 2: Solid Slab Sodding - First Offer	\$5.00	750 / square yard	\$3,750.00	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:		
M4-TS01003-40	Alternate No. 2: Tactile Warning Device - First Offer	\$35.00	90 / square foot	\$3,150.00	
Product Code: Agency Notes:		Supplier Pro Supplier No			
M4-TS01003-39	Alternate No. 2: Remove And Reconstruct Fence - First Offer	\$40.00	50 / linear foot	\$2,000.00	
Product Code: Agency Notes:		Supplier Pro Supplier No			
M4-TS01003-38	Alternate No. 2: Ada Curb Ramp (8 Inch) - First Offer	\$106.00	80 / square yard	\$8,480.00	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:		
M4-TS01003-37	Alternate No. 2: Driveway (6 Inch) - First Offer	\$78.00	379 / square yard	\$29,562.00	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:		
M4-TS01003-36	Alternate No. 2: Sidewalk (4 Inch) - First Offer	\$55.00	817 / square yard	\$44,935.00	
Product Code: Agency Notes:			upplier Product Code: upplier Notes:		
M4-TS01003-35	Alternate No. 2: Remove & Reset Sign - First Offer	\$650.00	2 / each	\$1,300.00	
Product Code: Agency Notes:			upplier Product Code: upplier Notes:		
M4-TS01003-34	Alternate No. 2: Adjust Existing Structure (Pull Box) - First Offer	\$1,500.00	2 / each	\$3,000.00	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:		
M4-TS01003-33	Alternate No. 2: Adjust Existing Structure (Clean Out) - First Offer	\$300.00	1 / each	\$300.00	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:		

SAC Services \$3,700,099.817 (128/128 items)

Bid Contact Yime Favela Address **3600 S Ross Ave** Oklahoma City, OK 73119

arturo@sacservicesinc.com

Ph 405-682-4849

Qualifications **OKC PRE-QUALIFIED CONTRACTORS** Bid Bond (Status: Authorized on May 1, 2024)

Agency Notes:		Supplier No	tes:	
Item#	Line Item	Unit Price	Qty/Unit	Total Price
M4-TS01001-01	Base Bid: Traffic Bound Surface Course Type E - First Offer	\$85.00	1308 / cubic yard	\$111,180.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-02	Base Bid: Curb & Gutter (2 Foot-8 Inch) (6 Inch Barrier) - First Offer	\$36.00	41 / linear foot	\$1,476.00
Product Code: Agency Notes:			upplier Product Code: upplier Notes:	
M4-TS01001-03	Base Bid: Curb & Gutter (2 Foot-8 Inch) (8 Inch Barrier) - First Offer	\$34.00	217 / linear foot	\$7,378.00
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:	
M4-TS01001-04	Base Bid: Curb & Gutter (2 Foot-8 Inch) (4 Inch Mountable) - First Offer	\$30.00	1660 / linear foot	\$49,800.00
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:	
M4-TS01001-05	Base Bid: Variable Height Curb (6 Inch Barrier) - First Offer	\$38.00	1500 / linear foot	\$57,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
M4-TS01001-06	Base Bid: (RCP) Storm Sewer (18 Inch) - First Offer	\$75.00	29 / linear foot	\$2,175.00
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:	
M4-TS01001-07	Base Bid: Design 2-0 Inlet - First Offer	\$4,800.00	2 / each	\$9,600.00
Product Code:		Supplier Pro	oduct Code:	

Agency Notes:		Supplier Notes:	
M4-TS01001-08	Base Bid: Relocate Fire Hydrant - First Offer	\$12,900.00 1 / each	\$12,900.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01001-09	Base Bid: 2 Inch Traffic Signal Conduit (Trenched) - First Offer		\$5,462.50
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01001-10	Base Bid: 2 Inch Traffic Signal Conduit (Bored) - First Offer		\$2,208.00
Product Code: Agency Notes:	<u> </u>	Supplier Product Code: Supplier Notes:	
M4-TS01001-11	Base Bid: 3 Inch Traffic Signal Conduit (Trenched) - First Offer		\$1,725.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01001-12	Base Bid: 3 Inch Traffic Signal Conduit (Bored) - First Offer		\$6,210.00
Product Code:	<u> </u>	Supplier Product Code:	
Agency Notes:		Supplier Notes:	
M4-TS01001-13	Base Bid: Two Conductor Shielded Loop Detector Lead-In Cable - First Offer	\$5.75 770 / linear foot	\$4,427.50
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01001-14	Base Bid: (5) Conductor Traffic Signal Electrical Cable - First Offer	\$6.90 1560 / linear foot 5	\$10,764.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01001-15	Base Bid: (7) Conductor Traffic Signal Electrical Cable - First Offer	\$8.05 220 / linear foot	\$1,771.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01001-16	Base Bid: (21) Conductor Traffic Signal Electrical Cable - First Offer	\$13.80 110 / linear foot	\$1,518.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01001-17	Base Bid: (1/C) (Awg No.6) Electrical Conductor - First Offer	\$3.45 50 / linear foot	\$172.50
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01001-18	Base Bid: Three (3) Section Traffic Signal Head - First Offer	· · ·	\$3,139.50
Product Code: Agency Notes:	· · · · · · · · · · · · · · · · · · ·	Supplier Product Code: Supplier Notes:	
M4-TS01001-19	Base Bid: Pedestrian Signal Head - First Offer		\$32,062.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01001-20	Base Bid: Pedestrian Push Button And Sign - First Offer		\$55,964.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01001-21	Base Bid: Pedestrian Push Button And Pole - First Offer	\$5,175.00 1 / each	\$5,175.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01001-22	Base Bid: Pedestal Pole With 10 Ft. Mounting Height - First Offer	\$1,955.00 12 / each	\$23,460.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01001-23	Base Bid: Structural Concrete - First Offer	 	\$11,407.50
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01001-24	Base Bid: Reinforcing Steel - First Offer		\$2,816.80
Product Code: Agency Notes:	J	Supplier Product Code: Supplier Notes:	
M4-TS01001-25	Base Bid: Pull Box Type II - First Offer		\$22,815.00
Product Code: Agency Notes:	21	Supplier Product Code: Supplier Notes:	
M4-TS01001-26	Base Bid: School Flashers - First Offer		\$46,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
M4-TS01001-27	Base Bid: Sheet Aluminum Signs - First Offer		23,175.0645

Mar-1970-0-1-32	Product Code:		• • •	oduct Code:	
Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:					#C 425 00
Repairs Notes: Supplier		Base Bid: Remove Existing Sign - First Offe			\$6,125.00
Supplier Product Code:	Agency Notes:				
Agency Notes: Supplier Notes: Supplier Product Code: Supplier Product Code: Supplier Notes:	M4-TS01001-29	Base Bid: Square Steel Sign Post - First Offe	r \$15.00	819.5 / linear foot	\$12,292.50
MAI-TSID-0-130 Base Bid: Traffic Stripe (Plastic()4 mol Wide) - First Offer Product Code: Supplier Product Code: Supplier Notes: Well-1501-0-131 Base Bid: Traffic Stripe (Plastic()4/mows)(Single) - First Offer \$316.25 31/sech \$4,485.00	Product Code:				
Supplier Product Code: Supplier Product	Agency Notes:		Supplier No	otes:	
Agamon, Notes: Supplier Notes: Supplie	M4-TS01001-30				\$77,051.00
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: S	Product Code: Agency Notes:				
Maprong Notes: Base Bid: Traffic Stripe (Plastic Tape(Symbols) - First Offer \$373.75 2.7 each \$4.485.00	M4-TS01001-31	Base Bid: Traffic Stripe (Plastic)(Arrows)(Single) - First Offe	r \$316.25	13 / each	\$4,111.25
Main Store Product Code: Supplier Prod	Product Code:				
Product Code: Supplier Product Code: Supplier Notes: Supp					\$4.485.00
May-1001-01-32 Base Bid: Traffic Stripe (Plastic)(B) inch Wide) - First Offer \$13.80 \$20 \ Illiano floo \$38,916.00 \$38,		base bia. Halite stripe (Hasite TapeχDyrinbols) Trist one		12.444.	4-1,103.00
Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Notes	Agency Notes:				
Mar 1901	M4-TS01001-33	Base Bid: Traffic Stripe (Plastic)(8 Inch Wide) - First Offe	r \$13.80	2820 / linear foot	\$38,916.00
Mail	Product Code: Agency Notes:				
Agency Notes: M4-T3010-01-35 Base Bid: Radar Detection System (Presence Sensors) - First Offer 95,1777.00 12 / 2 e o o o o o o o o o o o o o o o o o o	M4-TS01001-34	i		1	\$57,408.00
M4-T5010-01-35 Base Bid: Radar Detection System (Presence Sensors) - First Offer Port Code: Supplier Product Code	Product Code:	•			
Product Code: Agency Notes: Supplier Product Code: Supplier Pro				1	\$110.124.00
Mar. 1501 0-01-36 Base Bid: Radar Cabinet Interface (Model 656) - First Offer \$8,682.50 3 / each \$26,047.50 \$2		Sub- Sid. Haddi Secentari System (reserve sensors) Trist one			4110,121.00
Supplier Product Code: Supplier Notes: Su	Agency Notes:				
Mar S01 O-01-37 Sase Bid: Radar Detector Cable - First Offer S5.75 2420 / linear foot \$13,915.00 Product Code: Supplier Notes: Supplier No	M4-TS01001-36	Base Bid: Radar Cabinet Interface (Model 656) - First Offe	r \$8,682.50	3 / each	\$26,047.50
Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	Product Code: Agency Notes:				
Agency Notes: Supplier Notes: \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	M4-TS01001-37	Base Bid: Radar Detector Cable - First Offe	\$5.75	2420 / linear foot	\$13,915.00
## 15,00.00 1 / lump sum	Product Code: Agency Notes:				
Agency Notes: Supplier Notes: Supplier Notes: \$26,490.00 1 / Jump sum \$26,490.00 \$27,400.00 \$27,400.00 \$27,400.00 \$27,400.00 \$27,400.00 \$27,400.00 \$27,400.00 \$27,400.00 \$27,400.00 \$28,200 \$28,200 \$28,200 \$28,200 \$28,200 \$28,200 \$28,200 \$28,200 \$28,200	M4-TS01001-38	Base Bid: G.P.S. As-Built Survey - First Offe	\$15,900.00	1 / lump sum	\$15,900.00
M4-TS010-01-39 Base Bid: Construction Staking (Construction Survey) - First Offer \$26,490.00 1 / lump sum \$26,490.00	Product Code:		Supplier Pr	oduct Code:	
Product Code: Supplier Notes: Supplier Not	Agency Notes:			otes:	
Agency Notes: Supplier Notes: Supplier Notes: M4-TS010-01-40 Base Bid: Color Audio/Video Recording, Pre & Post Construction (Recorded Digitally On DVD) - First Offer \$7,400.00 1 / Iump sum \$7,400.00 Product Code: Supplier Notes:					

Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01001-48	Base Bid: Remove Sidewalk - First Offe		2672 / square yard	\$26,720.00
Product Code: Agency Notes:			oduct Code:	
M4-TS01001-49	Base Bid: Remove Curb And Gutter - First Offe	r \$8.00	3700 / linear foot	\$29,600.00
Product Code: Agency Notes:			upplier Product Code: upplier Notes:	
M4-TS01001-50	Base Bid: Remove Driveway - First Offe	\$14.00	3523 / square yard	\$49,322.00
Product Code:	-	Supplier Pro	oduct Code:	
Agency Notes: M4-TS01001-51	Base Bid: Pavement Cut & Permanent Repair - First Offe	Supplier No r \$123.00	720 / square yard	\$88.560.00
Product Code: Agency Notes:	base sid. I avenient cat a Fernancia repair Trist one		oduct Code:	400,500.00
M4-TS010-01-52	Base Bid: Remove Pavement Marking - First Offe		16500 / linear foot	\$19,800.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01001-53	Base Bid: Adjust Existing Structure (Manholes) - First Offe	r \$780.00	5 / each	\$3,900.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS010-01-54	Base Bid: Adjust Existing Structure (Hydrant) - First Offe	r \$1,800.00	1 / each	\$1,800.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS010-01-55	Base Bid: Adjust Existing Structure (Meters) - First Offe	r \$300.00	6 / each	\$1,800.00
Product Code:		Supplier Product Code:		
Agency Notes:	D. Dilati is in St. and A. S. 1906	Supplier Notes:		** ***
M4-TS01001-56 Product Code:	Base Bid: Adjust Existing Structure (Valves) - First Offe		6 / each	\$1,800.00
Agency Notes:		Supplier No		
M4-TS01001-57	Base Bid: Adjust Existing Structure (Clean Out) - First Offe	r \$300.00	3 / each	\$900.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS01001-58	Base Bid: Adjust Existing Structure (Pull Box) - First Offe	r \$550.00	6 / each	\$3,300.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-59	Base Bid: Remove & Reset Sign - First Offe	\$575.00	16 / each	\$9,200.00
Product Code: Agency Notes:		Supplier No	I	
M4-TS010-01-60	Base Bid: Remove & Reset Signal Equipment - First Offe	r\$121,806.00	1 / lump sum	\$121,806.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS010-01-61	Base Bid: Sidewalk (4 Inch) - First Offe	\$70.00	12685 / square yard	\$887,950.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS010-01-62	Base Bid: Driveway (6 Inch) - First Offe	\$87.50	3434 / square yard	\$300,475.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS010-01-63	Base Bid: Ada Curb Ramp (8 Inch) - First Offe	r \$102.00	1632 / square yard	\$166,464.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS010-01-64	Base Bid: Handrail - First Offer		12 / linear foot	\$2,400.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS010-01-65	Base Bid: Remove And Reconstruct Fence - First Offe		1000 / linear foot	\$42,600.00
Product Code:			oduct Code:	
Agency Notes: M4-TS01001-66	Base Bid: Tactile Warning Device - First Offe	Supplier No s35.00	2095 / square foot	\$73,325.00
Product Code:	base blu, ractile warriing bevice - First Offe		oduct Code:	#13,323.UU
		-abbust tit		

M4-TS01001-67	Base Bid: Solid Slab Sodding - First Offe	\$4.60	10400 / square yard	\$47,840.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-68	Base Bid: Sediment And Erosion Control - First Offe	r\$30,100.00	1 / lump sum	\$30,100.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01001-69	Base Bid: Groundbreaking Ceremony - First Offe		1 / lump sum	\$3,500.00
Product Code: Agency Notes:	,	Supplier Product Code: Supplier Notes:		
Agency Notes.		Supplier 140	Lot Total: \$3,	066,917.6145
Item #	Line Item	Unit Price	Qty/Unit	Total Price
M4-TS01002-01	Alternate No. 1: Traffic Bound Surface Course Type E - First Offe	r \$85.00	245 / cubic yard	\$20,825.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS01002-02	Alternate No. 1: Remove Pavement (Varies) - First Offe			
Product Code:		Supplier Product Code:		
Agency Notes:	i	Supplier No		
M4-TS01002-03	Alternate No. 1: Remove Sidewalk - First Offe		1358 / square yard	\$13,580.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01002-04	Alternate No. 1: Remove Curb And Gutter - First Offe	r \$8.00	266 / linear foot	\$2,128.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS010-02-05	Alternate No. 1: Remove Driveway - First Offe	s14.00	1052 / square yard	\$14,728.00
Product Code:			oduct Code:	
Agency Notes:		Supplier No		
M4-TS010-02-06	Alternate No. 1: Adjust Existing Structure (Manholes) - First Offe		1 / each	\$780.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS01002-07	Alternate No. 1: Adjust Existing Structure (Hydrant) - First Offe	r \$1,800.00	1 / each	\$1,800.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS010-02-08	Alternate No. 1: Adjust Existing Structure (Meters) - First Offe	r \$300.00	2 / each	\$600.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS01002-09	Alternate No. 1: Adjust Existing Structure (Valves) - First Offe	r \$300.00	2 / each	\$600.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS010-02-10	Alternate No. 1: Adjust Existing Structure (Clean Out) - First Offe	r \$300.00	1 / each	\$300.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS010-02-11	Alternate No. 1: Adjust Existing Structure (Pull Box) - First Offe		2/each	\$1,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS010-02-12	Alternate No. 1: Remove & Reset Sign - First Offe		2/each	\$1,150.00
Product Code: Agency Notes:			oduct Code:	
M4-TS01002-13	Alternate No. 1: Sidewalk (4 Inch) - First Offe		2039 / square yard	\$142,730.00
Product Code:			oduct Code:	
Agency Notes: M4-TS01002-14	Alternate No. 1: Driveway (6 Inch) - First Offe	Supplier No \$87.50	1089 / square yard	\$95,287.50
Product Code:	Alternate No. 1. Diveway (olindi) - historie		oduct Code:	\$95,267.50
Agency Notes:		Supplier Notes:		
M4-TS01002-15	Alternate No. 1: Ada Curb Ramp (8 Inch) - First Offe	r \$102.00	186 / square yard	\$18,972.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01002-16	Alternate No. 1: Remove And Reconstruct Fence - First Offe		50 / linear foot	\$1,750.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS010-02-17	Alternate No. 1: Tactile Warning Device - First Offe		330 / square foot	\$11,550.00

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
M4-TS010-02-18	Alternate No. 1: Solid Slab Sodding - First Offe	\$4.60	1700 / square yard	\$7,820.00	
Product Code:			oduct Code:		
Agency Notes:		Supplier No		. #227 056 50	
14am #	Line News	Limit Duine		:\$337,056.50	
Item # M4-TS01003-01	Line Item Alternate No. 2: Traffic Bound Surface Course Type E - First Offe	Unit Price r \$85.00	Qty/Unit	*7,820.00	
Product Code:	Alternate No. 2. Tranic bound Surface Course Type E - First Offe		92 / cubic yard	\$7,020.00	
Agency Notes:		Supplier No			
M4-TS010-03-02	Alternate No. 2: Variable Height Curb (6 Inch Barrier) - First Offe	· · ·			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
M4-TS01003-03	Alternate No. 2: 2 Inch Traffic Signal Conduit (Trenched) - First Offe	r \$28.75	90 / linear foot	\$2,587.50	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
M4-TS01003-04	Alternate No. 2: Two Conductor Shielded Loop Detector Lead-In Cable - First Offe		180 / linear foot	\$1,035.00	
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:		
M4-TS010-03-05	Alternate No. 2: (5) Conductor Traffic Signal Electrical Cable - First Offe	r \$6.90	750 / linear foot	\$5,175.00	
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:		
M4-TS01003-06	Alternate No. 2: (7) Conductor Traffic Signal Electrical Cable - First Offe	r \$8.05	190 / linear foot	\$1,529.50	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
M4-TS01003-07	Alternate No. 2: Pedestrian Signal Head - First Offe	r \$943.00	8 / each	\$7,544.00	
Product Code:	-	Supplier Pro	oduct Code:		
Agency Notes:		Supplier No	tes:		
M4-TS01003-08	Alternate No. 2: Pedestrian Push Button And Sign - First Offe	-	8 / each	\$12,052.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
M4-TS01003-09	Alternate No. 2: Pedestal Pole With 10 Ft. Mounting Height - First Offe		5 / each	\$9,775.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
M4-TS01003-10	Alternate No. 2: Structural Concrete - First Offe	\$1,725.00	1.5 / cubic yard	\$2,587.50	
Product Code: Agency Notes:		Supplier Pro Supplier No			
M4-TS01003-11	Alternate No. 2: Reinforcing Steel - First Offe	\$3.95	111.5 / pound	\$440.425	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:		
M4-TS01003-12	Alternate No. 2: Pull Box Type li - First Offe	\$1,725.00 4 / each \$6,900.00			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
M4-TS01003-13	Alternate No. 2: Sheet Aluminum Signs - First Offe	r \$56.35	84.65 / square foot	\$4,770.0275	
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: etes:		
M4-TS01003-14	Alternate No. 2: Remove Existing Sign - First Offe	r \$125.00	21 / each	\$2,625.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
M4-TS010-03-15	Alternate No. 2: Square Steel Sign Post - First Offe	r \$14.70	210 / linear foot	\$3,087.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
M4-TS01003-16	Alternate No. 2: Traffic Stripe (Plastic)(4 Inch Wide) - First Offe	r \$2.60	7820 / linear foot	\$20,332.00	
Product Code: Agency Notes:		Supplier Pro Supplier No			
M4-TS01003-17	Alternate No. 2: Traffic Stripe (Plastic)(Arrows)(Single) - First Offe	r \$316.25	6 / each	\$1,897.50	
Product Code: Agency Notes:		Supplier Pro Supplier No			
M4-TS01003-18	Alternate No. 2: Traffic Stripe (Plastic Tape)(Arrows)(Double) - First Offe	r \$373.75	3 / each	\$1,121.25	

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS010-03-19	Alternate No. 2: Traffic Stripe (Plastic Tape)(Symbols) - First Offe	r \$373.75 4 / each \$1,495.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS01003-20	Alternate No. 2: Traffic Stripe (Plastic)(8 Inch Wide) - First Offe	r \$13.80 30 / linear foot \$414.00		
Product Code: Agency Notes:	, , , ,	Supplier Product Code: Supplier Notes:		
M4-TS010-03-21	Alternate No. 2: Radar Detection System (Advance Sensors) - First Offe	er \$9,568.00 2 / each \$19,136.00		
Product Code: Agency Notes:	,	Supplier Product Code: Supplier Notes:		
M4-TS01003-22	Alternate No. 2: Radar Detection System (Presence Sensors) - First Offe	er \$9,050.50 4 / each \$36,202.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS010-03-23	Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offe	.,		
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
M4-TS01003-24	Alternate No. 2: Radar Detector Cable - First Offe	r \$5.75 1540 / linear foot \$8,855.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS01003-25	Alternate No. 2: Remove Sidewalk - First Offe	r \$11.00 171 / square yard \$1,881.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS01003-26	Alternate No. 2: Remove Curb And Gutter - First Offe	r \$8.00 100 / linear foot \$800.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS010-03-27	Alternate No. 2: Remove Driveway - First Offe	r \$14.00 386 / square yard \$5,404.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS010-03-28	Alternate No. 2: Remove Pavement Markings - First Offe	r \$1.40 2300 / linear foot \$3,220.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS01003-29	Alternate No. 2: Adjust Existing Structure (Manholes) - First Offe	r \$780.00 1 / each \$780.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS01003-30	Alternate No. 2: Adjust Existing Structure (Hydrant) - First Offe	r \$1,800.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS010-03-31	Alternate No. 2: Adjust Existing Structure (Meters) - First Offe	r \$300.00 2 / each \$600.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS01003-32	Alternate No. 2: Adjust Existing Structure (Valves) - First Offe	r \$300.00 2 / each \$600.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS01003-33	Alternate No. 2: Adjust Existing Structure (Clean Out) - First Offe	r \$300.00 1 / each \$300.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS01003-34	Alternate No. 2: Adjust Existing Structure (Pull Box) - First Offe	r \$1,725.00 2 / each \$3,450.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS01003-35	Alternate No. 2: Remove & Reset Sign - First Offe	r \$575.00 2 / each \$1,150.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS010-03-36	Alternate No. 2: Sidewalk (4 Inch) - First Offe	r \$70.00 817 / square yard \$57,190.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS01003-37	Alternate No. 2: Driveway (6 Inch) - First Offe			
Product Code: Agency Notes:	• • •	Supplier Product Code: Supplier Notes:		
M4-TS010-03-38	Alternate No. 2: Ada Curb Ramp (8 Inch) - First Offe			

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS01003-39	Alternate No. 2: Remove And Reconstruct Fence - First Offe	r \$46.50	50 / linear foot	\$2,325.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS01003-40	Alternate No. 2: Tactile Warning Device - First Offe	r \$35.00	90 / square foot	\$3,150.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4-TS010-03-41	Alternate No. 2: Solid Slab Sodding - First Offe	r \$4.60	750 / square yard	\$3,450.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
			Lot Total:\$	296,125.7025

Parathon Construction LLC

\$4,374,434.56 (128/128 items)

Address EDMOND, OK 73083

parathonconstruction@gmail.com

Ph 405-605-6006

Qualifications O	KC PRE-QUALIFIED CONTRACTORS					
Agency Notes:			Supplier Notes:			
Item #	Line Item	Unit Price	Qty/Unit	Total Price		
M4-TS01001-01	Base Bid: Traffic Bound Surface Course Type E - First Offe	r \$105.00	1308 / cubic yard	\$137,340.00		
Agency Notes:			Supplier Product Code: Supplier Notes: Bid Bond Attached to this line item			
M4-TS01001-02	Base Bid: Curb & Gutter (2 Foot-8 Inch) (6 Inch Barrier) - First Offe	r \$50.00	41 / linear foot	\$2,050.00		
			Supplier Product Code: Supplier Notes:			
M4-TS01001-03	Base Bid: Curb & Gutter (2 Foot-8 Inch) (8 Inch Barrier) - First Offe	r \$55.00	217 / linear foot	\$11,935.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
M4-TS01001-04	Base Bid: Curb & Gutter (2 Foot-8 Inch) (4 Inch Mountable) - First Offe	r \$50.00	1660 / linear foot	\$83,000.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
M4-TS01001-05	Base Bid: Variable Height Curb (6 Inch Barrier) - First Offe	r \$50.00	1500 / linear foot	\$75,000.00		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
M4-TS01001-06	Base Bid: (RCP) Storm Sewer (18 Inch) - First Offe	\$144.00	29 / linear foot	\$4,176.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
M4-TS01001-07	Base Bid: Design 2-0 Inlet - First Offer	\$6,500.00	2 / each	\$13,000.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
M4-TS01001-08	Base Bid: Relocate Fire Hydrant - First Offe	\$5,000.00	1 / each	\$5,000.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
M4-TS01001-09	Base Bid: 2 Inch Traffic Signal Conduit (Trenched) - First Offe	r \$33.00	190 / linear foot	\$6,270.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
M4-TS01001-10	Base Bid: 2 Inch Traffic Signal Conduit (Bored) - First Offe	r \$51.00	60 / linear foot	\$3,060.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
M4-TS01001-11	Base Bid: 3 Inch Traffic Signal Conduit (Trenched) - First Offe	r \$54.00	50 / linear foot	\$2,700.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
M4-TS01001-12	Base Bid: 3 Inch Traffic Signal Conduit (Bored) - First Offe	r \$77.00	90 / linear foot	\$6,930.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
M4-TS01001-13	Base Bid: Two Conductor Shielded Loop Detector Lead-In Cable - First Offe	r \$3.00	770 / linear foot	\$2,310.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

Base Bid: (5) Conductor Traffic Signal Electrical Cable - First Offe	r \$5.00	1560 / linear foot	\$7,800.00
	• • •		
Base Bid: (7) Conductor Traffic Signal Electrical Cable - First Offe		220 / linear foot	\$1,980.00
	Supplier Pr		. ,
Base Bid: (21) Conductor Traffic Signal Electrical Cable - First Offe		110 / linear foot	\$1,650.00
	• • •		
Base Bid: (1/C) (Awg No.6) Electrical Conductor - First Offe	r \$4.00	50 / linear foot	\$200.00
Base Bid: Three (3) Section Traffic Signal Head - First Offe			\$3,672.00
	• • •		
Base Bid: Pedestrian Signal Head - First Offe		34 / each	\$30,974.00
J		oduct Code:	
	Supplier No	otes:	
Base Bid: Pedestrian Push Button And Sign - First Offe	-	34 / each	\$70,244.00
Rase Rid: Pedestrian Push Rutton And Pole - First Offe			\$4,080.00
base and it edestrially distributed that one			4-,000.00
	• •		
Base Bid: Pedestal Pole With 10 Ft. Mounting Height - First Offe	r \$1,167.00	12 / each	\$14,004.00
	• • •		
Base Bid: Structural Concrete - First Offe	\$3,060.00	6.5 / cubic yard	\$19,890.00
	• • •		
Base Bid: Reinforcing Steel - First Offer	\$3.00	704.2 / pound	\$2,112.60
Base Bid: Pull Box Type II - First Offe	\$1,912.00	13 / each	\$24,856.00
	• • •		
Base Bid: School Flashers - First Offe	\$11,972.00	4 / each	\$47,888.00
	• • •		
Base Bid: Sheet Aluminum Signs - First Offe	\$38.00	411.27 / square foot	\$15,628.26
Base Bid: Remove Existing Sign - First Offe	\$96.00	49 / each	\$4,704.00
		819.5 / linear foot	\$26,224.00
		oduct Code:	
Base Bid: Traffic Stripe (Plastic)(4 Inch Wide) - First Offe		29635 / linear foot	\$59,270.00
Base Bid: Traffic Stripe (Plastic)(Arrows)(Single) - First Offe	r \$96.00	13 / each	\$1,248.00
Base Bid: Traffic Stripe (Plastic Tape)(Symbols) - First Offe	r \$2,486.00	12 / each	\$29,832.00

Base Bid: Traffic Stripe (Plastic)(8 Inch Wide) - First Offe			\$11,280.00
	Base Bid: (7) Conductor Traffic Signal Electrical Cable - First Offe Base Bid: (21) Conductor Traffic Signal Electrical Cable - First Offe Base Bid: (1/C) (Awg No.6) Electrical Conductor - First Offe Base Bid: Three (3) Section Traffic Signal Head - First Offe Base Bid: Pedestrian Signal Head - First Offe Base Bid: Pedestrian Push Button And Sign - First Offe Base Bid: Pedestrian Push Button And Pole - First Offe Base Bid: Pedestrian Push Button And Pole - First Offe Base Bid: Structural Concrete - First Offe Base Bid: Structural Concrete - First Offe Base Bid: Reinforcing Steel - First Offe Base Bid: School Flashers - First Offe Base Bid: School Flashers - First Offe Base Bid: Sheet Aluminum Signs - First Offe Base Bid: Square Steel Sign Post - First Offe Base Bid: Traffic Stripe (Plastic)(4 Inch Wide) - First Offe Base Bid: Traffic Stripe (Plastic)(4 Inch Wide) - First Offe Base Bid: Traffic Stripe (Plastic)(4 Inch Wide) - First Offe Base Bid: Traffic Stripe (Plastic)(8 Inch Wide) - First Offe	Base Bid: (?) Conductor Traffic Signal Electrical Cable - First Offer Supplier Pr.	Base Bid: (7) Conductor Traffic Signal Electrical Cable - First Offer \$100 200 / linear foot Supplier Product Code: Supplier Notes: Base Bid: Pedestrian Push Button And Pole - First Offer \$4,080.00 1/e ach Supplier Product Code: Supplier Product C

M4-TS01001-34	Base Bid: Radar Detection System (Advance Sensors) - First Offe	r\$11,385.00	6 / each	\$68,310.00
Product Code: Agency Notes:	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	Supplier Pro	oduct Code: otes:	,
M4-TS01001-35	Base Bid: Radar Detection System (Presence Sensors) - First Offe		12 / each	\$127,140.00
Product Code: Agency Notes:			oduct Code: otes:	
M4-TS01001-36	Base Bid: Radar Cabinet Interface (Model 656) - First Offe		3 / each	\$31,977.00
Product Code:			oduct Code:	
Agency Notes: M4-TS01001-37	Base Bid: Radar Detector Cable - First Offe	Supplier No \$4.00	2420 / linear foot	\$9,680.00
Product Code:		Supplier Pr	oduct Code:	\$5,000.00
Agency Notes:		Supplier No		* 20.000.00
M4-TS01001-38 Product Code:	Base Bid: G.P.S. As-Built Survey - First Offe		1 / lump sum oduct Code:	\$20,000.00
Agency Notes:		Supplier No		
M4-TS01001-39	Base Bid: Construction Staking (Construction Survey) - First Offe	r\$20,000.00	1 / lump sum	\$20,000.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
	iase Bid: Color Audio/Video Recording, Pre & Post Construction (Recorded Digitally On DVD) - First Off	er\$5,500.00	1 / lump sum	\$5,500.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01001-41	Base Bid: Construction Signing And Traffic Control - First Offe	r\$38,200.00	1 / lump sum	\$38,200.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01001-42	Base Bid: Mobilization - First Offer			\$365,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-43	Base Bid: Clearing And Grubbing - First Offe	\$50,000.00	1 / lump sum	\$50,000.00
Product Code:		•••	oduct Code:	
Agency Notes: M4-TS01001-44	Base Bid: Removal Of Structures & Obstructions - First Offe	Supplier No	1 / lump sum	\$50,000.00
Product Code: Agency Notes:	base blu, removal of structures & obstructions - Plist Offe		oduct Code:	\$30,000.00
M4-TS01001-45	Base Bid: Structure Removal (Inlet) - First Offe		2 / each	\$5,000.00
Product Code:	Sale Sale Sale Committee (Interpretation of the Committee		oduct Code:	45/000.00
Agency Notes:		Supplier No		
M4-TS01001-46	Base Bid: Structure Removal (Traffic Signal Equipment) - First Offe	r \$2,868.00	1 / lump sum	\$2,868.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-47	Base Bid: Remove Pavement (Varies) - First Offe		1790 / square yard	\$19,690.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-48	Base Bid: Remove Sidewalk - First Offer		2672 / square yard	\$29,392.00
Product Code: Agency Notes:		Supplier Pro	oduct Code:	
M4-TS01001-49	Base Bid: Remove Curb And Gutter - First Offe		3700 / linear foot	\$29,600.00
Product Code: Agency Notes:			oduct Code:	
M4-TS01001-50	Base Bid: Remove Driveway - First Offer		3523 / square yard	\$38,753.00
Product Code:		Supplier Pr	oduct Code:	
Agency Notes:		Supplier No		
M4-TS01001-51	Base Bid: Pavement Cut & Permanent Repair - First Offe		720 / square yard	\$93,600.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-52	Base Bid: Remove Pavement Marking - First Offe		16500 / linear foot	\$20,625.00
Product Code:			oduct Code:	
Agency Notes:		Supplier No	ites:	

Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01001-54	Base Bid: Adjust Existing Structure (Hydrant) - First Offe	r \$5,000.00	1 / each	\$5,000.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	-
M4-TS01001-55	Base Bid: Adjust Existing Structure (Meters) - First Offe	r \$350.00	6 / each	\$2,100.00
Product Code: Agency Notes:	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		oduct Code: otes:	
M4-TS01001-56	Base Bid: Adjust Existing Structure (Valves) - First Offe	r \$350.00	6 / each	\$2,100.00
Product Code: Agency Notes:	, , ,		oduct Code: otes:	,
M4-TS01001-57	Base Bid: Adjust Existing Structure (Clean Out) - First Offe		3 / each	\$1,500.00
Product Code: Agency Notes:	, , ,		oduct Code: otes:	
M4-TS01001-58	Base Bid: Adjust Existing Structure (Pull Box) - First Offe		6 / each	\$3,366.00
Product Code:	2000 2001 Entering Contraction (Contraction)		oduct Code:	40,000.00
Agency Notes:		Supplier No		
M4-TS01001-59	Base Bid: Remove & Reset Sign - First Offe	\$446.00	16 / each	\$7,136.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-60	Base Bid: Remove & Reset Signal Equipment - First Offe	r \$9,562.00	1 / lump sum	\$9,562.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-61	Base Bid: Sidewalk (4 Inch) - First Offer	\$85.00	12685 / square yard	\$1,078,225.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-62	Base Bid: Driveway (6 Inch) - First Offe	\$95.00	3434 / square yard	\$326,230.00
Product Code:		Supplier Pro	oduct Code:	
Agency Notes:		Supplier No		
M4-TS01001-63	Base Bid: Ada Curb Ramp (8 Inch) - First Offe	\$125.00	1632 / square yard	\$204,000.00
Product Code: Agency Notes:		Supplier No		
M4-TS01001-64	Base Bid: Handrail - First Offer	\$200.00	12 / linear foot	\$2,400.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-65	Base Bid: Remove And Reconstruct Fence - First Offe	r \$35.00	1000 / linear foot	\$35,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-66	Base Bid: Tactile Warning Device - First Offe	\$33.00	2095 / square foot	\$69,135.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01001-67	Base Bid: Solid Slab Sodding - First Offe	\$9.00	10400 / square yard	\$93,600.00
Product Code:			oduct Code:	
Agency Notes:		Supplier No		
M4-TS01001-68	Base Bid: Sediment And Erosion Control - First Offe		1 / lump sum	\$40,000.00
Product Code: Agency Notes:		Supplier No	oduct Code: otes:	
M4-TS01001-69	Base Bid: Groundbreaking Ceremony - First Offe	r \$8,500.00	1 / lump sum	\$8,500.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
				3,648,496.86
	Line Item	Unit Price	Qty/Unit	Total Price
M4-TS01002-01 Product Code:	Alternate No. 1: Traffic Bound Surface Course Type E - First Offe		245 / cubic yard	\$25,725.00
Agency Notes:		Supplier No		
M4-TS01002-02	Alternate No. 1: Remove Pavement (Varies) - First Offe	r \$11.00	104 / square yard	\$1,144.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01002-03	Alternate No. 1: Remove Sidewalk - First Offe	\$11.00	1358 / square yard	\$14,938.00

Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01002-04	Alternate No. 1: Remove Curb And Gutter - First Offe	r \$8.00	266 / linear foot	\$2,128.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01002-05	Alternate No. 1: Remove Driveway - First Offe	\$11.00	1052 / square yard	\$11,572.00
Product Code: Agency Notes:	·	Supplier Pro	oduct Code: otes:	
M4-TS01002-06	Alternate No. 1: Adjust Existing Structure (Manholes) - First Offe	r \$1,000.00	1 / each	\$1,000.00
Product Code: Agency Notes:	, ,		oduct Code: otes:	-
M4-TS01002-07	Alternate No. 1: Adjust Existing Structure (Hydrant) - First Offe	r \$5,000.00	1 / each	\$5,000.00
Product Code:			oduct Code:	
Agency Notes:		Supplier No	tes:	
M4-TS01002-08	Alternate No. 1: Adjust Existing Structure (Meters) - First Offe	r \$350.00	2 / each	\$700.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01002-09	Alternate No. 1: Adjust Existing Structure (Valves) - First Offe	r \$350.00	2 / each	\$700.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01002-10	Alternate No. 1: Adjust Existing Structure (Clean Out) - First Offe	r \$500.00	1 / each	\$500.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01002-11	Alternate No. 1: Adjust Existing Structure (Pull Box) - First Offe	r \$561.00	2 / each	\$1,122.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01002-12	Alternate No. 1: Remove & Reset Sign - First Offe	s446.00	2 / each	\$892.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01002-13	Alternate No. 1: Sidewalk (4 Inch) - First Offe	\$85.00	2039 / square yard	\$173,315.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01002-14	Alternate No. 1: Driveway (6 Inch) - First Offe	\$95.00	1089 / square yard	\$103,455.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01002-15	Alternate No. 1: Ada Curb Ramp (8 Inch) - First Offe	r \$125.00	186 / square yard	\$23,250.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01002-16	Alternate No. 1: Remove And Reconstruct Fence - First Offe	r \$40.00	50 / linear foot	\$2,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01002-17	Alternate No. 1: Tactile Warning Device - First Offe	r \$33.00	330 / square foot	\$10,890.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01002-18	Alternate No. 1: Solid Slab Sodding - First Offe	r \$9.00	1700 / square yard	\$15,300.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
				:\$393,631.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
M4-TS01003-01	Alternate No. 2: Traffic Bound Surface Course Type E - First Offe	r \$105.00	92 / cubic yard	\$9,660.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01003-02	Alternate No. 2: Variable Height Curb (6 Inch Barrier) - First Offe		80 / linear foot	\$3,200.00
Product Code: Agency Notes:	<u> </u>	Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01003-03	Alternate No. 2: 2 Inch Traffic Signal Conduit (Trenched) - First Offe		90 / linear foot	\$2,970.00
Product Code:	•		oduct Code:	
Agency Notes:		Supplier No	rees.	

Supplier Notes: Supplier N	Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
Supplier Notes: Supplier N	M4-TS01003-05	Alternate No. 2: (5) Conductor Traffic Signal Electrical Cable - First Offe	er \$5.00 750 / linear foot \$3,750.0
Mart Spin Alternate No. 2:(7) Conductor Traffic Signal Electrical Cable - Pirist Offer	Product Code: Agency Notes:	· · · · · · · · · · · · · · · · · · ·	
Supplier Product Codes Supplier Product Co	M4-TS01003-06	Alternate No. 2: (7) Conductor Traffic Signal Electrical Cable - First Offe	
Alternate No. 2: Pedestrian Sgnal Head - First Office	Product Code: Agency Notes:	,	Supplier Product Code:
Supplier Product Code: Supplier Product	M4-TS01003-07	Alternate No. 2: Pedestrian Signal Head - First Offe	r \$911.00 8 / each \$7,288.0
Alternate No. 2: Pedestrian Push Button And Sign First. Offer \$2,066.00 8 / each \$16,528.00	Product Code: Agency Notes:		Supplier Product Code:
Product Code:	M4-TS01003-08	Alternate No. 2: Pedestrian Push Button And Sign - First Offe	·· ·
Alternate No. 2: Pedestal Pole With 10 Ft. Mounting Height - First Offer \$1,167.00 5 / each \$5,835.00 Product Code: Supplier Notes: Md-TS010-03-14 Alternate No. 2: Remove Existing Sign - First Offer Supplier Notes: Supplie	Product Code: Agency Notes:	Ü	Supplier Product Code:
Alternate No. 2: Fuel Box Type Froduct Code: Supplier Product Code: Supplier Notes:	M4-TS01003-09	Alternate No. 2: Pedestal Pole With 10 Ft. Mounting Height - First Offe	.,
Agency Notes: Supplier Not	Product Code:		
Supplier Product Code: Supplier Notes: Sup	Agency Notes:		
MeTS010-03-10	M4-TS01003-10	Alternate No. 2: Structural Concrete - First Offe	r \$3,455.00 1.5 / cubic yard \$5,182.5
Reduct Code:	Product Code: Agency Notes:		
## Agency Notes: ## Afternate No. 2: Pull Box Type II - First Offer 15,1971.00 4 4 / each 57,648,00 Froduct Code: ## Supplier Product Code: *# Sup	M4-TS01003-11	Alternate No. 2: Reinforcing Steel - First Offe	r \$3.00 111.5 / pound \$334.5
Product Code: Supplier Product Code: Sup	Product Code: Agency Notes:		
Mar Store Mar Store Mar Store Mar Store Stor	M4-TS01003-12	Alternate No. 2: Pull Box Type Ii - First Offe	r \$1,912.00 4 / each \$7,648.0
	Product Code: Agency Notes:		••
Mar	M4-TS01003-13	Alternate No. 2: Sheet Aluminum Signs - First Offe	r \$38.00 84.65 / square foot \$3,216.7
Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Note	Product Code: Agency Notes:		,
Mar South Supplier Notes: Supplier	M4-TS01003-14	Alternate No. 2: Remove Existing Sign - First Offe	r \$96.00 21 / each \$2,016.0
Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Note	Product Code: Agency Notes:		
Agency Notes: Alternate No. 2: Traffic Stripe (Plastic() Alternate No. 2: Traffic Stripe (Plastic Notes: Alternate No. 2: Traffic Stripe (Plastic Notes) Supplier Notes:	M4-TS01003-15	Alternate No. 2: Square Steel Sign Post - First Offe	r \$32.00 210 / linear foot \$6,720.0
Supplier Product Code:	Product Code: Agency Notes:		
Agency Notes: Supplier Notes: M4-TS010~03-17 Alternate No. 2: Traffic Stripe (Plastic)(Arrows)(Single) - First Offer Agency Notes: \$96.00 6 / each \$576.00 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: M4-TS010~03-18 Alternate No. 2: Traffic Stripe (Plastic Tape)(Arrows)(Double) - First Offer \$191.00 3 / each \$573.00 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: M4-TS010~03-19 Alternate No. 2: Traffic Stripe (Plastic Tape)(Symbols) - First Offer \$2,486.00 4 / each \$9,944.00 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: M4-TS010~03-20 Alternate No. 2: Traffic Stripe (Plastic)(8 Inch Wide) - First Offer \$4.00 30 / linear foot \$120.00 Product Code: Agency Notes: Supplier Notes: Supplier Notes: M4-TS010~03-21 Alternate No. 2: Radar Detection System (Advance Sensors) - First Offer \$11,385.00 2 / each \$22,770.00 Product Code: Agency Notes: Supplier Notes: Supplier Notes: M4-TS010~03-22 Alternate No. 2: Radar Detection System (Presence Sensors) - First Offer \$10,595.00 4 / each \$42,380.00 Product Code: Agency Notes: Supplier Notes: M4-TS010~03-23 Alternate No. 2: Radar Cabinet Interface (Mod	M4-TS01003-16	Alternate No. 2: Traffic Stripe (Plastic)(4 Inch Wide) - First Offe	r \$2.00 7820 / linear foot \$15,640.0
Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Notes	Product Code: Agency Notes:		
Agency Notes: Supplier Notes: M4-TS01003-18 Alternate No. 2: Traffic Stripe (Plastic Tape)(Arrows)(Double) - First Offer \$191.00 3 / each \$573.00 Product Code: Supplier Product Code: Agency Notes: Supplier Notes: M4-TS01003-19 Alternate No. 2: Traffic Stripe (Plastic Tape)(Symbols) - First Offer \$2,486.00 4 / each \$9,944.00 Product Code: Supplier Notes: M4-TS010-03-20 Alternate No. 2: Traffic Stripe (Plastic)(8 Inch Wide) - First Offer \$4.00 30 / linear foot \$120.00 Product Code: Supplier Notes: M4-TS010-03-20 Alternate No. 2: Radar Detection System (Advance Sensors) - First Offer \$4.00 30 / linear foot \$120.00 Product Code: Supplier Product Code: Agency Notes: Supplier Product Code: M4-TS010-03-21 Alternate No. 2: Radar Detection System (Advance Sensors) - First Offer \$11,385.00 2 / each \$22,770.00 Product Code: Supplier Product Code: Agency Notes: Supplier Notes: M4-TS010-03-22 Alternate No. 2: Radar Detection System (Presence Sensors) - First Offer \$10,659.00 4 / each \$42,380.00 Product Code: Supplier Notes: M4-TS010-03-23 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer \$10,659.00 1 / each \$10,659.00 <td>M4-TS01003-17</td> <td>Alternate No. 2: Traffic Stripe (Plastic)(Arrows)(Single) - First Offe</td> <td>r \$96.00 6 / each \$576.0</td>	M4-TS01003-17	Alternate No. 2: Traffic Stripe (Plastic)(Arrows)(Single) - First Offe	r \$96.00 6 / each \$576.0
Product Code: Agency Notes: M4-TS01003-19 Alternate No. 2: Traffic Stripe (Plastic Tape)(Symbols) - First Offer \$2,486.00 4 / each \$9,944.00 Product Code: Agency Notes: M4-TS01003-20 Alternate No. 2: Traffic Stripe (Plastic)(8 Inch Wide) - First Offer \$4.00 30 / linear foot \$120.00 Product Code: Agency Notes: M4-TS01003-21 Alternate No. 2: Radar Detection System (Advance Sensors) - First Offer \$1,385.00 2 / each \$22,770.00 Product Code: Agency Notes: M4-TS01003-21 Alternate No. 2: Radar Detection System (Presence Sensors) - First Offer \$10,595.00 4 / each \$42,380.00 Product Code: Agency Notes: M4-TS01003-22 Alternate No. 2: Radar Detection System (Presence Sensors) - First Offer \$10,595.00 4 / each \$42,380.00 Product Code: Agency Notes: M4-TS01003-23 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer \$10,659.00 1 / each \$10,659.00 Product Code: Agency Notes: M4-TS01003-23 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer \$10,659.00 1 / each \$10,659.00 Product Code: Agency Notes: M4-TS010-03-23 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer \$10,659.00 1 / each \$10,659.00 Product Code: Agency Notes: M4-TS010-03-23 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer \$10,659.00 1 / each \$10,659.00	Product Code: Agency Notes:		
Agency Notes: M4-TS01003-19 Alternate No. 2: Traffic Stripe (Plastic Tape)(Symbols) - First Offer \$2,486.00 \$4 / each \$9,944.00 Product Code: Agency Notes: M4-TS01003-20 Alternate No. 2: Traffic Stripe (Plastic)(8 Inch Wide) - First Offer \$4.00 \$30 / linear foot \$120.00 Product Code: Agency Notes: M4-TS01003-21 Alternate No. 2: Radar Detection System (Advance Sensors) - First Offer \$11,385.00 \$2 / each \$22,770.00 Product Code: Agency Notes: M4-TS01003-22 Alternate No. 2: Radar Detection System (Presence Sensors) - First Offer \$10,595.00 \$4 / each \$42,380.00 Product Code: Agency Notes: M4-TS01003-22 Alternate No. 2: Radar Detection System (Presence Sensors) - First Offer \$10,595.00 \$4 / each \$42,380.00 Product Code: Agency Notes: M4-TS01003-23 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer \$10,659.00 \$1 / each \$10,659.00 Product Code: Agency Notes: M4-TS01003-23 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer \$10,659.00 \$1 / each \$10,659.00 Product Code: Agency Notes:	M4-TS01003-18	Alternate No. 2: Traffic Stripe (Plastic Tape)(Arrows)(Double) - First Offe	er \$191.00 3 / each \$573.0
Product Code: Agency Notes: M4-TS01003-20 Alternate No. 2: Traffic Stripe (Plastic)(8 Inch Wide) - First Offer \$4.00 30 / linear foot \$120.00 Product Code: Agency Notes: M4-TS01003-21 Alternate No. 2: Radar Detection System (Advance Sensors) - First Offer\$ Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: M4-TS01003-22 Alternate No. 2: Radar Detection System (Presence Sensors) - First Offer\$11,385.00 2 / each \$22,770.00 Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: M4-TS01003-22 Alternate No. 2: Radar Detection System (Presence Sensors) - First Offer\$10,595.00 4 / each \$42,380.00 Product Code: Agency Notes: M4-TS01003-23 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer\$10,659.00 1 / each \$10,659.00 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Notes:	Product Code: Agency Notes:		
Agency Notes: M4-TS01003-20 Alternate No. 2: Traffic Stripe (Plastic)(8 Inch Wide) - First Offer \$4.00 \$30 / linear foot \$120.00 Product Code: Agency Notes: M4-TS01003-21 Alternate No. 2: Radar Detection System (Advance Sensors) - First Offer \$11,385.00 \$2 / each \$22,770.00 Product Code: Agency Notes: M4-TS01003-22 Alternate No. 2: Radar Detection System (Presence Sensors) - First Offer \$10,595.00 \$4 / each \$42,380.00 Product Code: Agency Notes: M4-TS01003-22 Alternate No. 2: Radar Detection System (Presence Sensors) - First Offer \$10,595.00 \$4 / each \$42,380.00 Product Code: Agency Notes: M4-TS01003-23 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer \$10,659.00 \$1 / each \$10,659.00 Product Code: Agency Notes: M4-TS01003-23 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer \$10,659.00 \$1 / each \$10,659.00 Product Code: Agency Notes:	M4-TS01003-19	Alternate No. 2: Traffic Stripe (Plastic Tape)(Symbols) - First Offe	r \$2,486.00 4 / each \$9,944.0
Product Code: Agency Notes: M4-TS01003-21 Alternate No. 2: Radar Detection System (Advance Sensors) - First Offer\$11,385.00 2 / each \$22,770.00 Product Code: Agency Notes: M4-TS01003-22 Alternate No. 2: Radar Detection System (Presence Sensors) - First Offer\$10,595.00 4 / each \$42,380.00 Product Code: Agency Notes: M4-TS01003-22 Alternate No. 2: Radar Detection System (Presence Sensors) - First Offer\$10,595.00 4 / each \$42,380.00 Product Code: Agency Notes: M4-TS01003-23 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer\$10,659.00 1 / each \$10,659.00 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Notes:	Product Code: Agency Notes:		
Agency Notes: M4-TS01003-21 Alternate No. 2: Radar Detection System (Advance Sensors) - First Offer\$11,385.00 Product Code: Agency Notes: M4-TS01003-22 Alternate No. 2: Radar Detection System (Presence Sensors) - First Offer\$10,595.00 Alternate No. 2: Radar Detection System (Presence Sensors) - First Offer\$10,595.00 Alternate No. 2: Radar Detection System (Presence Sensors) - First Offer\$10,595.00 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer\$10,659.00 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer\$10,659.00 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer\$10,659.00 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer\$10,659.00 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer\$10,659.00 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer\$10,659.00 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer\$10,659.00 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer\$10,659.00 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer\$10,659.00 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer\$10,659.00 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer\$10,659.00 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer\$10,659.00 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer\$10,659.00 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer\$10,659.00 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer\$10,659.00 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer\$10,659.00 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer\$10,659.00 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer\$10,659.00 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer\$10,659.00 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer\$10,659.00 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer\$10,659	M4-TS01003-20	Alternate No. 2: Traffic Stripe (Plastic)(8 Inch Wide) - First Offe	r \$4.00 30 / linear foot \$120.0
Product Code: Agency Notes: M4-TS01003-22	Product Code: Agency Notes:		
Product Code: Agency Notes: M4-TS01003-22	M4-TS01003-21	Alternate No. 2: Radar Detection System (Advance Sensors) - First Offe	··
Product Code: Agency Notes: M4-TS01003-23 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer \$10,659.00 Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Notes:	Product Code: Agency Notes:		Supplier Product Code:
Product Code: Agency Notes: M4-TS01003-23 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer \$10,659.00 Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Notes:	M4-TS01003-22	Alternate No. 2: Radar Detection System (Presence Sensors) - First Offe	e\$10,595.00 4 / each \$42,380.0
M4-TS01003-23 Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offer \$10,659.00 1 / each \$10,659.00 Product Code: Agency Notes: Supplier Product Code: Supplier Notes:	Product Code: Agency Notes:	<u>-</u> · · · · ·	Supplier Product Code:
Product Code: Supplier Product Code: Supplier Notes:	M4-TS01003-23	Alternate No. 2: Radar Cabinet Interface (Model 656) - First Offe	
	Product Code: Agency Notes:		Supplier Product Code:
	M4-TS01003-24	Alternate No. 2: Radar Detector Cable - First Offe	

Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01003-25	Alternate No. 2: Remove Sidewalk - First Offe	\$11.00	171 / square yard	\$1,881.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01003-26	Alternate No. 2: Remove Curb And Gutter - First Offe	r \$8.00	100 / linear foot	\$800.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01003-27	Alternate No. 2: Remove Driveway - First Offe	\$11.00	386 / square yard	\$4,246.00
Product Code:		Supplier Pr	oduct Code:	
Agency Notes:		Supplier No	otes:	
M4-TS01003-28	Alternate No. 2: Remove Pavement Markings - First Offe	r \$1.25	2300 / linear foot	\$2,875.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01003-29	Alternate No. 2: Adjust Existing Structure (Manholes) - First Offe	r \$1,000.00	1 / each	\$1,000.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01003-30	Alternate No. 2: Adjust Existing Structure (Hydrant) - First Offe	r \$5,000.00	1 / each	\$5,000.00
Product Code:	<u> </u>		oduct Code:	
Agency Notes:		Supplier No	otes:	
M4-TS01003-31	Alternate No. 2: Adjust Existing Structure (Meters) - First Offe	r \$350.00	2 / each	\$700.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01003-32	Alternate No. 2: Adjust Existing Structure (Valves) - First Offe	r \$350.00	2 / each	\$700.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01003-33	Alternate No. 2: Adjust Existing Structure (Clean Out) - First Offe	r \$500.00	1 / each	\$500.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01003-34	Alternate No. 2: Adjust Existing Structure (Pull Box) - First Offe	r \$561.00	2 / each	\$1,122.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01003-35	Alternate No. 2: Remove & Reset Sign - First Offe	r \$446.00	2 / each	\$892.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01003-36	Alternate No. 2: Sidewalk (4 Inch) - First Offe	\$85.00	817 / square yard	\$69,445.00
Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	
M4-TS01003-37	Alternate No. 2: Driveway (6 Inch) - First Offe	\$95.00	379 / square yard	\$36,005.00
Product Code: Agency Notes:	• • • • • • • • • • • • • • • • • • • •	Supplier Pro Supplier No	oduct Code: otes:	-
M4-TS01003-38	Alternate No. 2: Ada Curb Ramp (8 Inch) - First Offe	r \$125.00	80 / square yard	\$10,000.00
Product Code:	, , , , , , , , , , , , , , , , , , , ,		oduct Code:	
Agency Notes:		Supplier No		
M4-TS01003-39	Alternate No. 2: Remove And Reconstruct Fence - First Offe	r \$40.00	50 / linear foot	\$2,000.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01003-40	Alternate No. 2: Tactile Warning Device - First Offe	r \$33.00	90 / square foot	\$2,970.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
M4-TS01003-41	Alternate No. 2: Solid Slab Sodding - First Offe	r \$9.00	750 / square yard	\$6,750.00
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
			Lot Total	:\$332,306.70

City Clerk

Bid Committee Bid Tab

Bid OCAT WRWA 2109 Ended At May 1, 2024 10:00:00 AM CDT CONSTRUCTION/OCAT - Logistics Support Facility Fire Sprinkler System - East Side

Company:	Oklahoma, Inc	
OCAT WRWA 2109	\$2,638,650.00	
TOTAL BID:	\$2,638,650.00	
Tresha Williams City Clerk	<u>Chad Harr</u> Purchasin _i	Tim Alvarez Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #OCAT WRWA 2109 - Logistics Support Facility Fire Sprinkler System - East Side

Start Date Mar 29, 2024 7:50:19 AM CDT Awarded Date Not Yet Awarded

OCAT WRWA 210901-01 OCAT WRWA 2109: Base Bid						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Diversified Construction of Oklahoma, Inc	First Offer - \$2,638,650.00	1 / lump sum	\$2,638,650.00	Υ	Υ	
Product Code: Supplier Product Code:						
Agency Notes:		Supplier Notes:				

Supplier Totals

f Diversified	Construction of Oklahoma, Inc	\$2,638,650.00	
Bid Contact	Skip Gower asag@diversifiedok.com Ph 405-340-3164 Fax 405-348-7070	Address 6288 Boucher Dr. Edmond, OK 73034	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Notes	See attachment on base bid		
Agency Notes			Head Attch:

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid Committee Bid Tab

City Clerk

Bid OCAT-WRWA-2319 Ended At May 1, 2024 10:00:00 AM CDT CONSTRUCTION AIP/OCAT - Terminal Restrooms Renovations - Phase I

Company:	Globe Construction Co.	Diversified Construction of Oklahoma, Inc	Downey Contracting, L.L.C.
Default Lot	\$3,048,778.00	\$3,829,280.00	\$5,468,000.00
TOTAL BID:	\$3,048,778.00	\$3,829,280.00	\$5,468,000.00

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- 1. Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #OCAT-WRWA-2319 - Terminal Restrooms Renovations - Phase I

Start Date Mar 29, 2024 7:50:19 AM CDT Awarded Date Not Yet Awarded

OCAT-WRWA-231901-01 OCAT-WRWA-2319 Base Bid						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Globe Construction Co.	First Offer - \$2,778,778.00	1 / lump sum	\$2,778,778.00	Υ	Υ	
Product Code:		Supplier Product 0	Code:			
Agency Notes:		Supplier Notes:				
Diversified Construction of Oklahoma, Inc	First Offer - \$3,473,770.00	1 / lump sum	\$3,473,770.00	Υ	Υ	
Product Code:		Supplier Product (Code:			
Agency Notes:		Supplier Notes:				
Downey Contracting, L.L.C.	First Offer - \$5,124,000.00	1 / lump sum	\$5,124,000.00	Υ	Υ	
Product Code:		Supplier Product 0	Code:			
Agency Notes:		Supplier Notes:				

OCAT-WRWA-231901-02 OCAT-WRWA-2319 ALTERNATE #1							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Globe Construction Co.	First Offer - \$197,000.00	1 / lump sum	\$197,000.00		Υ		
Product Code: Supplier Product Code:							
Agency Notes:		Supplier Notes:					
Downey Contracting, L.L.C.	First Offer - \$220,000.00	1 / lump sum	\$220,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Diversified Construction of Oklahoma, Inc	First Offer - \$227,635.00	1 / lump sum	\$227,635.00		Υ		
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					

OCAT-WRWA-231901-03 OCAT-WRWA-2319 ALTERNATE #2							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Globe Construction Co.	First Offer - \$73,000.00	1 / lump sum	\$73,000.00		Y		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$124,000.00	1 / lump sum	\$124,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Diversified Construction of Oklahoma, Inc	First Offer - \$127,875.00	1 / lump sum	\$127,875.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				

Supplier Totals

f Globe Const	ruction Co.	\$3,048,778.00 (3/3 items)	
Bid Contact	Peter Morrical kmurry@globebuilds.com Ph 405-478-3502	Address PO Box 17420 Oklahoma City, OK 73136	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	Head Attch:
f Diversified (Construction of Oklahoma, Inc	\$3,829,280.00 (3/3 items)	

Bid Contact Skip Gower

f Downey Contracting, L.L.C.

asag@diversifiedok.com

Ph 405-340-3164 Fax 405-348-7070

Qualifications **OKC PRE-QUALIFIED CONTRACTORS**

Bid Notes See attachment on Base Bid

Agency Notes: Supplier Notes: Head Attch:

See attachment on Base Bid

Address 6288 Boucher Dr.

\$5,468,000.00 (3/3 items)

Edmond, OK 73034

Bid Contact Sheila Stovall Address 3217 NE 63rd Street

dzimbelman@downeycontracting.com Oklahoma City, OK 73121

Ph 405-478-5277

Qualifications OKC PRE-QUALIFIED CONTRACTORS

Agency Notes: Supplier Notes: Head Attch:

ũ)

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid Committee Bid Tab

City Clerk

Bid OCAT-WRWA-2408 Ended At May 1, 2024 10:00:00 AM CDT CONSTRUCTION AIP/OCAT - Walkway Modernization

Company:	American Elevator		
Default Lot	\$2,210,000.00		
TOTAL BID:	\$2,210,000.00		
Tresha Williams	Chad Ha	rrison	Tim Alvarez
City Clerk			uditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #OCAT-WRWA-2408 - Walkway Modernization

Start Date Mar 29, 2024 7:50:19 AM CDT Awarded Date Not Yet Awarded

OCAT-WRWA-240801-01 OCAT-WRWA-2	OCAT-WRWA-240801-01 OCAT-WRWA-2408 Base Bid						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
American Elevator	First Offer - \$2,210,000.00	1 / lump sum	\$2,210,000.00	Υ	Υ		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes: * THE					
		CONTINGENT UPON M					
		AT 20 WEEKS REGARDI					
		AMERICAN ELEVATOR			FROM		
		NOTICE TO PROCEED 1	O BE 20 WEEKS PLUS 1	80 DAYS.			

Supplier Totals

f American	Elevator		\$2,210,000.00	
Bid Contact	Steve Schmidt sws@myelevatorcompany.com Ph 405-236-1174	Address	1905 South Harvard Drive Oklahoma City, OK 73089	
Bid Notes	* THE OFFER BY AMERICAN ELEVATOR IS CONTINGENT UPO ESTIMATED AT 20 WEEKS REGARDLESS OF THE DATE OF NOT CONSIDERS THE TOTAL LEAD TIME FROM NOTICE TO PROCE	ICE TO PRO	OCEED. AMERICAN ELEVATOR	
Agency Note	es:	Supplier	Notes:	Head
		* THE OF	FER BY AMERICAN ELEVATOR IS	Attch:
		CONTING	GENT UPON MATERIAL LEAD TIME	Ø.
		CURREN [*]	TLY ESTIMATED AT 20 WEEKS	•
		REGARDI	LESS OF THE DATE OF NOTICE TO	
		PROCEE	D. AMERICAN ELEVATOR CONSIDERS	
		THE TOT	AL LEAD TIME FROM NOTICE TO	
		PROCEE	O TO BE 20 WEEKS PLUS 180 DAYS.	

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid Committee Bid Tab

City Clerk

Bid OCAT WRWA 2424 Ended At May 1, 2024 10:00:00 AM CDT CONSTRUCTION AIP/OCAT - Baggage Claim Units Replacement

Company:	Globe Construction Co.	Downey Contracting, L.L.C.	
OCAT WRWA 2424 Base Bid	\$4,363,227.00	\$7,352,000.00	
TOTAL BID:	\$4,363,227.00	\$7,352,000.00	

	Chad Harrison	
Tresha Williams	Chad Harrison	Tim Alvarez
	Purchasing Agent	
City Clerk	Fulchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #OCAT WRWA 2424 - Baggage Claim Units Replacement

Start Date Mar 29, 2024 7:50:19 AM CDT Awarded Date Not Yet Awarded

OCAT WRWA 242401-01 OCAT WRWA 2424 Base Bid: Replacment of Baggage Claim Units						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Globe Construction Co.	First Offer - \$4,273,413.00	1 / lump sum	\$4,273,413.00	Υ	Υ	
Product Code: Supplier Product Code:						
Agency Notes:		Supplier Notes:				
Downey Contracting, L.L.C.	First Offer - \$7,137,000.00	1 / lump sum	\$7,137,000.00	Υ	Υ	
Product Code:		Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:				

OCAT WRWA 242401-02 OCAT WRWA 2424 Base Bid: Third Party Insurance						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Globe Construction Co.	First Offer - \$5,449.00	1 / lump sum	\$5,449.00		Υ	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
Downey Contracting, L.L.C.	First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Υ	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				

OCAT WRWA 242401-03 OCAT WRWA 2424 Base Bid: Maintenance Bond						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Globe Construction Co.	First Offer - \$33,247.00	1 / lump sum	\$33,247.00		Υ	
Product Code:	Supplier Product Code	e:				
Agency Notes:		Supplier Notes:				
Downey Contracting, L.L.C.	First Offer - \$35,000.00	1 / lump sum	\$35,000.00		Υ	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				

OCAT WRWA 242401-04 OCAT WRWA 2424 Base Bid: Defect Bond						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Globe Construction Co.	First Offer - \$0.00	1 / lump sum	\$0.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Downey Contracting, L.L.C.	First Offer - \$35,000.00	1 / lump sum	\$35,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

OCAT WRWA 2424–01-05 OCAT WRWA 2424 Base Bid: Integrate New Baggage Claim Units into Existing SCADA							
Supplier	Unit Price	ce Qty/Unit Total Price Attch. Docs					
Globe Construction Co.	First Offer - \$51,118.00	1 / lump sum	\$51,118.00		Y		
Product Code: Supplier Product Code:							
Agency Notes:							
Downey Contracting, L.L.C.	First Offer - \$120,000.00	1 / lump sum	\$120,000.00		Y		
Product Code: Supplier Product Code:							
Agency Notes: Supplier Notes:							

Supplier Totals

f Globe Const	ruction Co	\$4,363,227.00 (5/5 items)	
Bid Contact	Peter Morrical kmurry@globebuilds.com Ph 405-478-3502	Address PO Box 17420 Oklahoma City, OK 73136	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes		Supplier Notes:	Head Attch:
f Downey Co	ntracting, L.L.C.	\$7,352,000.00 (5/5 items)	
Bid Contact	Sheila Stovall dzimbelman@downeycontracting.com Ph 405-478-5277	Address 3217 NE 63rd Street Oklahoma City, OK 73121	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes	:	Supplier Notes:	Head Attch:

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

Bid Committee Bid Tab

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid #OCWUT 36-24 - Fire Hydrants, Valves, Repair Kits, & Services

Creation Date Mar 8, 2024 End Date May 1, 2024 10:00:00 AM CDT

Start Date Mar 27, 2024 7:37:21 AM CDT Awarded Date Not Yet Awarded

OKLAHOMA CONTRACTOR'S SUPPLY \$0.00 (105/105 items) Bid Contact HERB BRANDON Address 7216 SW 3RD HERB.BRANDON@GMAIL.COM Okc, OK 73128 Ph 405-990-3611 **Agency Notes: Supplier Notes: Unit Price** Qty/Unit **Total Price** Item# Line Item **OCWUT** Group 1: Traffic Model Fire Hydrants: Traffic Model Fire 0.00% 1 / each 0.00% 36-24-Hydrants depth of bury 3 foot - First Offer -01-01 **Product Code:** Supplier Product Code: CLOW MEDALLION 3'0 **Agency Notes:** Supplier Notes: CLOW MEDALLION 3'0" OKC W/ACC 3 YEAR CONTRACT PRICE \$2842.00 **OCWUT** Group 1: Traffic Model Fire Hydrants: Traffic Model Fire 0.00% 1 / each 0.00% 36-24-Hydrants depth of bury 4 foot - First Offer -01-02 **Product Code:** Supplier Product Code: CLOW MEDALLION 4'0 **Agency Notes:** Supplier Notes: CLOW MEDALLION 4'0" OKC W/ACC 3 YEAR CONTRACT PRICE \$2979.00

OCWUT Group 1: Traffic Model Fire Hydrants: Traffic Model Fire 36-24- Hydrants depth of bury 4.5 foot - First Offer		1 / each	0.00%
Product Code: Agency Notes:	Supplier Product Code: CL Supplier Notes: CLOW ME *** 3 YEAR CONTRACT PRICE \$: *** THIS ITEM ALSO AVAILA PRICING ***	DALLION 4'6" (3046.00	
OCWUT Group 1: Traffic Model Fire Hydrants: Traffic Model Fire 36-24- Hydrants depth of bury 5 foot - First Offer -01-04	0.00%	1 / each	0.00%
Product Code: Agency Notes:	Supplier Product Code: CL Supplier Notes: CLOW ME *** 3 YEAR CONTRACT PRICE \$3	DALLION 5'0" (
OCWUT Group 1: Traffic Model Fire Hydrants: Traffic Model Fire	0.00%	1 / each	0.00%

36-24- -01-05	Hydrants depth of bury 6 foot - First Offer			
Product Agency I		Supplier Product Code: CI Supplier Notes: CLOW ME *** 3 YEAR CONTRACT PRICE \$.	DALLION 6'0" (
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 36-24- -02-01	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 16 inch - First Offer		1 / each	0.00%
Product Agency I	Notes:	Supplier Product Code: No Supplier Notes: NO BID		
OCWUT 36-24- -02-02	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 18 inch - First Offer		1 / each	0.00%
Product Agency I		Supplier Product Code: No Supplier Notes: NO BID	O BID	

unto, vaiv	, · · · · ·	114515		
OCWUT 36-24- -02-03	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 20 inch - First Offer		1 / each	0.00%
Product Agency I		Supplier Product Code: No Supplier Notes: NO BID	O BID	
OCWUT 36-24-	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 24 inch - First Offer		1 / each	0.00%
-02-04				
Product Agency I		Supplier Product Code: NO Supplier Notes: NO BID	O BID	
OCWUT	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve	0.00%	1 / each	0.00%
36-24- -02-05	with accessories 30 inch - First Offer			0.0070
Product Agency I		Supplier Product Code: No Supplier Notes: NO BID	חוא ר	
OCWUT	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve	0.00%	1 / each	0.00%

36-24- -02-06	with accessories 36 inch - First Offer			
Product (Agency N		Supplier Product Code: NO Supplier Notes: NO BID	O BID	
OCWUT 36-24- -02-07	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 48 inch - First Offer		1 / each	0.00%
Product (Agency N		Supplier Product Code: N Supplier Notes: NO BID	O BID	
OCWUT 36-24- -02-08	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 6 inch - 56 inch - First Offer		1 / each	0.00%
		NO BID		
Item#	Line Item			Lot Lotal: 40 00
OCWUT 36-24- -03-01		Unit Price	Oty/Unit	Lot Total: \$0.00
Product (Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 2 inch - First Offer		Qty/Unit 1 / each	Total Price 0.00%
Agency N	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 2 inch - First Offer Code:	0.00%	1 / each RW GV MJMJ W. 519.00	Total Price 0.00% /ACC

36-24- -03-02	Gate Valve complete with accessories 3 inch - First Offer			
Product (Agency N		Supplier Product Code: Supplier Notes: 3" CLOW F *** 3 YEAR CONTRACT PRICE \$ *** ALSO AVAILABLE AS FLO	580.00	//ACC //J X FLG AT SAME PRICE ***
OCM/LIT	Crown 2: Dustile Iron Redied Cate Values 9 Tanning Values	0.0004	1 / aash	0.000/
OCWUT 36-24- -03-03	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 4 inch - First Offer		1 / each	0.00%
Product of Agency N		Supplier Product Code: Supplier Notes: 4" CLOW F *** 3 YEAR CONTRACT PRICE \$ *** ALSO AVAILABLE AS FL	777.00	//ACC
OCWUT 36-24- -03-04	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 6 inch - First Offer		1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: 6" CLOW F *** 3 YEAR CONTRACT PRICE \$ *** ALSO AVAILABLE AS FL	1006.00	//ACC //J X FLG AT SAME PRICE ***

OCWUT 36-24- -03-05	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 8 inch - First Offer		1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: 8" CLOW F *** 3 YEAR CONTRACT PRICE \$ *** ALSO AVAILABLE AS FL	1565.00	//ACC //J X FLG AT SAME PRICE ***
OCWUT 36-24- -03-06	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 10 inch - First Offer		1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: 10" CLOW *** 3 YEAR CONTRACT PRICE \$. *** ALSO AVAILABLE AS FL	2434.00	N/ACC //J X FLG AT SAME PRICE ***
OCWUT 36-24- -03-07	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 12 inch - First Offer		1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: 12" CLOW *** 3 YEAR CONTRACT PRICE \$ *** ALSO AVAILABLE AS FL	3074.00	N/ACC /J X FLG AT SAME PRICE ***
OCWUT 36-24- -03-08	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 14 inch - First Offer		1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: 14" CLOW *** 3 YEAR CONTRACT PRICE \$		N/ACC

unio, vuives, i		*** ALSO AVAILABLE AS FLO	G X FLG AND N	/J X FLG AT SAME PRICE ***
	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 16 inch - First Offer		1 / each	0.00%
Product Cod Agency Note		Supplier Product Code: Supplier Notes: 16" CLOW *** 3 YEAR CONTRACT PRICE \$! *** ALSO AVAILABLE AS FLO	9213.00	N/ACC /J X FLG AT SAME PRICE ***
	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 18 inch - First Offer		1 / each	0.00%
Agency Note	es:	Supplier Notes: 18" CLOW *** 3 YEAR CONTRACT PRICE \$ *** ALSO AVAILABLE AS FLO	14969.00	N/ACC /J X FLG AT SAME PRICE ***
	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: ate Valve complete with accessories 20 inch - 56 inch - First Offer		1 / each	0.00%
Product Cod Agency Note	le:	Supplier Product Code: Supplier Notes: 20" CLOW *** 3 YEAR CONTRACT PRICE \$ *** ALSO AVAILABLE AS FLO 24" CLOW RW GV MJMJ W/A *** 3 YEAR CONTRACT PRICE \$	17699.00 G X FLG AND N ACC 25469.00	N/ACC NJ X FLG AT SAME PRICE *** NJ X FLG AT SAME PRICE ***
				Lot Total: \$0.00
Item# Lin	ne Item	Unit Price	Qty/Unit	Total Price
OCWUT 36-24- -04-01	Group 4: Mechanical Joint Valves: ABZ Mastergear Valve Operators and Valves - First Offer		1 / each	0.00%

Product Code: Agency Notes:	Supplier Product Code: NO BID Supplier Notes: NO BID		
OCWUT Group 4: Mechanical Joint Valves: Allis Chalmers Valv 36-24- -04-02 Operators and Valves - First Offe			
Product Code: Agency Notes:	Supplier Product Code: NO BID Supplier Notes: NO BID		
OCWUT Group 4: Mechanical Joint Valves: American Valves - Firs 36-24- -04-03			
Product Code: Agency Notes:	Supplier Product Code: NO BID Supplier Notes: NO BID		
OCWUT Group 4: Mechanical Joint Valves: APCO Valves - First Offe 36-24- -04-04	r 0.00% 1 / each 0.00%		
Product Code: Agency Notes:	Supplier Product Code: NO BID Supplier Notes: NO BID		
OCWUT Group 4: Mechanical Joint Valves: ARI - Air Relief Valves - First 36-24-04-05			
Product Code: Agency Notes:	Supplier Product Code: NO BID Supplier Notes: NO BID		
OCWUT Group 4: Mechanical Joint Valves: ASCO Valves - First Offe 36-24- -04-06	r 0.00% 1 / each 0.00%		
Product Code: Agency Notes:	Supplier Product Code: NO BID Supplier Notes: NO BID		
OCWUT Group 4: Mechanical Joint Valves: ASCO: 1-way, normal 36-24- -04-07			
Product Code: Agency Notes:	Supplier Product Code: NO BID Supplier Notes:		
OCWUT Group 4: Mechanical Joint Valves: ASCO: 1-way, normall 36-24- -04-08	y 0.00% 1 / each 0.00%		
Product Code: Agency Notes:	Supplier Product Code: NO BID Supplier Notes:		
OCWUT Group 4: Mechanical Joint Valves: ASCO: 3-way, 2 position 36-24-04-09	- 0.00% 1 / each 0.00%		
Product Code: Agency Notes:	Supplier Product Code: NO BID Supplier Notes:		
OCWUT Group 4: Mechanical Joint Valves: ASCO: 4-way, 2 position 36-24-04-10	- 0.00% 1 / each 0.00%		
Product Code: Agency Notes:	Supplier Product Code: NO BID Supplier Notes:		
OCWUT Group 4: Mechanical Joint Valves: Auma valves an 36-24- -04-11	0.00% 1/each 0.00%		
Product Code:	Supplier Product Code: NO BID		

Supplier Notes:	
ve Positioners - 0.00% 1 / each 0 First Offer	0.00%
Supplier Product Code: NO BID	
Supplier Notes:	
	0.00%
Supplier Product Code: NO BID	
Supplier Notes:	
).00%
Supplier Product Code: NO BID	
Supplier Notes:	
	0.00%
Supplier Product Code: NO BID Supplier Notes:	
Altitude Valves - 0.00% 1 / each 0 First Offer	0.00%
Supplier Product Code: NO BID Supplier Notes:	
De Valves - First 0.00% 1 / each 0).00%
Supplier Product Code: NO BID Supplier Notes:	
·).00%
Supplier Product Code: NO BID	
Supplier Notes:	
).00%
Supplier Product Code: NO BID	
	0.00%
·	1.00%
Supplier Product Code: NO BID	
Supplier Notes:	
	0.00%
Supplier Product Code: NO BID Supplier Notes:	
al Needle Valve 0.00% 1 / each 0	0.00%
Supplier Product Code: NO BID	
	Supplier Product Code: NO BID Supplier Notes:

ants, Valve	is, Repair	Trusts		
OCWUT 36-24- -04-23	Group 4: Mechanical Joint Valves: Cla-val flow clean strainer, straight & angled, x47 model - First Offer	0.00%	1 / each	0.00%
Product C	ode:	Supplier Product Code: NO	D BID	
Agency N	otes:	Supplier Notes:		1
OCWUT 36-24- -04-24	Group 4: Mechanical Joint Valves: Cla-val model x105L, x105L2, limit switch assemblies - First Offer	0.00%	1 / each	0.00%
Product C		Supplier Product Code: NO Supplier Notes:	O BID	
Agency N			1 / -	0.000/
OCWUT 36-24- -04-25	Group 4: Mechanical Joint Valves: Cla-val 3/8 inch to 24 inch pressure relief/control valves - First Offer	0.00%	1 / each	0.00%
Product C Agency N		Supplier Product Code: NO Supplier Notes:	O BID	
OCWUT		0.00%	1 / each	0.00%
36-24- -04-26	Group 4: Mechanical Joint Valves: Cla-val solenoid control valves - First Offer	0.00%	17 each	0.00%
Product C		Supplier Product Code: NO	O BID	
Agency N		Supplier Notes:	1 / -	0.000/
OCWUT 36-24- -04-27	Group 4: Mechanical Joint Valves: Clayton valve operators, positioners, and valves - First Offer	0.00%	1 / each	0.00%
Product C Agency N		Supplier Product Code: NO Supplier Notes:	O BID	
OCWUT 36-24- -04-28	Group 4: Mechanical Joint Valves: Clow Valves - First Offer	0.00%	1 / each	0.00%
Product C Agency N		Supplier Product Code: Supplier Notes: SEE CONTRACT PRICE FOR OCWUT 36-24-03-01 THROUGH OCWUT 36-24-03-11		
OCWUT 36-24- -04-29	Group 4: Mechanical Joint Valves: Clow Valves, 6 inch to 12 inch, flanged - First Offer	0.00%	1 / each	0.00%
Product C Agency N		Supplier Product Code: Supplier Notes: SEE CONTRACT PRICE FOR OCWUT 36-24-03-04 THROUGH OCWUT 36-24-03-07		
OCWUT 36-24- -04-30	Group 4: Mechanical Joint Valves: Crispen Valves - First Offer	0.00%	1 / each	0.00%
Product C Agency N		Supplier Product Code: NO Supplier Notes:	O BID	
OCWUT 36-24- -04-31	Group 4: Mechanical Joint Valves: Darling gate valves 4 inch to 24 inch, flanged - First Offer	0.00%	1 / each	0.00%
Product C		Supplier Product Code: NO Supplier Notes:	O BID	
OCWUT 36-24- -04-32	Group 4: Mechanical Joint Valves: Darling valve operators and valves - First Offer	0.00%	1 / each	0.00%
Product C Agency N		Supplier Product Code: NO Supplier Notes:	O BID	
	Group 4: Mechanical Joint Valves: DeZurik Valves - First Offer	0.00%	1 / each	0.00%
Product C Agency N		Supplier Product Code: NO Supplier Notes:	O BID	

rants, Valves, Repair it	S Trusts		
OCWUT Group 4: Mechanical Joint Valves: EIM Valve Operators - Firs 36-24- -04-34			
Product Code: Agency Notes:	Supplier Product Code: NO BID Supplier Notes:		
OCWUT Group 4: Mechanical Joint Valves: Golden Anderson Valves 36-24- -04-35	0.00% 1 / each 0.00%		
Product Code: Agency Notes:	Supplier Product Code: NO BID Supplier Notes:		
OCWUT Group 4: Mechanical Joint Valves: Hydro Gate Valves - Firs 36-24- -04-36	0.00% 1 / each 0.00%		
Product Code: Agency Notes:	Supplier Product Code: NO BID Supplier Notes:		
OCWUT Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch to 36-24- -04-37			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: NO BID		
OCWUT Group 4: Mechanical Joint Valves: Keystone valve operators 36-24- -04-38			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: NO BID		
OCWUT Group 4: Mechanical Joint Valves: Kinetrol Pneumatic Valves 36-24- -04-39			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: NO BID		
OCWUT Group 4: Mechanical Joint Valves: Kunkle Valves - First Offel 36-24-04-40	0.00% 1 / each 0.00%		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: NO BID		
OCWUT Group 4: Mechanical Joint Valves: Kytronics Valves 36-24-Positioners - First Offer -04-41			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: NO BID		
OCWUT Group 4: Mechanical Joint Valves: Limitorque Valve 36-24-Positioners - First Offer-04-42			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: NO BID		
OCWUT Group 4: Mechanical Joint Valves: Ludlow Valves - First Offer 36-24-04-43	0.00% 1 / each 0.00%		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: NO BID		
	1		

ants, valv	es, Repair its	Trusts		
OCWUT 36-24- -04-44	Group 4: Mechanical Joint Valves: Mercoid: Pressure Adjustment Switches - First Offer	0.00%	1 / each	0.00%
Product Code:		Supplier Product Code:		
Agency I	Notes:	Supplier Notes:		
OCWUT 36-24- -04-45	Group 4: Mechanical Joint Valves: Miller Valve Operators - First Offer	0.00%	1 / each	0.00%
Product		Supplier Product Code:		
Agency I		Supplier Notes:	4 / 1	0.000/
OCWUT 36-24- -04-46	Group 4: Mechanical Joint Valves: Mueller Valve Operators - First Offer	0.00%	1 / each	0.00%
Product		Supplier Product Code:		
Agency I		Supplier Notes:		
OCWUT 36-24- -04-47	Group 4: Mechanical Joint Valves: Parker Hannifir Valve Operators - First Offer	0.00%	1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: NO BID		
OCWUT 36-24- -04-48	Group 4: Mechanical Joint Valves: Pratt Butterfly Valves 4 inch to 24 inch, flanged - First Offer	0.00%	1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: NO BID		
OCWUT 36-24- -04-49	Group 4: Mechanical Joint Valves: Pratt Butterfly Valves 4 inch to 24 inch, non-flanged - First Offer		1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: NO BID		
OCWUT 36-24- -04-50	Group 4: Mechanical Joint Valves: Pratt Valve Operators and Valves - First Offer	0.00%	1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: NO BID		
OCWUT 36-24- -04-51	Group 4: Mechanical Joint Valves: Rensselaer check valves 6 inch to 20 inch, flanged - First Offer		1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: NO BID		
OCWUT 36-24- -04-52	Group 4: Mechanical Joint Valves: Rodney Hunt Valves - First Offer	1	1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: NO BID		
OCWUT 36-24- -04-53	Group 4: Mechanical Joint Valves: Ross Valves - First Offer	0.00%	1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes:		

a, . a	res, repair	Tracto		
		NO BID		
OCWUT 36-24- -04-54	Group 4: Mechanical Joint Valves: Rototork: Valve Actuators - First Offer	0.00%	1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: NO BID		
OCWUT 36-24- -04-55	Group 4: Mechanical Joint Valves: Sluce Gate Valves - First Offer		1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: NO BID		
OCWUT 36-24- -04-56	Group 4: Mechanical Joint Valves: Val-matic Valves - First Offer		1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: NO BID		
OCWUT 36-24- -04-57	Group 4: Mechanical Joint Valves: Verse Valve Operators - First Offer	0.00%	1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: NO BID		
OCWUT 36-24- -04-58	Group 4: Mechanical Joint Valves: Xomox Valves - First Offer	0.00%	1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: NO BID		
Item #	Line Item	Unit Price	Qty/Unit	Lot Total: \$0.00 Total Price
OCWUT 36-24- -05-01	Group 5: Hydrant and Valve Repair Parts: American Darling Model B-62 Repair Parts, Tools, and/or Accessories - First Offer	0.00%	1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: NO BID		
OCWUT 36-24- -05-02	Group 5: Hydrant and Valve Repair Parts: American Darling Model B-84 Repair Parts, Tools, and/or Accessories - First Offer		1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: NO BID		
OCWUT 36-24- -05-03	Group 5: Hydrant and Valve Repair Parts: American Darling Gate and Tapping Valve Repair Parts - First Offer		1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: NO BID		
OCWUT 36-24- -05-04	Group 5: Hydrant and Valve Repair Parts: Mueller A-423 Centurion Repair Parts, Tools, and Accessories - First Offer		1 / each	0.00%
Product	Code:	Supplier Product Code:		

ants, vaives, Repair	113	Trusts		
Agency Notes:		Supplier Notes: NO BID		
	nd Valve Repair Parts: Mueller Valve iate, and Tapping Valves - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NO BID		
	alve Repair Parts: U.S. Pipe Gate and rts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NO BID		
	d Valve Repair Parts: U.S. Pipe Metro l Repair Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NO BID		
	d Valve Repair Parts: U.S. Pipe Metro l Repair Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NO BID		
	/alve Repair Parts: U.S. Pipe Sentinel rts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NO BID		
	Valve Repair Parts: M&H 129 Reliant rts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NO BID		
	d Valve Repair Parts: M&H Gate and oping Valve Repair Parts - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NO BID		
	alve Repair Parts: Clow F2500 Repair s, Tools, and Accessories - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NO BID		
	d Valve Repair Parts: Clow Gate and rts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NO BID		
	d Valve Repair Parts: Clow Medallion rts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%

-05-14	es, riepaii its			
Product (Agency N		Supplier Product Code: Supplier Notes: NO BID		
OCWUT 36-24- -05-15	Group 5: Hydrant and Valve Repair Parts: Kennedy Gate and Tapping Valve Repair Parts, Tools, & Accessories - First Offer		1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: NO BID		
OCWUT 36-24- -05-16	Group 5: Hydrant and Valve Repair Parts: Kennedy K-81 Guardian Repair Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: NO BID		
OCWUT 36-24- -05-17	Group 5: Hydrant and Valve Repair Parts: Pratt Butterfly Valves Repair Parts, Tools, & Accessories - First Offer		1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: NO BID		
OCWUT 36-24- -05-18	Group 5: Hydrant and Valve Repair Parts: Vertical shoe for hydrants - First Offer		1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: CLOW ME CONTRACT PRICE \$1374.00		1" MVO VERTICAL SHOE
OCWUT 36-24- -05-19	Group 5: Hydrant and Valve Repair Parts: EJ (East Jordan) Watermaster 5CD250 Repair, parts, Tools, and/or Accessories - First Offer		1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: NO BID		
OCWUT 36-24- -05-20	Group 5: Hydrant and Valve Repair Parts: EJ (East Jordan) Flowmaster RW Repair, Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: NO BID		
			a	Lot Total: \$0.00
OCWUT 36-24- -06-01	Group 6: Shop Labor: Shop Labor - First Offer	\$0.00	Qty/Unit 1 / hour	\$0.00
Product (Supplier Product Code: Supplier Notes: NO BID		I
OCWUT 36-24- -06-02	Group 6: Shop Labor: Shop Labor - First Offer		1 / hour	\$0.00
Product (Agency N		Supplier Product Code: Supplier Notes: NO BID		
				Lot Total: \$0.00

Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT	Group 7: Federal Acquisition Regulations: Federal Acquisition		1 / each	
36-24-	Regulations - First Offer			
-07-01				
Product	Product Code: Supplier Product Code:			
Agency Notes:		Supplier Notes:		
				Lot Total: \$0.00

CORE & MAIN LP \$0.00 (105/105 items)

Bid Contact **Michael Beckham**

Fax 918-586-7101

michael.beckham@coreandmain.com Ph 918-586-7100 Address **14701 E 116th St N Owasso, OK 74055**

Agency N	Notes:	Supplier Notes:		
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 36-24- -01-01	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 3 foot - First Offer	-54.50%	1 / each	-54.50%
		Supplier Product Code: AF Supplier Notes: MINUS 54		T PRICE
OCWUT 36-24- -01-02	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 4 foot - First Offer	-54.50%	1 / each	-54.50%
Product Agency N		Supplier Product Code: AF Supplier Notes: MINUS 54		T PRICE
OCWUT 36-24- -01-03	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 4.5 foot - First Offer		1 / each	-54.50%
Product Code: Agency Notes:		Supplier Product Code: AF Supplier Notes: MINUS 54		T PRICE
OCWUT 36-24- -01-04	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 5 foot - First Offer	-54.50%	1 / each	-54.50%
Product Code: Agency Notes:		Supplier Product Code: AF Supplier Notes: MINUS 54		T PRICE
OCWUT 36-24- -01-05	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 6 foot - First Offer	-54.50%	1 / each	-54.50%
Product Agency N		Supplier Product Code: AF Supplier Notes: MINUS 54		T PRICE

				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 36-24- -02-01	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 16 inch - First Offer	25.00%	1 / each	25.00%
Product (Agency N		Supplier Product Code: VA Supplier Notes: LIST PRICE FROM 2017 +25%	ALMATIC	
OCWUT 36-24- -02-02	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 18 inch - First Offer	25.00%	1 / each	25.00%
Product (Agency N		Supplier Product Code: VA Supplier Notes: LIST PRICE +25%		
OCWUT 36-24- -02-03	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 20 inch - First Offer	25.00%	1 / each	25.00%
Product Code: Agency Notes:		Supplier Product Code: VALMATIC Supplier Notes: LIST PRICE FROM 2017 +25%		
OCWUT 36-24- -02-04	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 24 inch - First Offer	25.00%	1 / each	25.00%
Product (Agency N		Supplier Product Code: VA Supplier Notes: LIST PRICE FROM 2017 +25%	ALMATIC	
OCWUT 36-24- -02-05	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 30 inch - First Offer	25.00%	1 / each	25.00%
Product (Agency N		Supplier Product Code: VA Supplier Notes: LIST PRICE FROM 2017 +25%	ALMATIC	
OCWUT 36-24- -02-06	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 36 inch - First Offer	25.00%	1 / each	25.00%
Product (Agency N		Supplier Product Code: V/Supplier Notes: LIST PRICE +25%		

ants, Valve	es, Repair its	Trusts		
OCWUT 36-24- -02-07	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 48 inch - First Offer	I .	1 / each	25.00%
Product Code: Sagency Notes: Sagency		Supplier Product Code: VALMATIC Supplier Notes: LIST PRICE FROM 2017 +25%		
OCWUT 36-24- -02-08	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 6 inch - 56 inch - First Offer		1 / each	25.00%
Product (Agency N		Supplier Product Code: VA Supplier Notes: LIST PRICE +25%		
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 36-24- -03-01	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 2 inch - First Offer		1 / each	-49.50%
Product (Agency N		Supplier Product Code: AF Supplier Notes: MINUS 49.5% FROM LIST PI		
OCWUT 36-24- -03-02	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 3 inch - First Offer		1 / each	-49.50%
Product Code: Agency Notes:		Supplier Product Code: AF Supplier Notes: MINUS 49		T PRICE
OCWUT 36-24- -03-03	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 4 inch - First Offer		1 / each	-49.50%
Product (Agency N		Supplier Product Code: AF Supplier Notes: MINUS 49		T PRICE
OCWUT 36-24- -03-04	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 6 inch - First Offer		1 / each	-49.50%
Product Code: Agency Notes:		Supplier Product Code: AF Supplier Notes: MINUS 49		Γ PRICE
OCWUT 36-24- -03-05	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 8 inch - First Offer		1 / each	-49.50%
Product Code: Agency Notes:		Supplier Product Code: AF Supplier Notes: MINUS 49		Γ PRICE
OCWUT 36-24-	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 10 inch - First Offer		1 / each	-49.50%

-03-06	es, Nepali its	Trusts		
		Supplier Product Code: AF Supplier Notes: MINUS 49		CE
OCWUT 36-24-	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 12 inch - First Offer	-49.50%	1 / each	-49.50%
-03-07 Product Code: Agency Notes:		Supplier Product Code: AF Supplier Notes: MINUS 49		CE
OCWUT 36-24- -03-08	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 14 inch - First Offer	-40.00%	1 / each	-40.00%
Product (Agency N		Supplier Product Code: AF Supplier Notes: MINUS 40% FROM LIST PRI		
OCWUT 36-24- -03-09	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 16 inch - First Offer	-40.00%	1 / each	-40.00%
Product Code: Agency Notes:		Supplier Product Code: AF Supplier Notes: MINUS 40		:
OCWUT 36-24- -03-10	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 18 inch - First Offer	-40.00%	1 / each	-40.00%
Product (Agency N		Supplier Product Code: AFC Supplier Notes: MINUS 40% FROM LIST PRICE		
OCWUT 36-24- -03-11	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 20 inch - 56 inch - First Offer	40.00%	1 / each	40.00%
Product Code: Agency Notes:		Supplier Product Code: AF Supplier Notes: MINUS 40		:
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 36-24- -04-01	Group 4: Mechanical Joint Valves: ABZ Mastergear Valve Operators and Valves - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: NO Supplier Notes: NO BID	O BID	
OCWUT 36-24-	Group 4: Mechanical Joint Valves: Allis Chalmers Valve Operators and Valves - First Offer	-10.00%	1 / each	-10.00%

	es, Repail	Trusis	l I	
-04-02				
Agency Notes:		Supplier Product Code: G/ Supplier Notes: MINUS 10 https://gaindustries.com		
OCWUT 36-24- -04-03	Group 4: Mechanical Joint Valves: American Valves - First Offer	-49.50%	1 / each	-49.50%
Product		Supplier Product Code: AF		
Agency N	votes.	Supplier Notes: MINUS 49	.570	
OCWUT 36-24- -04-04	Group 4: Mechanical Joint Valves: APCO Valves - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Code: NO Supplier Notes: NO BID	O BID	
OCWUT 36-24- -04-05	Group 4: Mechanical Joint Valves: ARI - Air Relief Valves - First Offer	-15.00%	1 / each	-15.00%
Product Code: Agency Notes:		Supplier Product Code: AF Supplier Notes: MINUS 15		
OCWUT 36-24- -04-06	Group 4: Mechanical Joint Valves: ASCO Valves - First Offer	20.00%	1 / each	20.00%
Product (Agency N		Supplier Product Code: AS Supplier Notes: WWW.VAL		
OCWUT 36-24- -04-07	Group 4: Mechanical Joint Valves: ASCO: 1-way, normally closed - First Offer	20.00%	1 / each	20.00%
Product (Agency N		Supplier Product Code: AS Supplier Notes: WWW.VALVE-WAREHOUSE.		
OCWUT 36-24- -04-08	Group 4: Mechanical Joint Valves: ASCO: 1-way, normally open - First Offer		1 / each	20.00%
Product (Agency N		Supplier Product Code: AS Supplier Notes: WWW.VAL		
OCWUT 36-24- -04-09	Group 4: Mechanical Joint Valves: ASCO: 3-way, 2 position - First Offer	20.00%	1 / each	20.00%
Product (Agency N		Supplier Product Code: AS Supplier Notes: WWW.VAL		
OCWUT 36-24- -04-10	Group 4: Mechanical Joint Valves: ASCO: 4-way, 2 position - First Offer	20.00%	1 / each	20.00%
Product Agency N		Supplier Product Code: AS Supplier Notes: WWW.VAL		
OCWUT	Group 4: Mechanical Joint Valves: Auma valves and	0.00%	1 / each	0.00%

ants, vaive	es, Repair its	Trusts		
36-24- -04-11	operators - First Offer			
Product (Agency N		Supplier Product Code: NO Supplier Notes: NO BID	O BID	
OCWUT 36-24- -04-12	Group 4: Mechanical Joint Valves: Bailey Valve Positioners - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: No Supplier Notes: NO BID	O BID	
OCWUT 36-24- -04-13	Group 4: Mechanical Joint Valves: Bermed Valve, Parts, and Controls - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: NO Supplier Notes: NO BID	O BID	
OCWUT 36-24- -04-14	Group 4: Mechanical Joint Valves: Chapman Valve Operators and Valves - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: NO Supplier Notes: NO BID	O BID	
OCWUT 36-24- -04-15	Group 4: Mechanical Joint Valves: Check Valves 4 inch to 24 inch flanged - First Offer	-40.00%	1 / each	-40.00%
Product (Agency N		Supplier Product Code: AF Supplier Notes: MINUS 40		
OCWUT 36-24- -04-16	Group 4: Mechanical Joint Valves: Cla-val Altitude Valves - First Offer	250.00%	1 / each	250.00%
Product (Agency N		Supplier Product Code: CL Supplier Notes: 250% CLA		ING 2016
OCWUT 36-24- -04-17	Group 4: Mechanical Joint Valves: Cla-val Globe Valves - First Offer	250.00%	1 / each	250.00%
Product (Agency N		Supplier Product Code: CL Supplier Notes: 250% CLA-VAL LIST PRICING		
OCWUT 36-24- -04-18	Group 4: Mechanical Joint Valves: Cla-val Pump Control Valves - Booster Type - First Offer	250.00%	1 / each	250.00%
Product (Agency N		Supplier Product Code: CL Supplier Notes: 250% CLA-VAL LIST PRICING		
OCWUT 36-24- -04-19	Group 4: Mechanical Joint Valves: Cla-val Pilot Valves, 4 inch to 12 inch - First Offer	250.00%	1 / each	250.00%
Product 0	Code:	Supplier Product Code: CL	A-VAL	

s Trusts		
Supplier Notes: 250% CLA-VAL LIST PRICING 2016		
t 225.00% 1 / each 225.	.00%	
Supplier Product Code: CLA-VAL Supplier Notes: 250% CLA-VAL LIST PRICING 2016		
225.00% 1 / each 225.	.00%	
Supplier Product Code: CLA-VAL Supplier Notes: 250% CLA-VAL LIST PRICING 2016		
e 250.00% 1 / each 250.	.00%	
Supplier Product Code: CLA-VAL Supplier Notes: 250% CLA-VAL LIST PRICING 2016		
z, 250.00% 1 / each 250.	.00%	
Supplier Product Code: CLA-VAL Supplier Notes: 250% CLA-VAL LIST PRICING 2016		
, 250.00% 1 / each 250.	.00%	
Supplier Product Code: CLA-VAL Supplier Notes: 250% CLA-VAL LIST PRICING 2016		
250.00% 1 / each 250.	.00%	
Supplier Product Code: CLA-VAL Supplier Notes: 250% CLA-VAL LIST PRICING 2016		
I 250.00% 1 / each 250.	.00%	
Supplier Product Code: CLA-VAL Supplier Notes: 250% CLA-VAL LIST PRICING 2016		
r 0.00% 1 / each 0.	.00%	
Supplier Product Code: NO BID Supplier Notes: NO BID		
	Supplier Notes: 250% CLA-VAL LIST PRICING 2016	

ants, vaive	55, Nepali its	Trusis		
OCWUT 36-24- -04-28	Group 4: Mechanical Joint Valves: Clow Valves - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Code: No Supplier Notes: NO BID	O BID	
OCWUT 36-24- -04-29	Group 4: Mechanical Joint Valves: Clow Valves, 6 inch to 12 inch, flanged - First Offer		1 / each	0.00%
Product C Agency N		Supplier Product Code: No Supplier Notes: NO BID	O BID	
OCWUT 36-24- -04-30	Group 4: Mechanical Joint Valves: Crispen Valves - First Offer	-20.00%	1 / each	-20.00%
Product C Agency N		Supplier Product Code: CF Supplier Notes: MINUS 20		
OCWUT 36-24- -04-31	Group 4: Mechanical Joint Valves: Darling gate valves 4 inch to 24 inch, flanged - First Offer		1 / each	-40.00%
Product C Agency N		Supplier Product Code: Af Supplier Notes: MINUS -40		
OCWUT 36-24- -04-32	Group 4: Mechanical Joint Valves: Darling valve operators and valves - First Offer	-15.00%	1 / each	-15.00%
Product C Agency N		Supplier Product Code: AFC Supplier Notes: MINUS 15%		
OCWUT 36-24- -04-33	Group 4: Mechanical Joint Valves: DeZurik Valves - First Offer	0.00%	1 / each	0.00%
Product C Agency N		Supplier Product Code: No Supplier Notes: NO BID	O BID	
OCWUT 36-24- -04-34	Group 4: Mechanical Joint Valves: EIM Valve Operators - First Offer	1	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Code: NO BID Supplier Notes: NO BID		
OCWUT 36-24- -04-35	Group 4: Mechanical Joint Valves: Golden Anderson Valves - First Offer	-20.00%	1 / each	-20.00%
Product C Agency N		Supplier Product Code: Go Supplier Notes: MINUS 20		ON
OCWUT 36-24- -04-36	Group 4: Mechanical Joint Valves: Hydro Gate Valves - First Offer	0.00%	1 / each	0.00%
Product C	Code:	Supplier Product Code: N	O BID	

Agency Notes:	Supplier Notes: NO RID		
	Supplier Notes: NO BID		
OCWUT Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch 36-24- -04-37		1 / each	0.00%
Product Code:	Supplier Product Code: N	O BID	
Agency Notes:	Supplier Notes: NO BID		
OCWUT Group 4: Mechanical Joint Valves: Keystone valve operator	1	1 / each	0.00%
36-24- and valves - First Of -04-38	fer		
Product Code: Agency Notes:	Supplier Product Code: No Supplier Notes: NO BID	O BID	
OCWUT Group 4: Mechanical Joint Valves: Kinetrol Pneumatic Va 36-24- -04-39		1 / each	0.00%
Product Code: Agency Notes:	Supplier Product Code: N Supplier Notes: NO BID	O BID	
OCWUT Group 4: Mechanical Joint Valves: Kunkle Valves - First Of 36-24- -04-40	fer 0.00%	1 / each	0.00%
Product Code: Agency Notes:	Supplier Product Code: N Supplier Notes: NO BID	O BID	
OCWUT Group 4: Mechanical Joint Valves: Kytronics Valv. 36-24-Positioners - First Of		1 / each	0.00%
Product Code: Agency Notes:	Supplier Product Code: NO BID Supplier Notes: NO BID		
OCWUT Group 4: Mechanical Joint Valves: Limitorque Va 36-24- -04-42	1	1 / each	0.00%
Product Code: Agency Notes:	Supplier Product Code: N Supplier Notes: NO BID	O BID	
OCWUT Group 4: Mechanical Joint Valves: Ludlow Valves - First Of 36-24- -04-43	fer 0.00%	1 / each	0.00%
Product Code: Agency Notes:	Supplier Product Code: N Supplier Notes: NO BID	O BID	
OCWUT Group 4: Mechanical Joint Valves: Mercoid: Pressu 36-24- Adjustment Switches - First Of -04-44	1	1 / each	0.00%
Product Code:	Supplier Product Code: N	O BID	
Agency Notes:	Supplier Notes: NO BID		
OCWUT Group 4: Mechanical Joint Valves: Miller Valve Operator 36-24- -04-45		1 / each	0.00%
Product Code: Agency Notes:	Supplier Product Code: N Supplier Notes: NO BID	O BID	
OCWUT Group 4: Mechanical Joint Valves: Mueller Valve Operator	rs - 0.00%	1 / each	0.00%

,	es, Repail	Trusts		
36-24- -04-46	First Offer			
Product Agency N		Supplier Product Code: NO Supplier Notes: NO BID	O BID	
OCWUT 36-24- -04-47	Group 4: Mechanical Joint Valves: Parker Hannifir Valve Operators - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: NO Supplier Notes: NO BID	O BID	
OCWUT 36-24- -04-48	Group 4: Mechanical Joint Valves: Pratt Butterfly Valves 4 inch to 24 inch, flanged - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: NO BID Supplier Notes: NO BID		
OCWUT 36-24- -04-49	Group 4: Mechanical Joint Valves: Pratt Butterfly Valves 4 inch to 24 inch, non-flanged - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Code: NO Supplier Notes: NO BID	O BID	
OCWUT 36-24- -04-50	Group 4: Mechanical Joint Valves: Pratt Valve Operators and Valves - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: NO BID Supplier Notes: NO BID		
OCWUT 36-24- -04-51	Group 4: Mechanical Joint Valves: Rensselaer check valves 6 inch to 20 inch, flanged - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: No Supplier Notes: NO BID	O BID	
OCWUT 36-24- -04-52	Group 4: Mechanical Joint Valves: Rodney Hunt Valves - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: NO Supplier Notes: NO BID	O BID	
OCWUT 36-24- -04-53	Group 4: Mechanical Joint Valves: Ross Valves - First Offer	0.00%	1 / each	0.00%
Product Agency N				
OCWUT 36-24- -04-54	Group 4: Mechanical Joint Valves: Rototork: Valve Actuators - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: No Supplier Notes: NO BID	O BID	
OCWUT 36-24-	Group 4: Mechanical Joint Valves: Sluce Gate Valves - First Offer	0.00%	1 / each	0.00%
-04-55				

anto, vaiv	es, Repair its	Irusts		
Agency I	Notes:	Supplier Notes: NO BID		
OCWUT 36-24- -04-56	Group 4: Mechanical Joint Valves: Val-matic Valves - First Offer	25.00%	1 / each	25.00%
Product Agency I		Supplier Product Code: VALMATIC Supplier Notes: LIST PRICE FROM 2017		
OCWUT 36-24- -04-57	Group 4: Mechanical Joint Valves: Verse Valve Operators - First Offer	0.00%	1 / each	0.00%
Product Agency I		Supplier Product Code: No Supplier Notes: NO BID	O BID	
OCWUT 36-24- -04-58	Group 4: Mechanical Joint Valves: Xomox Valves - First Offer	0.00%	1 / each	0.00%
Product Agency I		Supplier Product Code: No Supplier Notes: NO BID	O BID	
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 36-24- -05-01	Group 5: Hydrant and Valve Repair Parts: American Darling Model B-62 Repair Parts, Tools, and/or Accessories - First Offer	-10.00%	1 / each	-10.00%
Product Agency I		Supplier Product Code: AF Supplier Notes: MINUS 10		RICE
OCWUT 36-24- -05-02	Group 5: Hydrant and Valve Repair Parts: American Darling Model B-84 Repair Parts, Tools, and/or Accessories - First Offer	-10.00%	1 / each	-10.00%
Product Agency I		Supplier Product Code: AF Supplier Notes: MINUS 10		RICE
OCWUT 36-24- -05-03	Group 5: Hydrant and Valve Repair Parts: American Darling Gate and Tapping Valve Repair Parts - First Offer	-10.00%	1 / each	-10.00%
Product Agency I		Supplier Product Code: AF Supplier Notes: MINUS 10		RICE
OCWUT 36-24- -05-04	Group 5: Hydrant and Valve Repair Parts: Mueller A-423 Centurion Repair Parts, Tools, and Accessories - First Offer	0.00%	1 / each	0.00%
Product Agency I		Supplier Product Code: No Supplier Notes: NO BID	O BID	
OCWUT 36-24- -05-05	Group 5: Hydrant and Valve Repair Parts: Mueller Valve Operators, Gate, and Tapping Valves - First Offer	0.00%	1 / each	0.00%
Product Agency I		Supplier Product Code: NO BID Supplier Notes: NO BID		
OCWUT 36-24- -05-06	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Gate and Tapping Valves Repair Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%
Product Agency I		Supplier Product Code: No Supplier Notes: NO BID	O BID	

anis, vaive	is, repair	 		
OCWUT 36-24- -05-07	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Metro Large Barrel Pre-1994 Repair Parts, Tools, & Accessories - First Offer		1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Code: NO BID Supplier Notes: NO BID		
OCWUT 36-24- -05-08	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Metro Small Barrel Pre-1994 Repair Parts, Tools, & Accessories - First Offer		1 / each	0.00%
Product (Agency N		Supplier Product Code: NO Supplier Notes: NO BID	O BID	
OCWUT 36-24- -05-09	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Sentinel Repair Parts, Tools, & Accessories - First Offer		1 / each	0.00%
Product (Agency N		Supplier Product Code: NO Supplier Notes: NO BID	O BID	
OCWUT 36-24- -05-10	Group 5: Hydrant and Valve Repair Parts: M&H 129 Reliant Repair Parts, Tools, & Accessories - First Offer		1 / each	0.00%
Product (Agency N		Supplier Product Code: NO Supplier Notes: NO BID	pplier Product Code: NO BID pplier Notes: NO BID	
OCWUT 36-24- -05-11	Group 5: Hydrant and Valve Repair Parts: M&H Gate and Tapping Valve Repair Parts - First Offer		1 / each	0.00%
Product (Agency N		Supplier Product Code: NO BID Supplier Notes: NO BID		
OCWUT 36-24- -05-12	Group 5: Hydrant and Valve Repair Parts: Clow F2500 Repair Parts, Tools, and Accessories - First Offer		1 / each	0.00%
Product (Agency N		Supplier Product Code: No Supplier Notes: NO BID	O BID	
OCWUT 36-24- -05-13	Group 5: Hydrant and Valve Repair Parts: Clow Gate and Tapping Valve Repair Parts, Tools, & Accessories - First Offer		1 / each	0.00%
Product (Agency N		Supplier Product Code: NO Supplier Notes: NO BID	O BID	
OCWUT 36-24- -05-14	Group 5: Hydrant and Valve Repair Parts: Clow Medallion Repair Parts, Tools, & Accessories - First Offer		1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Code: No Supplier Notes: NO BID	O BID	
OCWUT 36-24- -05-15	Group 5: Hydrant and Valve Repair Parts: Kennedy Gate and Tapping Valve Repair Parts, Tools, & Accessories - First Offer		1 / each	0.00%
Product (Agency N		Supplier Product Code: No Supplier Notes: NO BID	O BID	
OCWUT 36-24-	Group 5: Hydrant and Valve Repair Parts: Kennedy K-81 Guardian Repair Parts, Tools, & Accessories - First Offer		1 / each	0.00%

OF 1C	es, Repair Its	Trusts	I	I
-05-16				
Product Agency N		Supplier Product Code: NO Supplier Notes: NO BID	O BID	
OCWUT 36-24- -05-17	Group 5: Hydrant and Valve Repair Parts: Pratt Butterfly Valves Repair Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%
Product	Code:	Supplier Product Code: No	O BID	
Agency N	Notes:	Supplier Notes: NO BID		
OCWUT 36-24- -05-18	Group 5: Hydrant and Valve Repair Parts: Vertical shoe for hydrants - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: NO Supplier Notes: NO BID	O BID	
OCWUT 36-24- -05-19	Group 5: Hydrant and Valve Repair Parts: EJ (East Jordan) Watermaster 5CD250 Repair, parts, Tools, and/or Accessories - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: NO BID Supplier Notes: NO BID		
OCWUT 36-24- -05-20	Group 5: Hydrant and Valve Repair Parts: EJ (East Jordan) Flowmaster RW Repair, Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: NO BID Supplier Notes: NO BID		
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 36-24- -06-01	Group 6: Shop Labor: Shop Labor - First Offer	\$0.00	1 / hour	\$0.00
Product	Code:	Supplier Product Code: No	O BID	
Agency N	Notes:	Supplier Notes: NO BID		
OCWUT 36-24-	Group 6: Shop Labor: Shop Labor - First Offer	\$0.00	1 / hour	\$0.00
-06-02				
-06-02 Product Agency N		Supplier Product Code: NO Supplier Notes: NO BID	O BID	
Product Agency N	Notes:	Supplier Notes: NO BID		Lot Total: \$0.00
Product Agency N	Line Item		Qty/Unit	Lot Total: \$0.00 Total Price
Product Agency N	Notes:	Supplier Notes: NO BID		
Product Agency N Item # OCWUT 36-24-	Line Item Group 7: Federal Acquisition Regulations: Federal Acquisition Regulations - First Offer Code:	Supplier Notes: NO BID	Qty/Unit 1 / each	

Ferguson Waterworks

\$0.00 (105/105 items)

Bid Contact **Sean Abla** sean.abla@ferguson.com

Address **1501 S Central Ave Oklahoma City, OK 73129**

	Ph 405-628-8323				
Agency N	Notes:	Supplier Notes:			
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
OCWUT 36-24- -01-01	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 3 foot - First Offer		1 / each	44.00%	
Product Agency N		Supplier Product Code: Supplier Notes: Yes			
OCWUT 36-24- -01-02	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 4 foot - First Offer		1 / each	44.00%	
Product	Code:	Supplier Product Code:			
OCWUT 36-24- -01-03	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 4.5 foot - First Offer		1 / each	44.00%	
Product Agency N		Supplier Product Code: Supplier Notes: Yes			
OCWUT 36-24- -01-04	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 5 foot - First Offer		1 / each	44.00%	
Product Agency N		Supplier Product Code: Supplier Notes: Yes			
OCWUT 36-24-	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 6 foot - First Offer		1 / each	44.00%	

arito, varv	es, Repair its	Trusts		
-01-05				
Product Agency I		Supplier Product Code: Supplier Notes: Yes		
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 36-24- -02-01	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 16 inch - First Offer	10.00%	1 / each	10.00%
Product Agency I		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -02-02	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 18 inch - First Offer	10.00%	1 / each	10.00%
Product Agency I		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -02-03	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 20 inch - First Offer	10.00%	1 / each	10.00%
Product Agency I		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -02-04	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 24 inch - First Offer	10.00%	1 / each	10.00%
Product Agency I		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -02-05	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 30 inch - First Offer	10.00%	1 / each	10.00%
Product Agency I		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -02-06	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 36 inch - First Offer	10.00%	1 / each	10.00%
Product Agency I		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -02-07	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 48 inch - First Offer	10.00%	1 / each	10.00%
Product Agency I		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -02-08	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 6 inch - 56 inch - First Offer	10.00%	1 / each	10.00%

ants, vaiv	res, Repail	Trusis		
Product Agency		Supplier Product Code: Supplier Notes: Yes		
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 36-24- -03-01	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 2 inch - First Offer		1 / each	44.00%
Product Agency		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -03-02	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 3 inch - First Offer		1 / each	44.00%
Product Agency		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -03-03	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 4 inch - First Offer		1 / each	44.00%
Product Agency I		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -03-04	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 6 inch - First Offer		1 / each	44.00%
Product Agency		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -03-05	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 8 inch - First Offer		1 / each	44.00%
Product Agency		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -03-06	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 10 inch - First Offer		1 / each	44.00%
Product Agency		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -03-07	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 12 inch - First Offer		1 / each	44.00%
Product Agency		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -03-08	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 14 inch - First Offer		1 / each	44.00%
Product Agency		Supplier Product Code: Supplier Notes: Yes		
OCWUT	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves:	44.00%	1 / each	44.00%

anis, vaiv	es, Repail	Trusts		
36-24- -03-09	Gate Valve complete with accessories 16 inch - First Offer			
Product Agency N		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -03-10	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 18 inch - First Offer	44.00%	1 / each	44.00%
Product Agency N		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -03-11	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 20 inch - 56 inch - First Offer	44.00%	1 / each	44.00%
Product Agency N		Supplier Product Code: Supplier Notes: Yes		
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 36-24- -04-01	Group 4: Mechanical Joint Valves: ABZ Mastergear Valve Operators and Valves - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-02	Group 4: Mechanical Joint Valves: Allis Chalmers Valve Operators and Valves - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-03	Group 4: Mechanical Joint Valves: American Valves - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-04	Group 4: Mechanical Joint Valves: APCO Valves - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-05	Group 4: Mechanical Joint Valves: ARI - Air Relief Valves - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24-	Group 4: Mechanical Joint Valves: ASCO Valves - First Offer	0.00%	1 / each	0.00%

	os, repair	1		1
Product Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-07	Group 4: Mechanical Joint Valves: ASCO: 1-way, normally closed - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-08	Group 4: Mechanical Joint Valves: ASCO: 1-way, normally open - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-09	Group 4: Mechanical Joint Valves: ASCO: 3-way, 2 position - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-10	Group 4: Mechanical Joint Valves: ASCO: 4-way, 2 position - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-11	Group 4: Mechanical Joint Valves: Auma valves and operators - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-12	Group 4: Mechanical Joint Valves: Bailey Valve Positioners - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-13	Group 4: Mechanical Joint Valves: Bermed Valve, Parts, and Controls - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-14	Group 4: Mechanical Joint Valves: Chapman Valve Operators and Valves - First Offer		1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-15	Group 4: Mechanical Joint Valves: Check Valves 4 inch to 24 inch flanged - First Offer		1 / each	50.00%

anto, vaiv	es, Repail	Trusis		
Product (Agency N		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -04-16	Group 4: Mechanical Joint Valves: Cla-val Altitude Valves - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-17	Group 4: Mechanical Joint Valves: Cla-val Globe Valves - First Offer	0.00%	1 / each	0.00%
Product (Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-18	Group 4: Mechanical Joint Valves: Cla-val Pump Control Valves - Booster Type - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-19	Group 4: Mechanical Joint Valves: Cla-val Pilot Valves, 4 inch to 12 inch - First Offer		1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-20	Group 4: Mechanical Joint Valves: Cla-Val Replacement Parts/Kits - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-21	Group 4: Mechanical Joint Valves: Cla-val Valves, Parts, and Controls - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-22	Group 4: Mechanical Joint Valves: Cla-val Needle Valve Assemblies - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-23	Group 4: Mechanical Joint Valves: Cla-val flow clean strainer, straight & angled, x47 model - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-24	Group 4: Mechanical Joint Valves: Cla-val model x105L, x105L2, limit switch assemblies - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: No Bid		

ants, Valve	es, Repair its	Trusts		
OCWUT 36-24- -04-25	Group 4: Mechanical Joint Valves: Cla-val 3/8 inch to 24 inch pressure relief/control valves - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-26	Group 4: Mechanical Joint Valves: Cla-val solenoid control valves - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-27	Group 4: Mechanical Joint Valves: Clayton valve operators, positioners, and valves - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-28	Group 4: Mechanical Joint Valves: Clow Valves - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-29	Group 4: Mechanical Joint Valves: Clow Valves, 6 inch to 12 inch, flanged - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-30	Group 4: Mechanical Joint Valves: Crispen Valves - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-31	Group 4: Mechanical Joint Valves: Darling gate valves 4 inch to 24 inch, flanged - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-32	Group 4: Mechanical Joint Valves: Darling valve operators and valves - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-33	Group 4: Mechanical Joint Valves: DeZurik Valves - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24-	Group 4: Mechanical Joint Valves: EIM Valve Operators - First Offer	0.00%	1 / each	0.00%

u, . u	es, Repail	Trusis		
Product (Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-35	Group 4: Mechanical Joint Valves: Golden Anderson Valves - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-36	Group 4: Mechanical Joint Valves: Hydro Gate Valves - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-37	Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch to 24 inch - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: No B id		
OCWUT 36-24- -04-38	Group 4: Mechanical Joint Valves: Keystone valve operators and valves - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-39	Group 4: Mechanical Joint Valves: Kinetrol Pneumatic Valve Operators - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-40	Group 4: Mechanical Joint Valves: Kunkle Valves - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-41	Group 4: Mechanical Joint Valves: Kytronics Valves Positioners - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-42	Group 4: Mechanical Joint Valves: Limitorque Valve Positioners - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-43	Group 4: Mechanical Joint Valves: Ludlow Valves - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes:		

anis, vaiv	es, Repair	Trusts		
		No Bid		
OCWUT 36-24- -04-44	Group 4: Mechanical Joint Valves: Mercoid: Pressure Adjustment Switches - First Offer	0.00%	1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-45	Group 4: Mechanical Joint Valves: Miller Valve Operators - First Offer	0.00%	1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-46	Group 4: Mechanical Joint Valves: Mueller Valve Operators - First Offer	44.00%	1 / each	44.00%
Product Agency I		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -04-47	Group 4: Mechanical Joint Valves: Parker Hannifir Valve Operators - First Offer	0.00%	1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-48	Group 4: Mechanical Joint Valves: Pratt Butterfly Valves 4 inch to 24 inch, flanged - First Offer	10.00%	1 / each	10.00%
Product Agency I		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -04-49	Group 4: Mechanical Joint Valves: Pratt Butterfly Valves 4 inch to 24 inch, non-flanged - First Offer		1 / each	10.00%
Product Agency I		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -04-50	Group 4: Mechanical Joint Valves: Pratt Valve Operators and Valves - First Offer	10.00%	1 / each	10.00%
Product Agency I		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -04-51	Group 4: Mechanical Joint Valves: Rensselaer check valves 6 inch to 20 inch, flanged - First Offer		1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-52	Group 4: Mechanical Joint Valves: Rodney Hunt Valves - First Offer	0.00%	1 / each	0.00%
Product	Code:	Supplier Product Code:		

anis, vaiv	es, Repail	Trusis		
Agency N	Notes:	Supplier Notes: No Bid		
OCWUT 36-24- -04-53	Group 4: Mechanical Joint Valves: Ross Valves - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-54	Group 4: Mechanical Joint Valves: Rototork: Valve Actuators - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-55	Group 4: Mechanical Joint Valves: Sluce Gate Valves - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-56	Group 4: Mechanical Joint Valves: Val-matic Valves - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-57	Group 4: Mechanical Joint Valves: Verse Valve Operators - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -04-58	Group 4: Mechanical Joint Valves: Xomox Valves - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: No Bid		
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 36-24- -05-01	Group 5: Hydrant and Valve Repair Parts: American Darling Model B-62 Repair Parts, Tools, and/or Accessories - First Offer		1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -05-02	Group 5: Hydrant and Valve Repair Parts: American Darling Model B-84 Repair Parts, Tools, and/or Accessories - First Offer		1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -05-03	Group 5: Hydrant and Valve Repair Parts: American Darling Gate and Tapping Valve Repair Parts - First Offer		1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes:		

		No Bid		
OCWI IT	Cray of Fell Industry and Value Densir Ports Missiles A 422		1 / a a s b	0.000/
OCWUT 36-24- -05-04	Group 5: Hydrant and Valve Repair Parts: Mueller A-423 Centurion Repair Parts, Tools, and Accessories - First Offer	9.00%	1 / each	9.00%
Product (Agency N		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -05-05	Group 5: Hydrant and Valve Repair Parts: Mueller Valve Operators, Gate, and Tapping Valves - First Offer	50.00%	1 / each	50.00%
Product (Agency N		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -05-06	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Gate and Tapping Valves Repair Parts, Tools, & Accessories - First Offer	8.00%	1 / each	8.00%
Product (Agency N		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -05-07	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Metro Large Barrel Pre-1994 Repair Parts, Tools, & Accessories - First Offer	9.00%	1 / each	9.00%
Product (Agency N		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -05-08	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Metro Small Barrel Pre-1994 Repair Parts, Tools, & Accessories - First Offer	9.00%	1 / each	9.00%
Product (Agency N		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -05-09	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Sentinel Repair Parts, Tools, & Accessories - First Offer	9.00%	1 / each	9.00%
Product Agency N		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -05-10	Group 5: Hydrant and Valve Repair Parts: M&H 129 Reliant Repair Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -05-11	Group 5: Hydrant and Valve Repair Parts: M&H Gate and Tapping Valve Repair Parts - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -05-12	Group 5: Hydrant and Valve Repair Parts: Clow F2500 Repair Parts, Tools, and Accessories - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24-	Group 5: Hydrant and Valve Repair Parts: Clow Gate and Tapping Valve Repair Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%

	•			
-05-13				
Product Agency I		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -05-14	Group 5: Hydrant and Valve Repair Parts: Clow Medallion Repair Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -05-15	Group 5: Hydrant and Valve Repair Parts: Kennedy Gate and Tapping Valve Repair Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -05-16	Group 5: Hydrant and Valve Repair Parts: Kennedy K-81 Guardian Repair Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -05-17	Group 5: Hydrant and Valve Repair Parts: Pratt Butterfly Valves Repair Parts, Tools, & Accessories - First Offer	8.00%	1 / each	8.00%
Product Agency I		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -05-18	Group 5: Hydrant and Valve Repair Parts: Vertical shoe for hydrants - First Offer	8.00%	1 / each	8.00%
Product Agency I		Supplier Product Code: Supplier Notes: Yes		
OCWUT 36-24- -05-19	Group 5: Hydrant and Valve Repair Parts: EJ (East Jordan) Watermaster 5CD250 Repair, parts, Tools, and/or Accessories - First Offer	0.00%	1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -05-20	Group 5: Hydrant and Valve Repair Parts: EJ (East Jordan) Flowmaster RW Repair, Parts, Tools, & Accessories - First Offer		1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: No Bid		
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 36-24- -06-01	Group 6: Shop Labor: Shop Labor - First Offer	\$0.00	1 / hour	\$0.00
Product Agency I		Supplier Product Code: Supplier Notes: No Bid		
OCWUT 36-24- -06-02	Group 6: Shop Labor: Shop Labor - First Offer	\$0.00	1 / hour	\$0.00

Product Code: Agency Notes: Supplier Product Code: Supplier Notes: No Bid				
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 36-24- -07-01	Group 7: Federal Acquisition Regulations: Federal Acquisition Regulations - First Offer		1 / each	
Product Agency I		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00

	DNMENTAL IMPROVEMENTS, INC. (ei2) atact JAIMIE ALEMOND mledger@ei2dallas.com Ph 972-436-2536	\$400.00 (24/105 items) Address 517 N KEALY LEWISVILLE, TX 76262		
Agency I	Notes:	Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 36-24- -01-01	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 3 foot			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -01-02	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 4 foot			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -01-03	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 4.5 foot			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -01-04	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 5 foot			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	1	
OCWUT 36-24- -01-05	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 6 foot			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 36-24- -02-01	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 16 inch - First Offer		1 / each	20.00%
Product Agency I		Supplier Product Code: Supplier Notes: For Golde List. Add percent to List Prio		d Crispin. See Attached Price

	co, repair			
OCWUT	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve	20.00%	1 / each	20.00%
36-24-	with accessories 18 inch - First Offer			
-02-02 Product	Code:	Supplier Product Code:		
Agency N				nd Crispin. See Attached Price
OCWUT	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve		1 / each	20.00%
36-24- -02-03	with accessories 20 inch - First Offer			
Product Agency N		Supplier Product Code:	a Anderson an	nd Crispin. See Attached Price
Agency	votes.	List. Add percent to List Price	ce.	la Crispin. See Attacried Frice
OCWUT	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve	20.00%	1 / each	20.00%
36-24- -02-04	with accessories 24 inch - First Offer			
Product	Code:	Supplier Product Code:		
Agency N				d Crispin. See Attached Price
		List. Add percent to List Pric		

OCWUT 36-24- -02-05	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 30 inch - First Offer		1 / each	20.00%
Product Agency				d Crispin. Buried Valves larger Attached Price List. Add percent
OCWUT 36-24- -02-06	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 36 inch - First Offer		1 / each	20.00%
Product Agency		Supplier Product Code: Supplier Notes: For Golde 24" must be quoted from the		nd Crispin. All Valves larger than dipercent to List Price.
OCWUT 36-24- -02-07	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 48 inch - First Offer		1 / each	20.00%
Product Agency		Supplier Product Code: Supplier Notes: For Golde: 24" must be quoted from the		nd Crispin. All Valves larger than Il percent to List Price.

	, , <u>, , , , , , , , , , , , , , , , , </u>	+		
OCWUT 36-24- -02-08	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 6 inch - 56 inch - First Offer	20.00%	1 / each	20.00%
Product Agency I		Supplier Product Code: Supplier Notes: For Golder 24" must be quoted from the		nd Crispin. All Valves larger than d percent to List Price.
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 36-24- -03-01	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 2 inch			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -03-02	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 3 inch			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -03-03	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 4 inch			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	<u> </u>	
OCWUT 36-24- -03-04	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 6 inch	Supplied House		No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -03-05	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 8 inch			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -03-06	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 10 inch			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -03-07	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 12 inch			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		

anis, vaiv	es, repail	Trusis		
-03-08				
Agency N	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -03-09	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 16 inch			No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -03-10	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 18 inch			No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -03-11	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 20 inch - 56 inch			No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 36-24- -04-01	Group 4: Mechanical Joint Valves: ABZ Mastergear Valve Operators and Valves			No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-02	Group 4: Mechanical Joint Valves: Allis Chalmers Valve Operators and Valves			No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-03	Group 4: Mechanical Joint Valves: American Valves			No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-04	Group 4: Mechanical Joint Valves: APCO Valves			No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-05	Group 4: Mechanical Joint Valves: ARI - Air Relief Valves - First Offer		1 / each	20.00%
Product Agency N		Supplier Product Code: Supplier Notes: Please inc section. See Attached Price		nderson Air Release Valves in this cent to List Price.
OCWUT 36-24-	Group 4: Mechanical Joint Valves: ASCO Valves - First Offer	20.00%	1 / each	20.00%
OCWUT 36-24-	Group 4: Mechanical Joint Valves: ASCO Valves - First Offer	20.00%	1 / each	2

	ves, repail	Trusts	I	I.
-04-06				
		Supplier Product Code: Supplier Notes: ASCO Solenoid Valves. Add percent to List Price.		
OCWUT 36-24- -04-07	Group 4: Mechanical Joint Valves: ASCO: 1-way, normally closed - First Offer	20.00%	1 / each	20.00%
Product		Supplier Product Code:		
Agency	Notes:	Supplier Notes: ASCO Sole	noid Valves. A	dd percent to List Price.
OCWUT 36-24- -04-08	Group 4: Mechanical Joint Valves: ASCO: 1-way, normally open - First Offer	20.00%	1 / each	20.00%
Product Agency		Supplier Product Code: Supplier Notes: ASCO Sole	noid Valves. A	dd percent to List Price.
OCWUT 36-24- -04-09	Group 4: Mechanical Joint Valves: ASCO: 3-way, 2 position - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: ASCO Solenoid Valves. Add percent to List Price.		
OCWUT 36-24- -04-10	Group 4: Mechanical Joint Valves: ASCO: 4-way, 2 position - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: ASCO Sole	noid Valves. A	dd percent to List Price.
OCWUT 36-24- -04-11	Group 4: Mechanical Joint Valves: Auma valves and operators			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-12	Group 4: Mechanical Joint Valves: Bailey Valve Positioners			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-13	Group 4: Mechanical Joint Valves: Bermed Valve, Parts, and Controls			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-14	Group 4: Mechanical Joint Valves: Chapman Valve Operators and Valves			No Bids
Λαοραν	Notes:	Supplier Product Code: Supplier Notes:		
Agency				
OCWUT 36-24- -04-15	Group 4: Mechanical Joint Valves: Check Valves 4 inch to 24 inch flanged - First Offer	20.00%	1 / each	20.00%

anto, valv	res, Repail	Trusis		
Agency I	Notes:	Supplier Notes: Attached are Golden Anderson Check Valves. See Attached Price Lists. Add percent to List Price.		
OCWUT 36-24- -04-16	Group 4: Mechanical Joint Valves: Cla-val Altitude Valves		No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-17	Group 4: Mechanical Joint Valves: Cla-val Globe Valves		No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-18	Group 4: Mechanical Joint Valves: Cla-val Pump Control Valves - Booster Type	•	No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-19	Group 4: Mechanical Joint Valves: Cla-val Pilot Valves, 4 inch to 12 inch		No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-20	Group 4: Mechanical Joint Valves: Cla-Val Replacement Parts/Kits		No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-21	Group 4: Mechanical Joint Valves: Cla-val Valves, Parts, and Controls		No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-22	Group 4: Mechanical Joint Valves: Cla-val Needle Valve Assemblies		No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-23	Group 4: Mechanical Joint Valves: Cla-val flow clean strainer, straight & angled, x47 model		No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-24	Group 4: Mechanical Joint Valves: Cla-val model x105L, x105L2, limit switch assemblies		No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24-	Group 4: Mechanical Joint Valves: Cla-val 3/8 inch to 24 inch pressure relief/control valves		No Bids	

ants, Vaiv	es, Repair	Trusts		
-04-25				
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-26	Group 4: Mechanical Joint Valves: Cla-val solenoid control valves			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-27	Group 4: Mechanical Joint Valves: Clayton valve operators, positioners, and valves			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-28	Group 4: Mechanical Joint Valves: Clow Valves			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-29	Group 4: Mechanical Joint Valves: Clow Valves, 6 inch to 12 inch, flanged			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-30	Group 4: Mechanical Joint Valves: Crispen Valves - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: See Attach	ned Price List. <i>F</i>	Add percent to list price.
OCWUT 36-24- -04-31	Group 4: Mechanical Joint Valves: Darling gate valves 4 inch to 24 inch, flanged			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-32	Group 4: Mechanical Joint Valves: Darling valve operators and valves			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-33	Group 4: Mechanical Joint Valves: DeZurik Valves			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-34	Group 4: Mechanical Joint Valves: EIM Valve Operators			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-35	Group 4: Mechanical Joint Valves: Golden Anderson Valves - First Offer	20.00%	1 / each	20.00%
Product Agency I		Supplier Product Code: Supplier Notes: See Attach	ned Price Lists.	Add percent to List Price.

OCWUT Group 4: Mechanical Joint Valves: Hydro Gate Valves Supplier Product Code: Supplier Notes: OCWUT Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch to 36-24 - 04-37 Agency Notes: OCWUT Group 4: Mechanical Joint Valves: Keystone valve operators and valves and valves operators and valves operators oper	No Bids No Bids 20.00%
36-2404-36 Agency Notes: Supplier Product Code: Supplier Notes: OCWUT	No Bids
36-2404-36 Agency Notes: Supplier Product Code: Supplier Notes: CCWUT 36-2404-37 Agency Notes: Supplier Product Code: Supplier Notes:	No Bids
Supplier Notes: CCWUT Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch to 36-24 - 04-37 Agency Notes: Supplier Product Code: Supplier Notes: CCWUT Group 4: Mechanical Joint Valves: Keystone valve operators and valves OCWUT Group 4: Mechanical Joint Valves: Kinetrol Pneumatic Valve Supplier Notes: CCWUT Group 4: Mechanical Joint Valves: Kinetrol Pneumatic Valve Operators - First Offer Operators - First Offer OCWUT Group 4: Mechanical Joint Valves: Kinetrol Pneumatic Valve Supplier Notes: CCWUT Group 4: Mechanical Joint Valves: Kinetrol Pneumatic Valve Operators - First Offer OCWUT Group 4: Mechanical Joint Valves: Kunkle Valves Supplier Product Code: Supplier Notes: Add percent to List Price. CCWUT Group 4: Mechanical Joint Valves: Kunkle Valves Supplier Product Code: Supplier Notes: Supplier Notes: CCWUT Group 4: Mechanical Joint Valves: Kytronics Valves OCWUT Group 4: Mechanical Joint Valves: Kytronics Valves OCWUT Group 4: Mechanical Joint Valves: Kytronics Valves Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Product Co	No Bids
36-2404-37 Agency Notes: Supplier Product Code: Supplier Notes: COWUT 36-2404-38 Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: COWUT 36-2404-39 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Add percent to List Price. OCWUT 36-2404-40 Agency Notes: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Product Code: Supplier Notes:	No Bids
Supplier Notes: OCWUT 36-24-04-38 Agency Notes: COWUT 36-24-04-39 Product Code: Agency Notes: OCWUT 36-24-04-40 Operators - First Offer Supplier Product Code: Supplier Notes: Add percent to List Price. OCWUT 36-24-04-40 OCWUT 36-24-04-40 Agency Notes: Supplier Product Code: Supplier Notes: Supplier Notes: Add percent to List Price. Supplier Product Code: Supplier Notes: Supplier Notes	
OCWUT 36-24-04-38 Agency Notes: Supplier Product Code: Supplier Notes: OCWUT 36-24-04-39 OCWUT 36-24-04-39 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: OCWUT 36-24-04-39 Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Add percent to List Price. OCWUT 36-24-04-40 Agency Notes: Supplier Product Code: Supplier Notes: Add percent to List Price. Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier N	
Supplier Notes: OCWUT 36-24-04-39 Product Code: Agency Notes: OCWUT 36-24-04-40 Agency Notes: Supplier Product Code: Supplier Notes: Supp	20.00%
OCWUT Group 4: Mechanical Joint Valves: Kinetrol Pneumatic Valve 36-2404-39 Product Code: Agency Notes: Group 4: Mechanical Joint Valves: Kunkle Valves Supplier Product Code: Supplier Notes: Add percent to List Price. OCWUT Group 4: Mechanical Joint Valves: Kunkle Valves Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: OCWUT Group 4: Mechanical Joint Valves: Kytronics Valves 36-2404-41 Agency Notes: Supplier Product Code:	20.00%
Agency Notes: OCWUT 36-2404-40 Agency Notes: Group 4: Mechanical Joint Valves: Kunkle Valves Supplier Product Code: Supplier Notes: OCWUT 36-2404-41 Group 4: Mechanical Joint Valves: Kytronics Valves Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes:	
36-2404-40 Agency Notes: COCWUT 36-2404-41 Group 4: Mechanical Joint Valves: Kytronics Valves Positioners Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Product Code:	
Supplier Notes: OCWUT 36-2404-41 Agency Notes: Supplier Notes: Supplier Product Code:	No Bids
OCWUT 36-2404-41 Agency Notes: Group 4: Mechanical Joint Valves: Kytronics Valves Supplier Product Code:	
	No Bids
OCWUT Group 4: Mechanical Joint Valves: Limitorque Valve 36-24- Positioners -04-42	No Bids
Agency Notes: Supplier Product Code: Supplier Notes:	
OCWUT Group 4: Mechanical Joint Valves: Ludlow Valves 36-2404-43	No Bids
Agency Notes: Supplier Product Code: Supplier Notes:	
OCWUT Group 4: Mechanical Joint Valves: Mercoid: Pressure 36-2404-44 Adjustment Switches	No Bids
Agency Notes: Supplier Product Code: Supplier Notes:	
OCWUT Group 4: Mechanical Joint Valves: Miller Valve Operators 36-24-04-45	No Bids
Agency Notes: Supplier Product Code:	

unto, vaiv	es, Repail	Trusts		
		Supplier Notes:	ı	
OCWUT 36-24- -04-46	Group 4: Mechanical Joint Valves: Mueller Valve Operators			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-47	Group 4: Mechanical Joint Valves: Parker Hannifir Valve Operators			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-48	Group 4: Mechanical Joint Valves: Pratt Butterfly Valves 4 inch to 24 inch, flanged			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-49	Group 4: Mechanical Joint Valves: Pratt Butterfly Valves 4 inch to 24 inch, non-flanged			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-50	Group 4: Mechanical Joint Valves: Pratt Valve Operators and Valves			No Bids
Agency I	ncy Notes: Supplier Product Code: Supplier Notes:			
OCWUT 36-24- -04-51	Group 4: Mechanical Joint Valves: Rensselaer check valves 6 inch to 20 inch, flanged			No Bids
Agency I	Agency Notes: Suppl			
OCWUT 36-24- -04-52	Group 4: Mechanical Joint Valves: Rodney Hunt Valves - First Offer		1 / each	20.00%
Product Agency I		Rodney Hunt in the Sate of	Oklahoma. Du uotes must be	anufacturers representative for ue to market prices of materials e made by the factory at the time
OCWUT 36-24- -04-53	Group 4: Mechanical Joint Valves: Ross Valves			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-54	Group 4: Mechanical Joint Valves: Rototork: Valve Actuators - First Offer	20.00%	1 / each	20.00%
Product Agency I		Rotork in the Sate of Oklah	oma. I have pr	nufacturers representative for covided letters in years past Each price must be quoted by

the manufacturer at the time of request due to the fact that each actuator is substantially different depending on valve size, power requirements, mounting requirements, etc. Add percent to List Price. **OCWUT** Group 4: Mechanical Joint Valves: Sluce Gate Valves - First 20.00% 1 / each 20.00% 36-24--04-55 **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** We are the exclusive manufacturers representative for both Rodney Hunt and Fontaine. Both are sluice gate manufacturers for which the City of Oklahoma City possesses. As stated before, these quotes will have to be made at the time of request due to the variability of material costs. Add percent to List Price. **OCWUT** Group 4: Mechanical Joint Valves: Val-matic Valves No Bids 36-24--04-56 **Supplier Product Code: Agency Notes: Supplier Notes: OCWUT** No Bids Group 4: Mechanical Joint Valves: Verse Valve Operators 36-24--04-57 **Agency Notes: Supplier Product Code: Supplier Notes: OCWUT** Group 4: Mechanical Joint Valves: Xomox Valves No Bids 36-24--04-58 **Agency Notes: Supplier Product Code: Supplier Notes: Lot Total: \$0.00** Line Item **Unit Price** Qty/Unit **Total Price** Item# **OCWUT** No Bids Group 5: Hydrant and Valve Repair Parts: American Darling 36-24-Model B-62 Repair Parts, Tools, and/or Accessories -05-01 **Agency Notes: Supplier Product Code: Supplier Notes: OCWUT** Group 5: Hydrant and Valve Repair Parts: American Darling No Bids 36-24-Model B-84 Repair Parts, Tools, and/or Accessories -05-02 **Agency Notes: Supplier Product Code: Supplier Notes: OCWUT** Group 5: Hydrant and Valve Repair Parts: American Darling No Bids 36-24-Gate and Tapping Valve Repair Parts -05-03 **Agency Notes: Supplier Product Code: Supplier Notes:**

OCWUT	Group 5: Hydrant and Valve Repair Parts: Kennedy Gate		No Bid:
Agency	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -05-14	Group 5: Hydrant and Valve Repair Parts: Clow Medallion Repair Parts, Tools, & Accessories		No Bid
Agency		Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -05-13	Group 5: Hydrant and Valve Repair Parts: Clow Gate and Tapping Valve Repair Parts, Tools, & Accessories		No Bid
Agency I		Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -05-12	Group 5: Hydrant and Valve Repair Parts: Clow F2500 Repair Parts, Tools, and Accessories		No Bid
Agency	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -05-11	Group 5: Hydrant and Valve Repair Parts: M&H Gate and Tapping Valve Repair Parts		No Bid
Agency	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -05-10	Group 5: Hydrant and Valve Repair Parts: M&H 129 Reliant Repair Parts, Tools, & Accessories		No Bid
Agency	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -05-09	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Sentinel Repair Parts, Tools, & Accessories		No Bid
Agency	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -05-08	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Metro Small Barrel Pre-1994 Repair Parts, Tools, & Accessories		No Bid
Agency	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -05-07	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Metro Large Barrel Pre-1994 Repair Parts, Tools, & Accessories		No Bid
Agency	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -05-06	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Gate and Tapping Valves Repair Parts, Tools, & Accessories		No Bid
Agency	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -05-05	Group 5: Hydrant and Valve Repair Parts: Mueller Valve Operators, Gate, and Tapping Valves		No Bid
Agency	Notes:	Supplier Product Code: Supplier Notes:	
36-24- 05-04	Centurion Repair Parts, Tools, and Accessories		No blu
OCWUT	, , ,	Trusts	No Bid

	es, Repair its			
36-24- -05-15	and Tapping Valve Repair Parts, Tools, & Accessories			
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -05-16	Group 5: Hydrant and Valve Repair Parts: Kennedy K-81 Guardian Repair Parts, Tools, & Accessories			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -05-17	Group 5: Hydrant and Valve Repair Parts: Pratt Butterfly Valves Repair Parts, Tools, & Accessories			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -05-18	Group 5: Hydrant and Valve Repair Parts: Vertical shoe for hydrants			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -05-19	Group 5: Hydrant and Valve Repair Parts: EJ (East Jordan) Watermaster 5CD250 Repair, parts, Tools, and/or Accessories			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -05-20	Group 5: Hydrant and Valve Repair Parts: EJ (East Jordan) Flowmaster RW Repair, Parts, Tools, & Accessories			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 36-24- -06-01	Group 6: Shop Labor: Shop Labor - First Offer	\$200.00	1 / hour	\$200.00
Product Agency I		Supplier Product Code: Supplier Notes: We provid		
		Sapple: Notes in a provide	e service for all	items bid within.
OCWUT 36-24- -06-02	Group 6: Shop Labor: Shop Labor - First Offer		e service for all	items bid within.
36-24-	Code:		1 / hour	\$200.00
36-24- -06-02 Product	Code:	\$200.00 Supplier Product Code:	1 / hour	\$200.00
36-24- -06-02 Product	Code:	\$200.00 Supplier Product Code:	1 / hour	\$200.00 items bid within.

36-24- -07-01	Regulations - First Off	er	
Product Agency N		Supplier Product Code: Supplier Notes: Yes	
			Lot Total: \$0.00

UTILITY TECHNOLOGY SERVICES

\$0.00 (16/105 items)

UTILITY TECHNOLOGY SERVICES		\$0.00 (16/105 items)			
Bid Con		Address 9636 W RENO AVE. OKLAHOMA CITY, OK 73127			
	Price per each	I			
Agency I	Notes:	Supplier Notes: Price per each			
Item#	Line Item	Unit Price	Qty/Unit	Total Price	
OCWUT 36-24- -01-01	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 3 foot - First Offer		1 / each	2060.00%	
Product Agency I		Supplier Product Code: Supplier Notes: Price per each			
OCWUT 36-24- -01-02	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 4 foot - First Offer		1 / each	2160.00%	
Product Agency I		Supplier Product Code: Supplier Notes: Price per each			

•	oo, repair			
OCWUT 36-24- -01-03	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 4.5 foot - First Offer		1 / each	2210.00%
Product Agency N		Supplier Product Code: Supplier Notes: Price per each		
OCWUT 36-24- -01-04	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 5 foot - First Offer		1 / each	2260.00%
Product Agency N		Supplier Product Code: Supplier Notes: Price per each		
OCWUT 36-24- -01-05	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 6 foot - First Offer		1 / each	2360.00%
Product Agency N		Supplier Product Code: Supplier Notes: Price per each		

				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 36-24- -02-01	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 16 inch			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -02-02	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 18 inch	зарристичесь.		No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	I	
OCWUT 36-24- -02-03	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 20 inch			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	I	
OCWUT 36-24- -02-04	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 24 inch			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -02-05	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 30 inch			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	1	
OCWUT 36-24- -02-06	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 36 inch			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -02-07	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 48 inch			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -02-08	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 6 inch - 56 inch			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 36-24- -03-01	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 2 inch - First Offer		1 / each	460.00%

Product C Agency N		Supplier Product Code: 2 Supplier Notes: Price per each		
OCWUT 36-24- -03-02	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 3 inch - First Offer	620.00%	1 / each	620.00%
Product C Agency N		Supplier Product Code: 3 Supplier Notes: Price per each		
OCWUT 36-24- -03-03	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 4 inch - First Offer		1 / each	815.00%
Product C Agency N		Supplier Product Code: 4 Supplier Notes: Price per each		
OCWUT 36-24- -03-04	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 6 inch - First Offer	862.00%	1 / each	862.00%
Product C Agency N		Supplier Product Code: 6 Supplier Notes: Price per each		
OCWUT 36-24- -03-05	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 8 inch - First Offer		1 / each	1155.00%
Product C Agency N		Supplier Product Code: 8 Supplier Notes: Price per each2" mj acc		
OCWUT 36-24- -03-06	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 10 inch - First Offer		1 / each	2121.00%

Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -03-07	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 12 inch - First Offer		1 / each	2660.00%
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -03-08	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 14 inch - First Offer		1 / each	8019.00%
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -03-09	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 16 inch - First Offer		1 / each	8671.00%
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -03-10	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 18 inch			No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -03-11	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 20 inch - 56 inch - First Offer		1 / each	20470.00%
Product Agency N		Supplier Product Code: Supplier Notes:		
		I		Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 36-24- -04-01	Group 4: Mechanical Joint Valves: ABZ Mastergear Valve Operators and Valves			No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-02	Group 4: Mechanical Joint Valves: Allis Chalmers Valve Operators and Valves			No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-03	Group 4: Mechanical Joint Valves: American Valves			No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-04	Group 4: Mechanical Joint Valves: APCO Valves			No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:		
				No Bids
OCWUT 36-24- -04-05	Group 4: Mechanical Joint Valves: ARI - Air Relief Valves			INO DIUS
36-24-		Supplier Product Code: Supplier Notes:		INO BIUS

	res, repair	Trusis	
-04-06			
Agency	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -04-07	Group 4: Mechanical Joint Valves: ASCO: 1-way, normally closed		No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -04-08	Group 4: Mechanical Joint Valves: ASCO: 1-way, normally open		No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -04-09	Group 4: Mechanical Joint Valves: ASCO: 3-way, 2 position		No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -04-10	Group 4: Mechanical Joint Valves: ASCO: 4-way, 2 position		No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -04-11	Group 4: Mechanical Joint Valves: Auma valves and operators		No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -04-12	Group 4: Mechanical Joint Valves: Bailey Valve Positioners		No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -04-13	Group 4: Mechanical Joint Valves: Bermed Valve, Parts, and Controls		No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -04-14	Group 4: Mechanical Joint Valves: Chapman Valve Operators and Valves		No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -04-15	Group 4: Mechanical Joint Valves: Check Valves 4 inch to 24 inch flanged		No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -04-16	Group 4: Mechanical Joint Valves: Cla-val Altitude Valves		No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -04-17	Group 4: Mechanical Joint Valves: Cla-val Globe Valves		No Bids

rants, Valves, Repair it		Trusts
Agency N	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 36-24- -04-18	Group 4: Mechanical Joint Valves: Cla-val Pump Control Valves - Booster Type	No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 36-24- -04-19	Group 4: Mechanical Joint Valves: Cla-val Pilot Valves, 4 inch to 12 inch	No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 36-24- -04-20	Group 4: Mechanical Joint Valves: Cla-Val Replacement Parts/Kits	No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 36-24- -04-21	Group 4: Mechanical Joint Valves: Cla-val Valves, Parts, and Controls	No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 36-24- -04-22	Group 4: Mechanical Joint Valves: Cla-val Needle Valve Assemblies	No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 36-24- -04-23	Group 4: Mechanical Joint Valves: Cla-val flow clean strainer, straight & angled, x47 model	No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 36-24- -04-24	Group 4: Mechanical Joint Valves: Cla-val model x105L, x105L2, limit switch assemblies	No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 36-24- -04-25	Group 4: Mechanical Joint Valves: Cla-val 3/8 inch to 24 inch pressure relief/control valves	No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 36-24- -04-26	Group 4: Mechanical Joint Valves: Cla-val solenoid control valves	No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 36-24- -04-27	Group 4: Mechanical Joint Valves: Clayton valve operators, positioners, and valves	No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 36-24- -04-28	Group 4: Mechanical Joint Valves: Clow Valves	No Bids
Agency N	Notes:	Supplier Product Code:

unto, varv	, I	Supplier Notes:	
OCWUT 36-24- -04-29	Group 4: Mechanical Joint Valves: Clow Valves, 6 inch to 12 inch, flanged		No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -04-30	Group 4: Mechanical Joint Valves: Crispen Valves		No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -04-31	Group 4: Mechanical Joint Valves: Darling gate valves 4 inch to 24 inch, flanged		No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -04-32	Group 4: Mechanical Joint Valves: Darling valve operators and valves		No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -04-33	Group 4: Mechanical Joint Valves: DeZurik Valves		No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -04-34	Group 4: Mechanical Joint Valves: EIM Valve Operators		No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -04-35	Group 4: Mechanical Joint Valves: Golden Anderson Valves		No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -04-36	Group 4: Mechanical Joint Valves: Hydro Gate Valves		No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -04-37	Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch to 24 inch		No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -04-38	Group 4: Mechanical Joint Valves: Keystone valve operators and valves		No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 36-24- -04-39	Group 4: Mechanical Joint Valves: Kinetrol Pneumatic Valve Operators		No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	

ants, Valv	ves, Repair its	Trusts		
OCWUT 36-24- -04-40	Group 4: Mechanical Joint Valves: Kunkle Valves		No Bids	
		Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-41	Group 4: Mechanical Joint Valves: Kytronics Valves Positioners		No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-42	Group 4: Mechanical Joint Valves: Limitorque Valve Positioners		No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-43	Group 4: Mechanical Joint Valves: Ludlow Valves		No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-44	Group 4: Mechanical Joint Valves: Mercoid: Pressure Adjustment Switches		No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-45	Group 4: Mechanical Joint Valves: Miller Valve Operators		No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-46	Group 4: Mechanical Joint Valves: Mueller Valve Operators		No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-47	Group 4: Mechanical Joint Valves: Parker Hannifir Valve Operators		No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-48	Group 4: Mechanical Joint Valves: Pratt Butterfly Valves 4 inch to 24 inch, flanged		No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-49	Group 4: Mechanical Joint Valves: Pratt Butterfly Valves 4 inch to 24 inch, non-flanged		No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-50	Group 4: Mechanical Joint Valves: Pratt Valve Operators and Valves		No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT	Group 4: Mechanical Joint Valves: Rensselaer check valves 6		No Bids	

ants, vaiv	es, Repair	rusts		
36-24- -04-51	inch to 20 inch, flanged			
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-52	Group 4: Mechanical Joint Valves: Rodney Hunt Valves			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-53	Group 4: Mechanical Joint Valves: Ross Valves			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-54	Group 4: Mechanical Joint Valves: Rototork: Valve Actuators			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-55	Group 4: Mechanical Joint Valves: Sluce Gate Valves			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-56	Group 4: Mechanical Joint Valves: Val-matic Valves			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-57	Group 4: Mechanical Joint Valves: Verse Valve Operators			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -04-58	Group 4: Mechanical Joint Valves: Xomox Valves			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 36-24- -05-01	Group 5: Hydrant and Valve Repair Parts: American Darling Model B-62 Repair Parts, Tools, and/or Accessories			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -05-02	Group 5: Hydrant and Valve Repair Parts: American Darling Model B-84 Repair Parts, Tools, and/or Accessories			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -05-03	Group 5: Hydrant and Valve Repair Parts: American Darling Gate and Tapping Valve Repair Parts			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		

ants, Valv	es, Repair its	Trusts		
OCWUT 36-24- -05-04	Group 5: Hydrant and Valve Repair Parts: Mueller A-423 Centurion Repair Parts, Tools, and Accessories		No Bids	
Agency l	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -05-05	Group 5: Hydrant and Valve Repair Parts: Mueller Valve Operators, Gate, and Tapping Valves		No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -05-06	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Gate and Tapping Valves Repair Parts, Tools, & Accessories		No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -05-07	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Metro Large Barrel Pre-1994 Repair Parts, Tools, & Accessories		No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -05-08	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Metro Small Barrel Pre-1994 Repair Parts, Tools, & Accessories		No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -05-09	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Sentinel Repair Parts, Tools, & Accessories		No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -05-10	Group 5: Hydrant and Valve Repair Parts: M&H 129 Reliant Repair Parts, Tools, & Accessories		No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -05-11	Group 5: Hydrant and Valve Repair Parts: M&H Gate and Tapping Valve Repair Parts		No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -05-12	Group 5: Hydrant and Valve Repair Parts: Clow F2500 Repair Parts, Tools, and Accessories		No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -05-13	Group 5: Hydrant and Valve Repair Parts: Clow Gate and Tapping Valve Repair Parts, Tools, & Accessories		No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -05-14	Group 5: Hydrant and Valve Repair Parts: Clow Medallion Repair Parts, Tools, & Accessories		No Bids	
Agency l	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT	Group 5: Hydrant and Valve Repair Parts: Kennedy Gate		No Bids	

36-24- -05-15	and Tapping Valve Repair Parts, Tools, & Accessories			
		Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -05-16	Group 5: Hydrant and Valve Repair Parts: Kennedy K-81 Guardian Repair Parts, Tools, & Accessories			No Bids
Agency l	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -05-17	Group 5: Hydrant and Valve Repair Parts: Pratt Butterfly Valves Repair Parts, Tools, & Accessories			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -05-18	Group 5: Hydrant and Valve Repair Parts: Vertical shoe for hydrants			No Bids
Agency l	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -05-19	Group 5: Hydrant and Valve Repair Parts: EJ (East Jordan) Watermaster 5CD250 Repair, parts, Tools, and/or Accessories			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	2 :	
OCWUT 36-24- -05-20	Group 5: Hydrant and Valve Repair Parts: EJ (East Jordan) Flowmaster RW Repair, Parts, Tools, & Accessories			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 36-24- -06-01	Group 6: Shop Labor: Shop Labor			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 36-24- -06-02	Group 6: Shop Labor: Shop Labor			No Bids
Agency I	cy Notes: Supplier Product Code: Supplier Notes:			
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 36-24- -07-01	Group 7: Federal Acquisition Regulations: Federal Acquisition Regulations - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
	Tresha Williams Chad	Harrison		Tim Alvarez

<u>Tresha Williams</u> <u>Chad Harrison</u> <u>Tim Alvarez</u>

City Clerk Purchasing Agent Auditor

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.